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33121180/506 wpjwl dupdwl swihdwl uwpp (tinundbinp) Q< hwin 4200 80 336.0
33141110/509 dhpuwluwtn a< huwn 48.7 30000 1461.0
33141110/510 Uhpwlwwbip < hwwn 97 1000 97.0
33141111/501 Lyuysnit uwbnwuputp QL hwun 103 6000 618.0
33141115/501 paoluiljwl puwdpwl SL hwn 172 5000 860.0
33141129/506 nhdwly < huwin 5.976 50000 298.8
33141129/507 nhdwly YL hwn 85 1000 85.0
33141131/503 Upynit Jupgutynt dwwwidt wipwliubpny (dgnun) a< hwwn 270 100 27.0
33141136/523 Lpwpbnbpubp 4L huin 39.2 1000 39.2
33141136/524 Ywpbwbpubp < huwin 38.8 6000 232.8
33141136/525 Ywpbwnbpubp < hwin 37.8 15000 567.0
33141136/526 Ywrbiinbpubp L huwiwn 40.9 15000 613.5
33141136/530 ljwpbnbputp 9< huin 8000 70 560.0
33141138/501 Luityniyw QL hwwn 105 1000 105.0
33141138/502 Lty GL huwin 293 200 58.6
33141142/509 ubipwplyhsubp QL hwn 12.5 30000 375.0
33141142/511 ubpwplhubip q< huiun B.75 20000 175.0
33141142/512 Ubpwplhsubip <L hwuwn 9.3 100000 930.0
33141142/513 ubpuplhstibip 9< hwin 14 60000 840.0
33141142/514 ubpuwplhstbp G hwin 15.5 100000 1550.0
33141142/515 Ubpwplipstibp q< hwiwn 20.75 60000 1245.0
33141142/516 ubipwplihsutip QL hwwn 22.7 30000 681.0
33141142/517 Ubpwplhstbp q< hwn 58.9 30000 1767.0
33141142/518 Ubpwiplyhsttip a9z huwin 68.9 500 345
33141144/510 pdolyuluwls wubinubp 9 huwtn 13.85 30000 415.5
33141144/511 paolulywl wubnubp 9L hwn 20 300 6.0
33141144/512 pdaljwlwl wubnlbp 9L hwn 6.5 10000 65.0
33141144/513 pdaljwluw wubnubp SL huin 4.7 40000 188.0
33141156/502 pdoluwljwt dbntngubp 9z huin 8.7498 400000 3499.9
33141158/502 yppwpnidwlwl abnungubip qc qnuq 75 20000 1500.0
33141160/502 unlnghi| 250,0 G huitn 189.84 500 94.9
33141178/508 nbntph Ubpwpldwl hwdwlwpgtn < huwin 38.9 50000 1945.0
33141178/509 ntntph thpwpldwi hwdwlwpgbp <L huwn 130 40000 5200.0
33141211/687 pdoluwljwl wy| gnpdhplbip — wwpuwguwbp L hwwn 95 15000 1425.0
33141410/501 winwpw wwihgh hwdwp unbph), 1004 9L hwn 39.984 500 20.0
33141410/502 tnwpw whwihgh hwdwp unbphy, 1004} qGL huwin 42 8000 336.0
33161220/504 gujwinby thuwjink a< huwin 3.2 4000 12.8
33191260/501 wpywb hinfuibpwpldwl aunwwnpyubp < huitn 13900 30 417.0
33191310/527 thnpdwlnpubp < hwiwn 16.8 120000 2016.0
33191310/528 thnpaWLnpUbD qc huin 16.8 50000 840.0
33191310/529 thnpdwlnputn QL hwun 25 10000 250.0
33191310/530 thnpdwunpubp < hwiwn 39 25000 875.0
33191310/531 thnpdwunpubip L hwtn 38 2000 76.0
33191650/504 pdolwlwl hugniuwn 9L hwin 135 15000 2025.0
33191650/505 pdoljwlpwt hwgnin G hwin ] 7000 42.0
33691423/501 [wpnpwuwnn wanwtgnietin (nbwgblunubp) pugiuyndunubtun 4L [nwhjwgd 2600 100 260.0
38411200/509 stipdwswitptip Q< hutn 600 50 30.0
38431720/513 Lwanghlubiph dwpwlwtbn QL hwin 1.59 80000 127.2
38431720/514 wpnghlubiph duwypuljuutp q¢ huwwn 0.63 350000 2205
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24311530/503 onpwdup whpopuhn 9L |ptnp 599 300 179.7
31651200/506 E4S dwwwybu pnine 9L huwn 639 600 383.4
33141110/511 Uphpuiljwiybp q< huwn 850 3000 2550.0
33141111/502 Yuysnit uybinwiupubp 3L huwin 140 15000 2100.0
33141111/503 Yuysnil uwybnuiihtibp < huwin 83 1000 83.0
33141118/506 wudbnnghlubip < hwwn 9.3 60000 558.0
33141118/507 wlistinnghyubp 9L hwwn 4.1 70000 287.0
33141143/501 ubwphbhlywinnp 9< hwn 3.33 30000 99.9
33141144/514 pdolwiljwl wubnutip < hwin 1130 1000 1130.0
33141144/515 pdalulyut wubnubip G huutn 6800 300 2040.0
33141144/516 pdoljuilyuwty wubnubp 9< huwwn 10000 200 2000.0
33141144/517 pdaluliut wubnubp G huwn 7500 25 187.5
33141144/518 pdoljwljwt wubinubip QL huwn 4750 800 3800.0
33141144/520 pdolwlwl wubnubp < huwitn 1500 1000 1500.0
33141144/525 pdaljwlwt wubntbip GL hwin 1500 300 450.0
33141144/526 pdolulwli wubinubin L hwn 1500 300 450.0
33141144/527 pdolwlwt wubinubp q< hwn 250 1000 250.0
33141144/528 pdoljuslut wubinubp qc hwn 400 50 20.0
33141211/710 ndalywlywl wy) gnpdhplbip — wwpwawibp G< huwn 1960 15000 29400.0
33421171 pdolwlwl w) gnpdhpubp — wwpwguitibin QL hwn 1345 1000 1345.0
33141211/712 poalwlwl w) gnpdhpubp — wwpwguibin QL hwn 6280 96 602.9
33141211/713 pdoluiwit wy gnpdhplbip — wwpwqwubp < huwin 1680 200 336.0
3314211/714 pdolwlwl wy gnpdhpubp — wwpwgwubp < hwwn 200000 72 14400.0
334 21/715 pdalwlwl wy gnpdhpubp — wwpwgwubp 9< hwwn 100000 300 30000.0
33141211/716 pdalwlwl wy gnpdhpubp — wwpwgwtp 4L huwwn 6800 500 3400.0
33141211/717 pdawlwl wy| ghpdhplbp — wwpwgwbp qL huwin 8800 500 4400.0
33141211/719 paalulywit wy) gnpdhpubp — wwpwgqwbp QL hwn 425 3000 1275.0
33141211721 poolwljwl wy gnpdhpubp — wwpwgqwubp QL hwwn 179.41 5000 897.1
33141211/722 pdalwljwt wy gnpdhplbp — wwpugquitibp < hwin 67 15000 1005.0
33141211/729 pdzlwlwt wy gnpdhplbp — wwpwguitibp QL hwn 3300 100 330.0
33141211/730 pdaljwlpwt wy gnpdhpubip — wwpwguwbp Q<L hwwn 102000 1 102.0
33141211/731 pdolwlwl wy qnpdhplbp — wwpwgubp a< huwin 160000 3 480.0
331412111732 pdolwlwl wy gnpdhpubp — wwpwgwtip QL hwin 99.48 4000 397.9
33141211/733 pdalwlw wy) gnpéhpubip — wwpwquiubip QL hwin 696 100 69.6
33141211/734 pdolwlwl wy gnpdhpubp — wwpwguutip 9L hwin 104 1000 104.0
33191310/532 thnpdwungpltp S< huwin 11.5 40000 460.0
33191310/533 thnpdwunpubip &< huun 14 18000 252.0

Utinhwuppht MediScreen 10/Utigh dbg qyniyngh, wppuwl,

uyhnwymgh, pH, Yawnnuubph, wbuwlwpwn Yonh, Uhinphuntbiph,
33211M0/502 il b, Husrgrphbbalih = HhRRAYN nAtsGiOE B < hwin 2472 40 98.9

unphuiubinh huywpuwdng
33631241/504 pinphbipupnhtip (nénye L hwp 1350 800 1080.0
33631241/505 pinphpuhnhtp (nényp QL (hup 1150 400 460.0
33631250/504 Epwiin d08ax08, v03abl6, v03az0l G ihinp 1100 700 770.0
33631250/505 Epwiin| d08ax08, v03ab16, v03az0 q< thtnp 970 1000 970.0
33691167/501 |wpnpwwnnp odwlinwl — ghunwlwl Wnyebp G huiwn 15000 120 1800.0
33691167/502 |wpnpwnnp odwlnwl — ghunwljwl Wnyekp < hwin 12000 180 2160.0
33791300/522 [wpnpwnnp wwwljw wpnwnputp <L hun 14200 500 7100.0
38431491/501 wwwll whnpph pwu q< hwin 337 10000 337.0
39821100/501 twppnin Wyngabip wdnuhwyh hhdph pw K hwun 100 30 3.0
44423600/503 Yuysnit dwwwybltbp G hwin 3.28 20000 65.6
18311190/503 uwwip QL hwin 447 100 44,7
33141114/501 pdolwlwl pwlighd (bwpyw) pujuniyeniup' 90ud QL utiunp 68 2000 136.0
33141121/503 Yhpwpnidwlw phibp Q< hwtn 315 30 9.5
33141121/504 Uhpwpnidwlw phibp QL hun 315 30 9.5
33141121/505 Uhpwpnidwlwl phibp G< huwin 315 100 31.5
33141121/506 Uppwpnidwlwl phibp G< huutn 315 100 31.5
33141121/507 Yhpwpnidwlw phibp S huwin 140 30 4.2
3314111/508 Yhpwpnidwlwl phjbp AL huwiwn 140 30 4.2
33141121/509 Yhpwpmdwlwl phybp 9L huiwn 140 300 42.0
33141121/510 hpwipnidwlut plijtp qc huwn 140 300 42.0
33141121/511 Yhpwpnidwlwl phyjbp q< huwtn 140 50 7.0
33141121/512 Yhpwpnidwlwl phjbp QL hwn 20 0.0
33141121/513 Yhpwprdwlwh phbp QL hwn 20 0.0
33141121/514 Yhpwpnidwlwl phitp L hwtn 30 0.0
33141136/534 Ywpbnbpubp QL huwtn 50 0.0
33141157/502 Lguinwplbip — uwyplip 4L hun 23 200 4.6
33141157/503 Uginwiplibp — uwypbp QL hwin 23 200 4.6
33141173/501 ubigh wnwpwlubp < huwwn 102 700 71.4
33141173/502 ubigh wnwpwlubp a< hwin 32 500 16.0
33141182/503 hpwihnntip (npbtwdutn) a< huin 20 0.0
33141182/504 Uppwthnnbp (npbuwdubn) Q< huwin 15 0.0
33141182/505 Uppwihnnbp (nphtwdubp) 9L huwn 15 0.0
33141182/506 Uppuwihnntp (npkuwdutin) q< huwn 18000 20 360.0
33141184/501 Yhpuhnnbiph (npeuwdubph) wwpwgwubp QL huwiwn 4000 50 200.0
33141202/504 Pdsljuiljwl balnpnnutp 9 huwwn 2 0.0
33141211735 pdolwljul wy) gnpshpubp — wwpwgwubip L hwin 550 30 16.5
33141211/736 pdolywliwt wy gnpdhplbip — wwpwguiubp QL hwn 550 30 16.5
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33141211/737 pdolwlwl wy gnpdhpubip — wwpwgwbp QL hwwn 5000 10 50.0
33141211/738 pdolwilwl wy| gnpdhpubip — wwpwgwbp QL hwin 10500 5 52.5
33141211/739 pdalwlwt wy gnpdhplibp — wwpwgutibp QL hwn 11000 2 22.0
33141211/740 pdplwiljul wy) gnpdhplbip — wwpwquibp GL huwtn 45000 1 45.0
331412117741 pdaiwlul wy| gnpdhpubin — wwpwquwbp GL hwwn 1790 20 35.8
33141211/742 pdalwlwi wy gnpdhpubip ~ wwpwgwlbp L huin 1795 30 53.9
33141211/743 pdoljwljwils wy gnpdhplbp - Wwpwgwbp Q< hww 5 0.0
33141211/744 pdolwljwt wij gnpdhplbip — wwpwgwlbp 9< hwwn 1300 5 6.5
33141211/745 pdolwlwl w)) gnpdhpubp — wwpwgwubp < hwin 800 150 120.0
33141211/746 pdalwljuwi wy| gnpdhptibp — wwpwqubp gL hwin 64920 24 1558.1
33141211/747 pdalwljwt wy| gnpdhplibp — wwpwgutibp QL hwin 54960 24 1319.0
33141211/785 pdalwljwt wy gnpdhplbp — wwpwguwbn G huin 49920 24 1198.1
33141211/786 pdalwliwl w) gnpshpubip — wwpwguiubn L huitn 45000 24 1080.0
 [33141211/787 pdawiljwiy wy gnpdhpubip — wwpwguiubp G< huwin 3 0.0
33141211/788 pdalwluwii wy) gnpdhpubp — Wwpwgwubp aL huin 200 0.0
33141211/789 pdoywlywili wy gnpdhplibip — wwpwgwubp 9L hwin 100 0.0
33141211/790 pdalwlut wy| gnpdhplbip — wwpwqutibp < hwwn 6960 100 696.0
33141212/512 pdaluiluit wy| Uynyatin QL hwin 30 0.0
33141221/501 dhpuwthnntip (npEuwdutinh) pwadwyndwnubun wwpwgwbn Q< [wiljug 1992.43 40 79.7
33141223/545 petaljwljwt wy gnpdhplbin — wwpwgwibp puqiuyndynubin qg nljugd 3500 100 350.0
33171400/521 Ybpwhbunwtwguwl nhdwl < hwwn | 0.0
33171400/522 Ybpwlbunwliwgdwl nhdwy 9L hwin 1 0.0
33171400/523 Ybpwlbunwuwgdwt nhdwl Q< hwn 1 0.0
33171500/503 tughnnipw whigquijwguwy hwdwpwdniubp Yud ghwpbplbn < huwin 2706 10 271
33791300/523 |wpnpwnnp wiywljjw wpunwnputip < huwin 6 15000 90.0
33791300/524 [wpnpuwnnp wwwljw wpinwnpuitp < hwin 1.26 100000 126.0
39299110/501 wyywly upduliubp qc huwn 142 5000 710.0
33141136/536 Yuwpbinbpubp q< hwn 167 20 3.3
33141136/537 Yupkinbpubp < huwtn 167 20 3.3
33141136/538 Ywphnbpubp QL huwin 167 20 3.3
33141136/539 Lwpbnbptbp ac hwin 167 150 25.1
33141136/540 Yuwpbwnbipubp < huin 167 200 33.4
33141136/541 Ywpbwnbipubp < hwtn 167 180 30.1
33141136/542 lwptinbpubp < huwin 167 20 3.34
33141136/561 Jupbwbpubp 315 huwin 202 20 4.0
33141183/518 gnuntip 9L hwn 65 20 1.3
33141183/519 gnuntp G huwin 65 30 1.95
33141183/520 qnuinbp QL hiuw 65 30 1.95
33141183/522 qnunbp < hwin 65 30 1.95
33141183/524 qnunkp G< hun 65 30 1.95
33141183/525 qnlintip 9< huitn 65 40 26
33141183/526 qnlnbip G huwin 65 5 0.3
33141202/505 Pdalwluits Btupnnutip q< hwin 29.5 6000 177.0
33141207/522 Puwnnipwghuyh wwpwguiubp 9L hwin 10 0.0
33141207/523 Puwnnipwghuwih wwpguiubip G< huuwn 10 0.0
33141207/524 Punnipwghwih wwpwgwubp QL hwin 20 0.0
33141207/525 Punnipwghwih wwpwgwubp QL hww 1000 10 10.0
33141207/526 hunnipwghwh wWwpwgwbn < huwin 1000 20 20.0
33141207/527 Punnipwghwh wwpwgwbp 9< hwn 1000 20 20.0
33141207/528 Punnipughwih wwpwguwttp QL hwiwn 1000 20 20.0
33141207/529 huwnnipwghugh wwpwgwbp QL hin 1000 20 20.0
33141207/530 Pwnnipwghuh wwpuguibn 9c huwin 1000 50 50.0
33141207/531 Plnnipwghuwih wwpwguubp Q< hun 1000 100 100.0
33141207/532 hunnipwghwih wwpwgwutp 9L hwiwn 1000 10 10.0
33141211/791 pdolwlw wy| ghpdhpltip — wwpwguwbp < hwin 15000 30 450.0
33141211/792 pdoljwiliwi wy) gnpdhpubp — wwpwguwubn 9L hwn 18000 50 900.0
33141211/793 pdaywlwl wy| gnpdhpbip — wwpwgutibp < hwn 549 500 274.5
33141211/794 pdalwiliwl w)) gnpdhpubip — wwpwgwitin QL hwn 549 1000 549.0
33141211/795 pdalwlwl wy gnpdhpubip — wwpwguibp GL hwtn 549 500 274.5
33151220/501 RRYWaLWHY nhdwl L hun 260 500 130.0
33151220/504 PRYwolw il nhiwy < huin 350 100 35.0
33151220/505 prywatuht nhiwly qc huwtn 480 100 48.0
33171400/527 JbpwlEunwiwgdwl nhdwly a< huwiwn 7000 2 14.0
33171400/528 Ubpwlblnwhiugiut nhiwl a< huitn 7000 2 14.0
33171400/529 {bpwliunwiiugiwl nhdwl q< huwitn 7000 20 140.0
37411330/502 nhdwlitip, jwunbp Gud puswnwlwb funnngwijutp < hwwn 800 10 8.0
37411330/503 nhuwlubip, jwunbip ud guswnwlw funnnywybp GL huwin 800 10 8.0
37411330/504 nhuwltin, puunbip Gud guswnuwlwt funnnwlubp G< hun 800 10 8.0
15991700/501 $hpnph pnue L Yhpngpwd 6000 2 12.0
24311530/504 opwdup whpopuhn 4L |htnp 600 10 6.0
24311570/502 [ENpWd onip aL [hwp 799.9 500 400.0
31651200/502 EY4S dwwwybu pninp L hwwn 1490 15 22.4
33141136/501 Lwpbnbpubp 9L hww 70 100 7.0
33141136/511 jwpbnkputp qc huwin 70 100 7.0
33141136/512 jwphinbpubp a9 huin 158 250 39.5
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33141136/514 Lwpbnbputp 4 hwn 7999 100 799.9
33141136/515 Ywpbwnbpubp G< hwin 11800 100 1180.0
33141144/501 pdoluluwt wubinubp qc hwwn 11.9 2000 23.8
33141144/502 pdolwlywt wubinubp 9L hun 5200 100 520.0
33141202/502 Pdlwljwl fehinpnnubp qc huwn 33 2000 66.0
33141211/502 pdolwluwt wy| gnpdhpubip — wwpwguwbp Q< hwwn 540 400 216.0
P’m 41211/503 pdolwlwu wy gnpdhplbip — wwpwquiubp < huwtn 12000 10 120.0
33141211/504 pdolwlwl wy gnpdhpubip — wwpwawtp < hwwn 390 500 195.0
33141211/505 pdlwlwl wy gnpdhpubip — wwpuwguwbp < huwin 127 5000 635.0
33141 211/506 pdaljwlwl wy gnpdhpubip — wwpwgwbp QL hwin 48 5000 240.0
33N41211/507 pdaljwilut wy| gnpdhputip — wwpwgutp 4L hun 45 1000 45.0
33141211/508 pdowlwil wy gnpdhpubip - wwpwgwubp G< hun 45 3000 135.0
33141211/509 pdoiwlwl wyj gnpdhpubip — wwpwgwibn 9< hww 858 200 171.6
33141211/510 pdoljwlwil wy gnpdhpubp — wwpwgwubp L hww 858 200 171.6
33141211/511 poolwljut wy gnpdhplibp — wwipwguibp G hwtn 858 200 171.6
33141211/512 pdolwljw wy gnpdhplbp — wwpwguiibp G huwtn 60000 2 120.0
33141211/515 pdaluwiliwl w) gnpshputip — wwpwguitibin QL hwn 24.51428571 7000 171.6
33141211/516 poboluslwi wy gnpdhpubip — wwpwguubn QL hwun 12.98 7000 90.9
33141211/517 pdalylywty wy) gnpdhpubip — wwpwgubp L hutn 150 1000 150.0
33141211/518 pdalwlwt wy gnpdhplbp - wwpuiguiubip 9L huin 2300 2 4.6
33141211/520 pdolwlwl w) gnpdhpubp — wwpwguwubp 9L huwin 370 6000 2220.0
33141211/521 pdalwlwl wy gnpdhpubp — wwpwgwtibp QL huitn 124 15000 1860.0
33141211/522 pdolwlwl wy) gnpdhpubp — wwpwgwbp G< hwn 35000 30 1050.0
33141211/523 pdowlwl wy) gnpdhpubip — wwpwgwubp < hwn 1270 800 1016.0
33191310/504 thnpéwtinpubp q< huiwn 350 6000 2100.0
33181310/505 thnpéwlinpubp QL hwn 32 7000 224.0
33191310/506 thnpawtinputn q< hwin 66 2100 138.6
33191310/507 thnpawinpbp 9L hwin a8 500 49.0
33691176/584 w)| nbinnpuw)p < hwwn 70 100 7.0
33791300/504 |Wpnpuwnnp wuwlw wpnwnpuip QL hwn 98 16000 1568.0
33791300/505 |Wpnprwnp wuwljw wpnwnpulp QL huin 4 12000 48.0
33791300/512 (wpnpuwnnp wywljw wpnwnpup G< huun 1.8996 5000 9.498
§|35111320/501 dhgntljuht — nwnhninghwlwl wwainwwunyswl hwgnwn RS huin 177000 3 531.0
38431710/502 ywanghlutin GL hiun 14 8000 112.0
38431710/503 Yuwpanghlubip Q< hwiu 16899 6 101.4
38431710/505 Ywenghlubip QL hww 16899 6 101.4
38431720/501 Yuipnghliubiph dwypwlwubn qc huitn 13.625 42240 575.5
38431720/502 YwpnghYubiph duypwlwiubp Q< hwwn 12.375 42240 522.7
38431720/504 Ywpnghlubph dwpwlwubp 9< huwin 0.8 30000 24.0
38431720/507 Ywpenghliibiph duypwlw|ubp QL huun 0.45 25000 11.3
38431720/508 Lwjanghlubiph duwpwljwiubp ac huwin 84 19200 1612.8
33131220/501 winwdbwpnidwlw niubhubp QL hwin 1430 3 1.3
33141143/502 ubuphbhlwnnp 9< hun 80 1000 80.0
33141157/504 Upinuiplibn — uwpbip a< huitn 930 2 2.0
33141182/507 Jhpwihnnbip (npbuwdltn) a< huwin 8800 15 132.0
33141182/508 Jhpwihnnbip (npbiwdtbn) 9< hwin 8800 15 132.0
33141202/506 Reoljuljwl bikYwnpnnubp 9L hwin 5000 2 10.0
33141211/527 pdaljwliwi wy gnpshpubip — wwpwgutin QL hwn 6900 200 1380.0
33141211/528 pdalwiliwt w)) gnpshpubp — wwpwguitbp 9L hn 8900 100 890.0
33141211/530 pdalwlwt wy gnpdhpubin — wwpwgquitbp 9L hiun 468 5 2.3
33141211/531 poljwluil wy gnpdhpulip — wwpwqulbp qc hwin 62 2000 124.0
33141211/532 pdalwljwl wy) gnpdhpubip — wwpwgwutip 4L huwin 12000 1 12.0
33191310/509 thnpdwunpubp 9< hwin 2.52 2500 6.3
33191310/510 thnpéwlinputip 9< hwin 27 600 16.2
33191310/511 inpauwnplbin YL hwin 23.84 100000 2384.0
33191312/501 wiywl Ynjpuw q< hwwn 2500 3 7.5
33191312/502 wiwwlili Yngpuu L huin 3000 3 9.0
33191312/503 wwwilib Ynjpuw QL hun 5000 3 15.0
33191316/501 wiwulyli swihpy dgniplu’ hnldwé dahlyny QL hwin 2256 4 9.0
33191318/501 wwywyb swihhs pwdwl pudubiswiping 1004 QL hwiun 500 2 1.0
33191318/502 wwywyb swiphs pwdwl pwdubswihny 1004 QL huwin 648 2 13
33191318/503 wuywl swiphs pwdwly pudtbswthng 1000 G hwin 900 2 1.8
33191318/504 wwywyb swihhs pwdwly pudubiswihng 1004 G< huwn 1400 2 2.8
33191318/505 wwwlt swipps pudwly pudubswihng 100d] q< huwitn 1600 2 3.2
33191318/506 wiywyl swnphs pudwl pudubiswiing 1004 9< huwin 1800 2 3.6
33191318/507 wiywll swithhy pudwl pwdubswihng 1004; A< hwn 1500 2 3.0
33191560/501 Zuswnniagwls gmguwiuwppbin (puswnnipiut bjwndwdp ac b 2300 30 69.0
hulnnnyajnit hpwlwuwgbne hwdwp)
33691160/691 phupwluil wgruwbniptp (nbugatnlbn) qc hwwn 1399 20 28.0
33791300/513 Jwpnpuinnn wwwljw wpanwnpuup L hwn 1200 2 2.4
33791300/514 |lwpnpuinnp wwwlyjw wpnwnpup QL hwtn 2000 2 4.0
33791300/515 JWENAWWND W Yw wpmwnpuup QL hun 1440 4 5.8
38311100/501 Eiblunpntiwght Yabinplitip — wwipwgquiibp QL huuwn 29500 2 59.0
44163112/502 npbibwdwihu hwdwlwpgbp QL hiuwn 33000 20 660.0
24311530/505 opwdlh whipopupn EUR [ptnp 600 10 6.0
31512410/501 utinhywiht jwdwjlip EUS huin 118800 5 594.0
33141133/501 Phuwn pdalpulput Buiunpl upupwpwpwih N1, 2 EUS huwwn 104 1000 104.0
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33141134/501 Phuwn buiunpl wipuyng 8udx3d EUs huitn 180 50 9.0
33141142/505 ubpwplihstbp EUs huwitn 100 500 50.0
33141142/510 ubipwnlhsubp EUn huin 1000 0.0
33141142/519 ubpwplhsubp [Uta) hwwn 144000 1 144.0
33141143/503 uljwph$hlwinnp EUA hwin 3.45 20000 69.0
33141144/506 pdoljwljwt wubinubp tUn hwiwn 13 30000 390.0
33141148/501 rhwihgh wubnubp (i} huwn 480 15 7.2
33141148/502 nhwihgh wubinubp EUS hwwn 500 10 5.0
33141207/536 Puwnnipwghwih wwpwqubip EUS hwn 1000 30 30.0
33141211/588 pdawlwl wy gnpdhplbip — wwpwgwhbp EUR hwn 99.97 1000 99.97
33141211/598 pdolwlwl wy gnpdhplibip — wwpwgwubp EUs huwn 1750 200 350.0
33141211/599 pdolwljwt wy gnpdhplbp — wwpwauitibp [n¥ha) huwn 100000 210 21000.0
33141211/600 poaljwliwt w)) gnpdhpubip — wwpwguitbp LUs hwwn 2380 30 71.4
33141211/601 pdzlwlwl w) gnpdhpubp — wwpwguwbip EUS hiun 20 1920 38.4
33141211/602 pdaliwljwt wy gnpdhpubip — wwpwgwbp tUs huin 1 0.0
33141211/603 pdolwlwl wy gnpdhpubp — wwpwgwtip EUs huwin 4 0.0
33141211/604 pdolwlwl wy gnpdhplbp — wwpwgwbp EUn hww 4 0.0
33141211/605 pdolwlwl wy ghpdhplibp - wwpwgwbp EUS hww 9995 2 20.0
33141211/606 pdolwlwl wy gnpdhplibp — wwpwquwlbp tus huwin 14990 2 30.0
33141211/607 pcalwiljwi wy| gnpshpubip — wwpwgubn EUs hwun 3000 30 90.0
33141211/608 pdalwilput wy gnpshpltip — wwpwguiibp EUR hiutn 4158 30 124.7
33141211/609 pd2lwliwl wy gnpdhpubip — wwipwguititip U hiun 1500 60 90.0
33141211/610 pdaluilwl wy gnpdhpubip — wwpwguititip LUS huiwn 500 0.0
33141212/504 pdolwlwl wy Wnipbp EUn huwin 13800 60 828.0
33141212/505 pdalwlwl wy wniphp EUs hwwn 10560 80 844.8
33141212/506 pdowlwl wy Wnipbp EUS huiwn 400 100 40.0
33141212/508 pdoluibwl wyy Unyakip EUs hwwn 1000 300 300.0
33141212/509 pdolwlwl wy bnystip tUn hwwn 8 0.0
33141212/510 pdolwlwl wy| Uynyebp Euns hwwn 10 0.0
33141212/511 pdolwiljuil w| unyebp tus hwn 1500 300 450.0
33141212/513 pdalwlywt wy byniekip tun huwin 18810 4 75.2
33141212/514 pdolwluit wy Wyniptp tUs hwin 4455 20 89.1
33141223/509 pdolwlwl w)) gnpshpubp — wwpwguutp pugiwlnduntbn [wiTa) [nuubjgy 1881 60 112.9
33141223/510 pozliwlwl wy gnpshpubp — wwpwguwubp pwgdwlndwnubun EUA [nwljugy 12375 15 185.6
33141223/511 pdaljwlpwt wy gnpshpubin — wwpwgwtin pugdwlndwntbin kUns T 1450 3 4.4
33141223/517 pdalwlwl wj grpdhpubip — wwpwgwubp pugdulndynubiin EUA (nwiljuigd 6700 150 1005.0
33141300/501 bnUngUbip pdoliwl ny unbiphy EUS hutn 9.4 400000 3760.0
33191310/512 thnpawlinpUbp EUS huwin 119.97 500 60.0
33691422/502 {wpnpwinnp wgnwunyetp (nEwgtinutn) tingh Guid gpuwtnyutip EUS Yhingpwd 16000 10 160.0
38311100/504 Libunpnuwght Yetinplitip — wwpwgwbp EURS hwwn 34990 2 70.0
38411200/503 otndwswihbp EUs hutn 816.74 50 40.8
38411200/504 obipdwswipbip [(H1a) hun 20 0.0
38431720/515 Ywenghlubph duwypwljuiubp [ huwin 500 0.0
0.0
quiquijht tynipkip
24111160/501 pdaluiljwils hbnnil wantn 9c fuu 470000 9 4230000.0
33691141/502 PRy waht v03an01 9< hun 2300 3000 6900000.0
nnnpuyp
33611130/504 wunpnupht a03ba01, s01fa0l < huin 69.9 1500 104.9
33611170/501 rphunwybipht a03ad02 YL hwtn 37.5 1500 56.3
33611170/502 npnunwybipht a03ad02 < huwin 6 500 3.0
33611310/507 htsunyhu G< huitn 4999.8 10 50.0
33611320/501 bpwpldwl puunypt ((nddnn) alOab 9< huin 5199 60 311.9
33611320/502 ubpwpldwl hiunyht (nisynn) alOab Q< huwin 5499 30 165.0
33611472/504 Shgbipny, dndplubip QL huin 90 400 36.0
33611472/505 Qhghipng, dndpljutp q< huitn 87 200 17.4
33621160/501 wiptuwlwwpnuwpent b02aa0l QL hwuwn 800 200 160.0
33621360/506 gbippy bntihinpuin (Upinpngyhghipht) c01da02, c05ae01 q< huwitn 799.8 200 160.0
33621390/501 wupnnuwipnt c01bd01 < hwiwn 196 150 29.4
33621720/501 phunwypnin) c07ab07 G hwin 9 400 3.6
33621740/501 wdinnhuht c08cadl q< hwn 56 800 45
33621761/501 wgbinpjuw hghjwpepnt, dwqubghnwh hhnpopuhn BO1AC30 qL hwn 10.5 10000 105.0
33631180/501 wpdwph uny$unhughud06ba0 a< huwin 1080 20 21.6
33631370/501 winpwlniphnud plighjtn m03ac04 9 huwitn 270 150 40.5
33631410/501 winwniphtng m04aa0l QL hwtn 44 20000 880.0
33631430/505 nhpuljitninunpn$bt (nbpuliininupnbuh npndbnwdng MOTAEL7 QL hun 187 2400 448.8
33631430/506 nlipuliiinnupn$bu (nbpulynnypndbiih inpndbnwdng) MOTAEL7 g hwin 129.9 300 39.0
33651111/501 wiopuhghiht j01ca04 8 huin 168 500 84.0
33651112/503 wiopuhghyhu+pludni-jwlwppnt j01er02 QL hwin 1480 ] /.4
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33651125/501 wighppnihght j01fal0, sO1aa26 Q<L hwin 258 500 129.0
33651163/502 wplwghu d0Bax12, j01gb06, s01aa2l < hwn 1520 700 1064.0
33661115/503 pnwyhyuwiluip n01bb01 G hwin 229 70 16.0
33661142/501 wihwnphwwnhiht n06aa09 9L hwin 9 300 2.7
33661151/501 wghynuhp d06bb03, j05ab01, s01ad03 9 huwin 14.6 40000 584.0
33661151/502 wghlyndhp d06bb03, j05ab01, s01ad03 <L huwin 2499 100 249.9
33661153/503 nipuwdbpwgnt a0lac0?2, c05aa09, d07abl19, d07xb05, d10aal3, Y K 213 30000 639.0
T T e R T R e
ntipuwdbipwgnt a01ac02, c05aa09, d07ab19, d07xb05, d10aal3,
Aefs S 1023503, 101ad03, 5015301, 501cb01, 5026206, s03ba0 *< hun 268 Rk g
ntpuwdtipwanu allac02, c05aa09, d07ab19, d07xb05, d10aal3,
SoioE h02ab02, r01ad03, s01badi, s01cb01, 5025206, s03ba0l * fun 49 300 1647
33671114/501 wihundhihtu r03da05 G hun 35.72 1500 53.6
33671125/502 wdppopun| (wdppopunih hhnpnpinphn)  ROSCBO6, ROSCB < hun 15 300 4.5
33671130/501 nh$buhhnpwiht d04aa32, d04aa32 L hwwn 21.9 20000 438.0
33691121/501 w|pbunwgnp02ca03 ag hwin 171 30 5.1
33691136/504 uwwnphnuwh pinphn al2ca01, b05cb01, b05xa03 G hiwin 213.9 1000 213.9
33691136/505 twinphnuih pnphn al2ca0l, b05¢h01, b05xa03 qc huwitn 2209 4000 883.6
33691136/506 Uwwnppnuih pinphi al2ca01, b05cb01, b05xa03 q< hwn 226.8 90000 20412.0
33691136/507 Uwwnppnwh pinphn al2ca0l1, b05¢b01, b05xa03 L hwn 1300 2000 2600.0
33691136/508 Uwwnphnwh pinphn al2ca0l, b05cb01, b05xa03 QL hwn 237.8 4000 951.2
33691136/509 Uwwppnuwh pinphn al2ca01, b05¢b01, b05xa03 9L hiuwn 1400 5000 7000.0
33691136/510 uwnphnuh pinphr al2ca0l, b05cb01, b05xa03 q< hwn 530 200 106.0
33691138/504 quniljng b05ex01, vO4ca02, v06dcOl 9L hwwmn 237.9 9000 21411
33691138/505 gynilng b05ex01, vO4ca02, v06dcOl Q< huwin 231.9 2000 463.8
33691176/569 wy| nhinnpwp Q< hwn 29980 150 4497.0
33691176/571 wy| nhnnpw)p Q< hwn 4200 500 2100.0
33691176/572 w)| nbnnpuwip Q< hitn 88.8 1000 88.8
33691176/573 w)| nEnnpwip 9L hwwn 2200 700 1540.0
33691176/574 wy| nbnnpugp G huitn 516 2000 1032.0
33691176/575 wy| nhnnpwp a< huitn 227.8 1500 3417
33691198/503 wnbidbinpnupu - AI6AAQ2 G huwin 1899 5000 9495.0
33691727/501 nbipuunpng (nbpuinpngh Untinhhnpuwin) VOGDCOI, BO5SCXOT q< huitn 36.22 10000 362.2
33691731/501 nhnudblunpin AD7BCOS < huwwn 149 2100 312.9
33691811/501 phuwlnnhy qc huwn 36 700 252
33141166/501 hbwwphu QL hwin 974 1000 974.0
33611100/501 outwpwgn| a02bc0i q< huwin 9.2 70000 644.0
33611120/503 Swiinnphnphu A02BAO3 Q<L hun 368 3000 1104.0
u | 33611140/503 ounwuubiinpnt a04aa0! < huin 270 30000 8100.0
;?_t 33611140/504 olinwuubinpnt al4aa0l GL huitn 649 2000 1298.0
33611160/501 dbnlnynwdpn a03fa0l GL huitn 40.98 1500 61.5
33611420/507 Ywijghnwip gpniyntiwn al2aa03, dilax03 9L huwn a7 10000 870.0
33611420/508 Guighnwp gyniyntiwn al2aa03, difax03 < huwitn 129 10000 1280.0
33611470/502 Wwnnwpugn| q< hwin 33.21 2000 66.4
33611470/503 wwilinnwnugn| QL huwitn 1290 800 1032.0
33621120/501 Fuopuwwwphu b01ab05 <L huwin 1069 13000 13897.0
33621230/503 $njwppnt b03bb01 qL huwwn 5 1500 7.5
33621590/501 Pnpnubidhn c03ca01 9 huin 22.286 20000 445.7
33621610/504 Uwlihinng a06ad16, b05bc01, b05cx04, r05ch16 QL huin 512.7 1500 769.1
wplinuhgninu al7ea01, c05aa04, d07aa03, d07xa02, h02ab06, o
IO r01ad02, s01ba04, s01cb02, s02ba03, s03ba02 5 hun 197 120000 2964
33651118/501 ghbuiphwpunt j01dd04 QL i 103 8000 824.0
33651131/504 ;J[;Litou?dh[aogqum + nphubienyphd jOTee01, j01ee02, j01ee05, ac batin 13. 40000 528.0
33651131/507 ;J[;Linnu?dbraopqum + wiphdbpnuynphd j01ee01, j01ee02, j0leel5, ac K 567 50 28 4
33651134/502 ghypndjopuwght j01ma02, s01ae03, s02aal5, s03aa07 Q< hwwn 27 10000 270.0
33651138/501 [-n$opuwghti j01mal2, s01aed5 4L huwin 79.8 5000 399.0
1.[33651140/502 gl j01de0] q< huwin 399.8 10000 3998.0
" [33651143/504 Ubpnuyblbd j01dh02 ac huwtn 2132 200 426.4
33651143/506 dbpnwbubd j01dh02 < huitn 1970 1000 1970.0
33651150/503 $uniyntiwgn; d01act5, j02ac0i, j02ac01 a9 huin 3390 500 1695.0
33651150/504 Pyuniyntiwgn| d01acl5, j02ac01, j02ac0l L huwitn 54 30000 1620.0
33651150/505 Byniyntiwigny d01acl5, j02ac01, j02ac01 S< huin 99 8000 792.0
33651318/503 Lhubignihn. 9< huin 4500 410 1960.0
33661112/501 wpnwnn n0lax10 < hwun 444.9 1500 667.4
33661114/502 $htnwihy n01ah01, n02ab03 Q<L huwin 450 440 198.0
NE— thnnGuht cO1bbo1, c05ad01, d04abol, n0Tb0Z, r02ad02, o — o~ - —
s01ha07, s02da01
33661116/506 thrinljw)hu c01bb01, c05ad01, d04ab01, n01bb02, r02ad02, ac K 2694.9 20 53.9
s01haD7, s02da0l
23661116/507 (hnnlwyhu cO1bb01, c05ad01, d04ab01, n01bb02, r02ad02, a¢ huin 94.8 200 19.0
s01ha07, s02da01
33661116/508 LET::;‘;{‘E;?J:;?L e e A< husn 37.8 3500 132.3
33661120/504 dnphht n02aa01 G b 450 400 180.0
33661120/505 Unpdht n02aall G hwwn 6000 150 900.0
33661122/506 wwpwgbinwing n02be01 L hwiwn 2200 1000 2200.0
33661122/507 wwpwgkwnwdn) n02be01 GL hwwn 6.78 2500 17.0
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33661127/501 dbwnwidhgn| (Ueinwdhgnih Uwwnphnwi) NO2BB02 QL hwwn 34.7 10000 347.0
33661135/503 Uhnwgnjwd n05cd08 4L hwtn 511 300 153.3
33661185/501 Ytnnpnjwl (Usnnpnjwlh wpndtinudng < hwn 89 1500 133.5
33691112/505 dtmnpntihnwan| a0lab17, d06bx01, g01af01, j01xd01, pOiab01 Q< hwin 212 2500 530.0
33691112/506 dawnpnuhnwgng a01ab17, d06bx01, g01af0i, j01xd01, pOiab0l q< hwwn 5.02 800 4.0
33691112/508 Ubitnpnuhnwgni allabl7, d06bx01, g01af01, j01xd01, p01ab0 9< hwn 1600 150 240.0
33691135/502 Lwinphnuwih phlwppntiwn b05xa02 9< hutn 960 20000 19200.0
33691145/501 ;I;J;igghmdh uni$un a0bad04, al2ec02, b05xal5, difax05, q¢ . 29.8 3000 89.4
33691154/501 pnhtipunv08ab02 4L hwin 8700 700 6090.0
33691176/576 wy| nlinnpwgp AL hwin 6888.8 400 2755.5
33691176/577 wy| nhinnpuwgp 9L hwn 333.8 5000 1669.0
33691176/578 w| nbnnpw)p Q< hiutn 77 1000 77.0
33691176/579 w)| nbnnpwip Q<L hwn 147.85 2000 295.7
33691176/580 wy| nbnnpwp QL hun 1388.8 1500 2083.2
33691176/581 Wi nbinnpuwyp QL hwin 1857 150 278.6
33691176/582 wj| nlnnpuyp 9 hwin a9 2100 186.9
33691202/502 bnwiighjwin - BO2BX0] q< huwtn 154 15000 7310.0
33691202/503 Einwdghwwn - BO2BX01 9L huwitn 34.8 6000 208.8
33691226/507 wpwdiwnng (wpwdwnnih hhnpnpnphn)-NO2AX02 G< hwwn 17 100 1.7
33691226/508 npwiwnni (npwdwnnih hhnpnpinphn)-NO2AX02 Q< hwwn 56.7 200 11.3
33691226/509 wnpwdwnni (wpwidwnnih hpppnpinphn)-NO2AX02 < hwn 154 1650 254.1
33621290/503 Ewhub$pht (wnpbuwiht) a01ad01, b02bc09, cO1ca24, rOlaald, ac B 94 1000 940
r03aall, s01eali
33621330/502 uhybpwihn RO7ABO2 9L hutn 152 50 7.6
33621360/502 gqlhgtiph| bnupwnpwn (Upnpngghglipht) <01da02, c05ae01 9< huan 660 100 66.0
33621730/501 Ybpwwwiih) c08dat G hun aa 50 4.4
33651124/501 ghipunughnh j01dd02 9 huitn 2997 100 299.7
33651126/505 gbiuinwidhght d06ax07, j01gb03, s01aall, s02aal4, s03aa06 L hwn 67 3000 201.0
33651137/501 Uuwiiynihghl a07aa09, |01xa0l qc hwmn 1420 800 1136.0
33651224/501 dbpnnpbpuwin 101ba0l, 104ax03 QL hwin 90 100 9.0
33651224/502 Ubipnuipbipuwn 101ba01, 104ax03 QL hwn 3990 100 399.0
33651224/503 dbpnuinptipuwn 101ba01, 104ax03 G< husn 13999.8 600 8399.9
33651224/504 Utipnunplipuwwn 101ba01, 104ax03 G< hun 22500 100 2250.0
33651227/502 nwlwppwght 101ax04 < hwin 5700 2000 11400.0
33651230/503 noepunnniphght 101db01 9L huwwn 13397 200 2679.4
33651230/504 nopunnniphght 101db01 < hwin 5724 500 2862.0
3150 1800 5670.0
33651231/501 Einnwnghn 101cb01 9 hwwn 3150 200 6300
33651232/501 Yppnujwunht 101xa02 < hwin 12240 800 9792.0
33651238/502 ghlyn$nudbuidpn 1012201 q< huitn 1999.8 1000 1999.8
33651238/503 ghlyn$nupwdhny 101aa01 Q<L hwin 4399.8 2000 8799.6
33651236/505 ghlynnupinihn 101aa0] < huwin 5439 700 3807.3
33651239/502 ghuwpwpht 101bc01 9L hutn 1999.8 300 599.9
33651239/503 ghwnwpwpht 101bc01 a< hwn 4190 2000 8380.0
33651242/501 nngbunwputy 101cd02 Q< huwin 300 0.0
33651243/501 wwlhnwputy 101ed01 9L huin 14899.8 500 7449.9
33651245/502 qbdghwnwpht 101bc05 Q< hwin 6588.8 600 3953.3
33651248/503 opuw[hywnfi 101xa03 q< hwn 17499.9 800 13999.9
33651248/504 opuwhuywnpu 101xa03 QL hiun 3160 100 316.0
33651251/501 Yuwghnuih $nhliwnl01cb01 < hunn 1000 0.0
33651256/502 ghlynuwnppu 104ad01, s01xal8 QL huwin 60999.9 40 2440.0
33651312/502 Syniwpwphu a< houn 28300 20 566.0
P3661T15{502 prwyhywlwiht n01bb01 QL hwin 319.8 70 224
33661115/504 prighywlwiht n01bb01 q< huwn 1999.8 50 100.0
33661136/503 nhuwqbuwd n05ba01 q< huwtn 101 200 20.2
‘ ntipuwdtipugnt allac02, c05aa09, d07ab19, d07xb05, d10aa03,
33601153/506 h02ab02, r01ad03, s01ba01, s01cb01, s02ba06, s03ba01 B L 2080 e
33661159/501 SaUpEphY (BEUREBPRUR hpnpnpinphn) COTCAOG ac huwin 77 150 1.6
33691133/502 Ubpwpldwl gnip vO7ab 9L huwun 22.9 6000 137.4
33691176/505 wy| nbnnpuip a< hwin 15297 100 1529.7
33691176/506 w)| nbnnpwp QL hiwn 25900 90 2331.0
33691176/507 wy| nbnnpup a< huitn 262.5 800 210.0
33691176/508 wy| nbnnpugp QL hutn 200 0.0
33691176/509 wij| nhnnpuwp G< huwiwn 45000 350 15750.0
33691176/510 w)| nhnnpuwip q< huwn 600 1000 600.0
33691176/514 w)| nbnnpugp G hwn 6840 500 3420.0
33691176/515 Wi nbnnpup qc huwin 8460 600 5076.0
33691176/516 wy nbnnpuwp q< hwin 13209 800 10639.2
33691280/501 ghuwwwnhti 1 dg/dj 50 4| GL huin 6800 450 3060.0
33691500/504 npwlbpuwidpent QL hwin 375 1500 562.5
33691500/505 npwbipuwiwppny < huin 1899 3000 5697.0
33611180/502 {wlwinyng a06adi1 9L huwiwn 1690 1500 2535.0
33611390/502 whphnopupt althad2 a9 hwiwn 29.9 1000 29.9
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33611474/502 Uhutiinhlynu 4L huwin 28 1000 28.0
33611474/503 Uhubunhynt qc huwitn 1370 150 205.5
33621100/502 hbiwwppt bwwnphnwt b01ab01, c05ba03, s0ixald 9 hwn 3395 30 101.9
33621510/501 Yuwinnwph| c09aa01 Q< hutn 2.5 2000 5.0
33621620/502 uwhpnunjwlwnnt c03da01 9< hwin 47.94 1000 47.9
hhnpninpinhgnt a01ac03, a07ea02, c05aa01, d07aa02, d07xa0l,
S6a 5050 h02ab09, s01ba02, s01cb03, s02ba0] *< huin 216 10 ad
33621690/503 Lwputinhiny c07ag02 9 hwn 13.2 1170 15.4
33621760/503 Euwwuwyphy ¢09aa02 QL hwn 4.4 100 0.4
33621777/502 MHwpepuwpwl QL hiwtn 157.1 252 39.6
33621783/501 unpunpbwh nwpupun Q< huin 1790 100 179.0
33631200/501 pinpwddbupyn), diphnipwgh; DO6C 9 hwiwn 239.7 120 28.8
33631230/501 ;?)r;::]q;h Jnny d08ag02, d09aa09, d11ac06, g0laxll, r02aal5, ac bt 2900 20 203.0
33631290/501 hpnuypnbl c01ebi6, g02cc01, mO1ae0l, m02aal3 Q<L huwn 4.1 1000 4.1
33631290/502 ppnuwypndbiu c0lebl6, g02cc01, m01ae01, m02aal3 9L huitn 6549 50 32,5
33631310/502 nhbindbuwy ditax18, m01ab05, m02aal5, s01bc03 QL hin 114 150 17.1
33631310/503 nhyn$tivwl ditax18, m0lab05, m02aal5, sO1bc03 QL huwin 69 200 13.8
33631360/501 unipuwdtipnithnd m03ab01 < hwin 189.9 200 38.0
33631460/501 "Hipuwwitipbing DO3AX03,RO1AXI0 9L hun 3500 50 175.0
Ranwdbpwgnt (ptunwdbpwgnuh nhypnwhnlwwn),
RAHA0E bnwnphdwgny, ghuinwdhght (gEunwdhghth uny$uwn) DO7CCO1 =" Sl e w w3
33642220/505 Ubiphjypbnuhgnint d072a0l, d10aa02, h02ab04 q< hwin 7900 10 79.0
33642250/503 dnuwnbijnilywun S< huutn 247.91 150 37.2
33651117/501 gbphpupd j01dd08 q< huin 333.9 1000 3339
33651128/501 Upinpndnipwunnght j01xe01 G hwin 4 200 0.8
33651134/503 ghwpnjopuwights j0ima02, s01ae03, s02aal5, s03aal7 QL hwn 374.9 300 112.5
33651134/504 ghujpndjopuwgpt j01ma02, s01ae03, s02aal5, s03aa07 QL hwwn 414.8 30 12.4
33651148/501 Ynuiphdwgny a01abl8, d0tacOl, g01af02 9L huwwn 576 10 5.8
33651148/502 Ynwphdwgn| a0lab18, d0lac01, g01af02 9L hwin 192 10 1.9
33651195/501 dwiprnt Unpdw pdntunginpnypt j06ba 9L hin 48000 50 2400.0
33651280/503 Uhbnipopuwighn AO7AX03 9< huin 895 1000 89.5
33651280/505 Uh$nipopuwghn AO7AX03 9L huwitn 1999 70 139.9
33661110/501 hgn$pnipw n01ab06 Rie huwwn 78000 10 780.0
33661122/501 wwnwghbinwidng n02be01 9L hwin 26.4 400 10.6
33661122/504 Wwipwgbinwdng n02be01 QL hwwn 360 50 18.0
33661128/501 Ywppuwidwgbiwht n03af01 q< huun 20 1000 20.0
33661137/501 [npuigbwywid n05ba06 G< huin 14 100 1.4
33661147/502 ubkinuwnhgupt n07aa01, s01eb06 9L huwin 49.8 150 7.5
33661149/501 wybinwgnuidhnsOlecOl Q< huitn 76.2 300 22.9
33661170/502 Mpnlw)hts (wpnbwihtup hhnpnpinphn) NO1BAG2 QL huwitn 550 100 55.0
33661181/502 Ulingnipuatu QL hiun 48000 15 720.0
33661183/502 ghuwinpwyniphnud {ghuwwpwlniphnud pbghjwn) G< huwin 960 100 96.0
33671113/503 uipnunwiing r03ac02 < huwiwn 1190 15 17.9
33671116/505 puhindunwgnihli r0taa07, r01ab06, s01ga03 < hwwn 468 100 46.8
33671124/502 uinppuidhght, nhpuwdbpwgnt S01CAOD1 SL hwin 1009 50 50.5
nwnuwinpnughnwih ppndhn (huipwnpnuhnuwh ppndhnh
RGPl dnunhhnpwin), peuninbipng (Stiunmbipnih hhnpnppndhn) i b o 10 0.3
33691112/507 diwnpnupnugng adlabl7, d06bx01, g01af01, j01xd01, pOiab01 Q< huwin 480 20 9.6
33691176/517 w| nbnnpuwip 9 huwiwn 1537 40 61.5
33691176/559 wy| nknnpuwip 9L huwitn 864 20 17.3
33691176/583 w)| nnnpuyp G< huwiwn 7050 560 3948.0
33691191/503 $nudnihuyhnubp (fublighu)-ESL AOSC < hwn 590 280 165.2
33691198/504 wnbdbinhntpt - AI6AAD2 9L hwwn 462 1500 693.0
33691199/501 upihdwpht - AOSBAD3 QL hwtn 20.63 5000 103.2
33691201/501 Yuindwfuninh nglipripd - NOSCMO9 prwwljwt dwqdwy ntin QL hunn 125 100 12.5
33691212/502 nhnudht, hbuwbphnht-CO5CA53 9z huwu 74.5 120 8.9
33691223/501 Uwnpnuwwnhtih Ywighnwwljwt wn- BO1ABO6 QL hwwn 8§74.9 100 87.5
33691223/502 Lwnpnwwphtp ughnuwiwlwl wn- BO1ABOG QL hwwn 1254.9 100 125.5
33691231/503 Ywighnuih Ywppntwn, unbuigh$bipng A12AX Q<L hwin 45.05 2000 90.1
33691236/502 g‘g;‘:ﬂ’g“‘“hh fpinpnuhpwdhbn hhnpnpinnhn/ ROGACO3, 9¢ huit 107 500 53.5
33691600/501 |-tunppuwgbnun 9< huin 109 1000 109.0
33691730/503 tiplwiah hhnpopupnh nbipunpubiught hwdwihp BO3AC AL hwn 668 200 133.6
33611150/502 wuwllpEwnpu a09a EUS huuwn 98 500 49.0
33611320/503 Ubpwpldul fuunypl (niddnn) alOab EUS hwn 5592 50 279.6
33611350/503 wulnpphtiuwppnt gllad03, s01xal5, allga0i EUS hwn 99.96 1000 100.0
33611360/503 [ungtiljugh$bpng alice EUA huwn 50 300 15.0
33611370/502 phwdhu alldadi EUs hwitn 80 300 24.0
33611470/504 wwlnnwpugng EURS hwin 1399.2 500 699.6
;| 33611470/505 wwlnnupuign| EUn hiuwn 33.8 3000 101.4
33621250/504 nbputnpuit b05aa0s EUS hunn 1932 250 483.0
33621620/505 uwhpnunjwlyuint c03da0l kU hwin 24.13 100 2.4
33631430/501 napulnnuypndbt (nbpulytinnypndbiuh twpndbnwdng) MOTAET7 [=ila) hwin 126 300 37.8
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33642220/506 dbphjwpbnupgnint d07aa01, d10aa02, h02ab04 EUS huwn 58 500 29.0
33642220/507 Ubiphjwnbnuhgnint d07aa0l, d10aa02, h02ab04 EUS hwwn 7500 10 75.0
33651134/505 ghujnn$|opuwght j01ma02, s01ae03, s02aal5, s03aa07 EUsS hwin 28.13 10000 281.3
33651149/502 Uhuwnwinh al7aa02, d01aa01, g01aa01 U hwn 16.45 6000 98.7
33651163/503 wihlwght d06ax12, j01gb06, sO1aa2l EUus huin 1590 700 1113.0
33651195/503 dwpnnt unpdw) pdntunggnpnih j06ba [m¥la} huwin 120000 70 8400.0
5 [33651237/502 yhulphuwnhl 101¢a02 tus huwn 6000 1000 6000.0
¢ [33651256/503 ghynuwnppt 104ad01, s01xal8 EUs huwn 60990 40 2439.6
33651256/504 ghlynuwnphu 104ad01, s01xal8 U huitn 350 1000 350.0
33661113/504 phnybuwnw] n01af03, n05cal9 EUs hwwn 2464 100 246.4
33661122/505 wwpwgbitnwidng n02be! EUS hwin 6.95 1500 10.4
33661151/503 wghynuhp d06bb03, j05ab01, s01ad03 EUs huwn 13.2 20000 264.0
33671125/503 wdppopun| (wdppopunih hhnpnpinphn)  RO5CBO6, RO5CB EUS hun 7.9 600 4.7
33691112/509 dbinpnuhnwang a0labl7, d06bx01, g01af01, j01xd01, pO1abO1 LUs huwin 5.3 1500 8.0
33691154/502 hnhbpunv08ab02 LUs hwiwn 9000 500 4500.0
33691176/588 wy| nbinnpwgp tus hwin ' 623 2500 155.8
33691176/589 w)| nbnnpuwp Lus huitn 6788.64 1120 7603.3
33691176/596 wj| hlinnpwp Eua huin 93.8 100 9.4
33691176/598 wy nlinnpuyp EUS hwiwn 60.83 300 18.2
33691176/601 w)| nbnnpuwyp EUns hwwn 1999.8 200 400.0
33691226/503 unpwdwnng (wpwidwnngh bhnpnpinphn)-NO2AX02 EUs hwin 157.39 800 125.9
33691600/502 |-bwnphpuwgbinwng EUs huwtn 101.72 2000 203.4
0.0
(wpnpunnp b phdhwlwt wqnwiynipbp (nEwgbuntitp)
33141211/689 pdaljwlwil wy) gnpdhpubip — wwpwgwubp 9L hwn 84000 4 336.0
33141223/529 pd2luluwl wy gnpdhpubin — Wwnwgwbp puqiwlnduyntbun q< Inwljwuqy 40000 60 2400.0
33141223/530 pdalwlwl wy) gnpdhpubip — wwpwgwubp puqiwlnduntibun Q< [nwljuqy 39999 2 80.0
33141223/531 pdalwlwt wy gnpdhpubin — wwpwquwubp pugdwyndwynutiiun Q< (o 39999 2 80.0
33141223/532 pdabwlwt w gnpdhplbin — wwpwguwbp puqiulndunubu, Q< nwljugy 849999 2 1700.0
33141223/533 pd2ywlwt wy gnpdhplbp — wwpwqutibp pugquwyndynubn qL [l 240000 2 480.0
33691162/1136 |wpnpuwinnp wgrwtynystip (nbwgblnubp) < huwin 72999 2 146.0
33691162/1137 [wpnpuinnp wgnwniatip (nbwgblntibp) 9L huun 51999 2 104.0
33691162/1138 |wpnpwwnnp wqnwiynstin (nbwgbtunubp) G< huitn 63999 4 256.0
33691162/1139 [wpnpwinnp wgnwiynuakin (nbwgbnubp) b huwiwn 89000 80 7120.0
33691162/1140 (wpnpwnnp wgnwiygngebp (nbwgbunubp) QL hwin 130000 80 10400.0
33691162/1141 Jwpnpwinnp wgnwuniphp (nbwgbtnmubp) QL hwtn 50000 80 4000.0
33691162/1142 {wpnpuwnnp wanwlynietip (nbwgblnlbp) 9< hwn 59000 80 4720.0
33691162/1143 |Wphpwinnp wgnwtynyabip (nBugblntbn) Q< hun 138999 2 278.0
33691162/1144 |wpnpwnnp wgnuwtynietp (nbwgbitntbp) q< hwitn 91999 4 368.0
33691162/1145 [wpnpuwwnp wanwnyebip (nbwgbunutip) 9L hwun 67998 2 136.0
33691162/1146 lwpnpuwitnnp wgnwbgnatip (ntiwgbUunutp) 4L hiun 104000 3 312.0
3369116211147 Jwpnpuwinnp wyrwingebip (nbwgblnutip) O hiun 64999 5 325.0
33691162/1148 |wpnpuiinnp wqnulynigplip (nbwgblnbp) QL hwn 61999 4 248.0
33691162/1149 |wpnpwinnp wgnwiynyatip (nbwgbtiunubipg 4L huwin 798000 4 3192.0
33691162/1150 |wpnpwnnp wgnwiyniphbp (nbwgbtntibp) 9L hwn 60000 3 180.0
33691162/1151 lwpnpwinhp wgnuujniphp (nbwgbunubp) 9L hwin 84999 2 170.0
33691162/1152 |wpnpwinnp wyrwtngatip (nGwgblnubp) QL huwn 84999 2 170.0
33691162/1153 |wpnpuwinnp wgnwitynyatip (nbwgbtiinubp) GL hiutn 84999 2 170.0
33691162/1154 [wpnpwinnp wqnwynatip (nbugblntitin) 4L hiun 33075 2 66.2
33691162/1155 |wpnpwinnp wanwiynyatip (nbwgbituntibp) G huwitn 84000 2 168.0
33691420/639 [wpnpwinnp wanwunptip (nbwgbunutin) puquwlndynutin Q< [l 69000 1 69.0
33691420/640 |wpnpwwnnp wanwtynyebp (nBwgbnubn) pugqiwlndwntibun q< (nwywqd 42000 3 126.0
33691420/641 (wpnpwiwnnp wgnutyniphn (nbwgbtuntibp) pugdwyndyntbun ag [nwilwigy 69000 3 207.0
33691420/642 [wpnpuwnnn wanwtgniplbp (nbwgbunitip) pwquwlndwnubum QL Intuluag 69000 3 207.0
33691420/643 Lwpnpunnp warwgnipbp (nwgbnbn) pugdwinduntto G€ [nwljugl 40000 3 120.0
33691420/644 |wpnpwwnnp wanwnyebp (nbwgblnubn) pugqiwlyndynubun Qg [pwlwqy 108000 2 216.0
33691420/645 (wpnpwwnnp wanwiyniptin (nbwabtiniutp) puqiwyndwnubun 9< [nwlwqy 214998 2 430.0
33691420/646 (wpnpwinnp wanuwgniptn (nbwgbunubp) puqiwlniwntbitn QL [nwljgd 36999 2 74.0
33691420/647 [wpnpuwnnp wgnwtynyetip (nBugbunubn) puqdwlndwnubun L g 33000 2 66.0
33691420/648 (wpnpuwwnnp wanwynyatin (nbwgbinbp) pugqdwlndunubun q< [Pl 69000 5 345.0
33691420/649 (wpnpinnn wonwniphbp (nbwgbunubp) puqiwlnuwyntbun q< [nwiljugd 32499 5 162.5
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33691420/650 (wpnpwwnnn wanwilyniebn (nbwagbuwnubp) pwqiwlniynubum q<C [nubjgud 32499 5 162.5
33691420/651 Lwpnpwinnn warwynipbp (nbwgbinbn) puguwlndynttitiu: QL [nwiljuigy 42000 2 84.0
33691420/652 Llwpnpuwnnp warwniptp (nbwgbntibp) puguuwyndynubun G< Inwlwgu 42000 2 84.0
33691420/653 |wpnpwwnnp wqnubnetip (nbwqbtnbbp) pugiwyniynubin < (nuluqy 56998 2 112.0
33691420/654 (Wwpnpwnnp wanujniebp (nbwgbunubn) puqdwlndyntbun Q< [nwljugd 76998 2 154.0
33691420/655 Lwpnpuwinnp wgnwniehin (nbwgblnubp) puquwyndunttun G< (nwibjugu 42000 5 210.0
33691420/656 (wpnpunnp wgrwyniptn (nbwgbtntbp) pugiwhndynubun q< (nljwgd 47000 3 141.0
33691420/657 Llwpnpwnnp wanwgnyelp (nbwgblnbbp) puquwlndyntbin QL [nwljuqd 42000 2 84.0
33691420/658 [wpnpunnp wonuwtynietip (niugblnttin) pwglulndyntbln < [nwlwgd 104000 3 312.0
33691420/659 [wpnpwnnp wanwiynuyatip (nbwgbtntibp) pugdwlndynubn q< nwiljgy 202000 3 606.0
33691420/660 Lwpnpuwinnp wanwbynetip (nbwgbunlbn pugdwlndynitim S< [nwbjgud 202000 3 606.0
33691420/661 (Wpnpwnnp wqnwiynyabip (nbwgbtunbng puqdwindunubto 9L [nwlwqu 35499 2 71.0
33691420/662 Lwpnpwinnp warpwbynypbp (nbwgbtnutn) puquiulndyntbn QL [nwiljwgqy 103998 2 208.0
33691420/663 Lwpnpuinnp wgnwlnipbip (nbwgbtntbn) pugqdwlndwnttiue < [nwlwqy 58998 2 118.0
33691420/664 lwpnpwnnp wanwynyatip (nBwgbiunbibip) pugiwyndynubun < [nwluqu 354999 4 1420.0
33691420/665 Lwpnpwinnn wanwynipbn (nfwgbunubn) pugiwlniyntbun Q< [nwljugd 99999 2 200.0
33691420/666 lwpnpwinnp wanwniyebp (nbwgbtnubn) puqiwndwynubun Q< (Pwlyuqu 63000 2 126.0
33691420/667 (Wwpnpwnnp wanwiynipbp (nEwgbtntibp) pugqdwyndynubun < Inwlugy 32000 60 1920.0
33691420/668 (wpnpwinnp wanwbgnptin (nbwgbbnubn) puquwlnduntibun qc [ntuljuagd 32499 10 325.0
33691162/1156 Jwpnpuwinnp wgnwlynipbp (nbwgbinlbp) QL hiutn 470 200 94.0
33691162/1157 |wpnpuwnnp wgnwynysbip (nbwgblinubp) < hww 470 200 94.0
33691162/1158 (wpnpwwnp wgnwinysbp (nbwgblintbn) < huwin 700 200 140.0
33691162/1159 Jwpnpwinnp wgnwuniebip (nbwgbunutp) 9L hwn 1980 110 217.8
33691162/1160 Jwpnpuwinnp wonwlynipbp (nbwgbuntbp) QL hwin 1650 100 165.0
33691162/1161 [wpnpuwiinp wygnubniptp (nbwgblnubp) L hiun 900 230 207.0
33691162/1162 (wpnpwinnp wgnwiyniatin (nbwgbtuntbip) G< huwiwn 5280 20 105.6
33691162/1163 [wpnpuwwnnp wgnwgnyabip (nbwgbitintitip) Q<L huwin 2040 20 40.8
33691162/1164 (wpnpunnp wanwgngatin (ntiwgbnubp) 4L hwn 4600 20 92.0
33691162/1165 Jwpnpwnnp wynwlyniehbip (nbwgbunttp) 9L huin 1150 100 115.0
33691162/1166 |wpnpuwnnp wqnwtnipbp (nbwgbbnubn) QL hwin 2800 35 98.0
336911621167 |wpnpwwnnp wgnwitynplip (nbwgblunubp) < huin 12000 30 360.0
33691162/1168 [wpnpwnnp wgnwiynipbp (nbwgbUntbp) L hwwn 67000 10 670.0
33691162/1169 \wpnpwinnp wanwynpbn (nbwgbunubp) 9L hwwn 6600 2 13.2
33691162/1170 Jwpnpuinnp wgnuilyniphbp (nbwgblnttbp) Q< hwin 21000 2 42.0
33691162/1171 |wpnpuinnp wqnwtnyetip (nbwgblinutip) < hun 30000 2 60.0
33691162/1172 [wpnpuiinp wgnubynipbip (nbwgbtinubp) G hwin 15600 2 31.2
33691162/1173 |wpnpwwnnp wanwiyniakip (nbwgbitunubp) G< hwwn 35000 2 70.0
33691162/1174 |wpnpwnnp wanwuniphp (nbwgbbnttn) 9L hwn 22800 2 45.6
33691162/1175 Jwpnpuwnhp wonwlynipbp (nbwgblnlbp G huwn 57000 2 114.0
33691162/1176 Jwpnpuwnnp wanwlymipbp (nbwgbiuntbp) Q< hwwn 47000 2 94.0
336911621177 |wpnpwmnnp wgnuwynyabip (nbwgbiintbn) 9L hwn 18000 2 36.0
33691162/1178 |wpnpwmnnp wgnuiynuyatip (nbwgbiiunibip) QL huwn 48000 2 96.0
33691162/1179 {wpnpwinnp wonwniehbp (nbwgbnttp) L hwn 34800 2 69.6
33691162/1180 |wpnpuinnp wanwunphp (nbwgbunttn) L hn 33000 2 66.0
33691162/1181 jwpnpuiwnnp wgnutyniabp (nbwgblntn) S< hwwn 97000 2 194.0
33691162/1182 |wpnpuwnnp wanwiynystip (nbwgblinttn) QL huin 2 0.0
33691162/1183 |wpnpwiinnp wanwiynuabip (nbwigbtiiubp) L hwun 20000 2 40.0
33691162/1184 |lwpnpwitnhp wgnugnyebp (nbwgbuunubn) AL hwin 21600 2 43.2
33691162/1185 {Wpnpwinnp wgnwjnyatip (nbwghblnttn) 9L huwn 24000 2 48.0
" 526000 40 21040.0
33691420/669 [wpnpuinnp wgnuitynigatip (nbiwgbiinubp) puqiwndwnutiun Q< Inwiljuugd 10 00
1210000 20 24200.0
33691420/670 lwpnpwinnp wgnwungetin (nbwqbiunubn) pugdwindwnubn q< [nuljuugy 20 00
33691420/671 [wpnpuinnp wgnwtjnebip (nbwgbtntbn) puquwyndynubiun G< Inwljuqud 215000 8 1720.0
33691420/672 (wpnpunnp wgnwyniatip (nbwgblnbibp) puquuyndynubun < Inuljugd 151200 4 604.8
33691420/673 {wpnpwiinnp wanwugnpbip (nbwgbunubn) puquwlndunutiion S< [uwljugd 363000 | 363.0
33691420/674 [wpnpwinnp wgrwtynelin (nbwgbtuntitip) pugduyndyntubun < Pl 175998 I 176.0
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33691420/675 lwpnpwwnnp wanwinyehp (nbwgbunttn) puquwyndwntitiun Q< [nwiljwigu 157998 1 158.0
33691420/676 lwpnpwnnp wanwiniptp (nbwgbtnlibin) puguwyndynubun 9< Inwgy 85999 4 344.0
33691421/522 [Wpnpunnp wgnwiynipbp (nbwgbiuintibip) hennly <L hwp 0.5 0.0
33691422/568 [wpnpwnnp wqnwiyniabn (nbwgblnbbing tingh Ywd gputngubn L 14 Lhngpuwd 0.5 0.0

1 |33691422/569 (wpnpwwnnp wanubnptip (nbwgbtnbibin) thngh Yud gputingutp < Yhingpuwd 1200000 0.1 120.0
33691422/570 (wpnpwwnnp wanwjnipbin (ntiwgtdnttip) thngh Yud gputingtp 9L Yhingpwd 1140000 0.1 114.0
33141211/690 pdalwlt wy| gnpdhplibip — wwpwgwbn QL hwn 246000 8 1968.0
33141211/691 pdolwljwt wy gnpdhpubip — Wwnuwagwbp QL huitn 110300 4 441.2
33141211/692 pdaluwiluits wy; gnpdhplbip — wwpwawtbp < hwiwn 6100 60 366.0
33141211/693 pdaljwliwity wy| gnpdhplibipn — wwpwqwibin Q< hwin 57100 2 114.2
33141211/694 pdaiwlw wy| gnpdhpubp — wwpwgubp 9L hwwn 2500 4 10.0
33141211/695 pdolulyuwili wy gnpdhptbip — wwpwguiibip QL huwin 1000000 1 1000.0
33141211/697 pdalulwit wy) gnpdhpubip — wwpwqubp QC huwitn 960000 2 1920.0
33141211/698 pdalwlwits wy gnpdhpubip — wwpwgwubp QL hwwn 246000 6 1476.0
33141211/699 pdoljwluwiti wy gnpdhptbp — wwpwgwibp < hwin 1195000 2 2390.0
33141223/534 pdaluluwl wy) gnpdhputp — wwpwgwubn pugiwiniuyntbtn qL (g 44600 6 267.6
33141223/535 pdalwluit wy) gnpdhputin — wwpwquutp pugdwlndynubun Gg nwljwgy 33300 12 399.6
33141223/536 pdolwlwt wy| gnpdhplbin — wwpwgwlibn pwgdwlnduntitin GL [nljueg 648300 4 2593.2
33691162/1186 Jupnpuwnnp wgnuwgniplip (nbwgbunttbip) 9L hun 19875 28 556.5
33691162/1187 |wpnpuwnnp wgnutyniebip (nbwgbbnubp) G huwin 7540 75 565.5
33691162/1188 [wpnpwinnp wanwjnyetp (nbwgbintbp) 9L hww 13846 65 900.0
33691162/1189 |wpnpwwnnp wanwljnyebp (nbwgbuntbp) 9L hwn 17143 70 1200.0
33691162/1190 lwpnpwinnp wgnwiniphp (nbwgbinubn) L hwn 14200 60 852.0
33691162/1191 jwpnpwinnp wgnwunipbp (nbwgbunubnp) QL hwin 16800 50 840.0
33691162/1192 [wpnpuiwnp wgnwynsbp (nbwgblnttip) g< huin 13875 40 555.0
33691162/1193 |wpnpuinnp wgnuiynyatip (nhwgbitiinibp) QL huwiun 18750 12 225.0
33691162/1194 |wpnpuwinnp wgnuwynysbip (ntwgbiinnltp) 0 hwwn 15800 60 948.0
33691162/1195 Jwpnpunnp wgnwnipbp (nbwgblnbp) q< hwwn 15800 60 948.0
33691162/1196 lwpnpwinnp wgnwjnyabip (nbwgbnutip) QL huiwn 20182 55 1110.0
33691162/1197 (wpnpwinnp wanunpbp (nbwgblnubn) G< huwn 32000 3 96.0
33691162/1198 jwpnpuwiing wgnuibniabip (nhwgbinubp) &< huwin 14357 7 100.5
33691162/1199 |wpnpwiinnp wgnwiynyatip (nbwgbiiuntitp) 9L hwin 31417 18 565.5
33691162/1200 [wpnpwwnnp wanwiyniptp (ntiwgbuntp) QL huwn 139113 75 10433.5
33691162/1201 Jwpnpuinnp wgwnystip (nbwgblinutip) 9L hiuwn 11645 55 640.5
33691162/1202 |wpnpuwitnp wgrwityniatip (nbwgbuinubp) QL huin 46900 55 2579.5
33691162/1203 [wpnpwinnp wgnuilniabp (nbwgbnubp) < huwin 15000 10 150.0
33691162/1204 |wpnpwiinnp wgnwiynietip (nbwgbinutp) 9L hwin 93900 6 563.4
33691162/1205 |wpnpuinnp wqnwuniehp (nbwgbtnutp) Q< hwitn 14675 60 880.5
33691162/1206 [wpnpuinnp wgnwtjnialip (nbwgbmubp) 4L huin 5308 65 345.0
33691162/1207 |wpnpwinnp wgnuwtynebip (nbwgbiiinttip) QL hunn 13333 45 600.0
33691162/1208 [wpnpwnnp wgnwiyniabp (nbwgbiinttp) < hwwn 27300 70 1911.0
33691162/1209 \wpnpLitnnp wgnwbynyabp (nbwgblnutn) Q< hwin 8375 12 100.5
33691162/1210 Jwpnpuwinnp wgrnutyngalip (nbiwgbnutp) 9L hwin 40000 5 200.0
33691162/1211 |wpnpwinnp wgrwtymstp (nbwgbuntibp) QL huin 27500 8 220.0
33691162/1212 |Wpnpwwnnp wgnwnystip (nbwgbunttin) qg huwin 26700 15 400.5
33691162/1213 |wpnpwinhp wanwuniphbp (nbwgbunutn) L hwin 15750 2 31.5
336911621214 Jwpnpuinnp wanwiymipbp (nbwgbuntibp) G huin 25875 2 51.8
33691162/1215 (wpnpwinnp wgnwitynistip (nbwgbtntitp) Q< huin 20500 7 143.5
33691162/1216 |wpnpwinnp wanwiyniatip (nbwgbiinubn) aL huwwn 18370 15 275.6
33691162/1217 [wpnpwinnp wgnwlyniplp (nbwgbiiunubp) < hwwn 10125 4 40.5
33691162/1218 lwpnpuwitnnp wgnwigngabip (nbwgbunutp) QL hwin 43600 3 130.8
33691162/1219 |wpnpuinnp wanwlniehbp (nbwgblunltbp) G< hwwn 77400 1 77.4
33691162/1220 |wpnpwinnp wgnwitynysbp (nbugbuntibp) < huwin 50500 4 202.0
33691162/1221 [wpnpwinnp wgnwjniatip (nbwgbntbnp) 9L hwwn 40100 6 240.6
33691162/1222 |wpnpuwnnp wanwiyniebp (nbwgbuntbip) L hwn 133100 6 798.6
33691162/1223 Jwpnpuinnp wgnwunehp (nbwgbinutp) L hwitn 263400 6 1580.4
336911621224 |wpnpuinnp wanuwniphp (nbwgblnubn) 3L huin 329400 6 1976.4
33691162/1225 [wpnpuwinnp wanuwibynietp (nbwgliiintitp) 9L hwin 159900 16 2558.4
33691162/1226 |wpnpwwnnp wanwiynuatip (nbwgbitunuitp) Q< hwun 138600 3 1108.8
33691162/1227 lwpnpwinnp wgnwnyabn (nbwgbunutip) < hwn 120800 8 966.4
33691162/1228 |wpnpuitnnp wgnutjniehp (nbwgblnubp) 9L huwitn 124400 8 995.2
33691162/1229 Jwpnpuwinnp wgnwtynyatip (nbwgbntbp) QL huin 172400 72 12412.8
33691162/1230 [wpnpwwnnp wgnwynyatip (nbwgbtntbp) < hwiwn 15100 6 90.6
33691162/1231 |wpnpuwwnnp wgnwnysbp (nbwgbiiunutip) 9L hwn 24720 2 49.4
33691162/1232 |wpnpuwinnp wgnuwunyatip (nbwgbunutn) G< hn 22500 2 45.0
33691162/1233 wpnpwwnnp wgnutyniphip (hbwgbintbp) QL hwin 41550 10 415.5
33691162/1234 [wpnpwwnnp wanwiynyakip (nbwgbtunubp) GL hiuwn 66000 5 330.0
33691162/1235 |wpnpwnnp wgnwuniphp (nbwgtiinutin) 4L hwwn 38000 15 570.0
33691162/1236 lwpnpuwitnnp wgnwnyatip (nbwgblnukp) QL hwn 67000 1 67.0
33691162/1237 |wpnpuinnp wgnwuniphp (nbwgblnutn) <L hwin 115000 4 460.0
33691162/1238 |wpnpuinnp wgnwniehp (nbwgbilinttn) < hwwn 73000 8 584.0
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33691162/1239 (wpnpwinnp wgnwyniebp (nbwgblnutp) QL hwwn 250000 50 12500.0
33691162/1240 lwpnpwinhp wgnwnyskip (nbwgblinubin) 9L huwitn 100000 1 100.0
33691162/1241 Jwpnpwinnp wgnwniehp (nbwgblntbn) QL huin 58000 3 174.0
33691162/1242 Jwpnpwitinp wgnwlynebp (nbwgbtnubp) 9L huwn 58000 10 580.0
33691162/1244 |wpnpuwinnp wgnwiynyelip (nbwgbtunubp) < hwn 27000 8 216.0
33691162/1245 |wpnpwwnnp wgnwynysbp (nbwgbunutip) L hwn 40000 5 200.0
33691162/1246 |wpnpwinnp wgnwyniptbp (nbwgbunutn) 4L huwitn 103000 2 206.0
33691162/1247 [wpnpuinnn wanwlnyatip (ntugbtnubp) 9< huin 29000 12 348.0
33691162/1248 lwpnpuinnp wqrubynyabip (nbwghtinubp) QL huin 18000 40 720.0
33691162/1249 [wpnpuitnnp wgnuiyniabip (nbwgbtintp) 9< hwin 18000 40 720.0
33691162/1250 [wpnpunnp wguwynatip (nbwgbantitpg QL hwin 86000 4 344.0
33691162/1251 |wpnpwiinnp wgnwynatip (nbwgbnutp) Q< hiun 53000 7 371.0
33691162/1252 |wpnpuiinnp wgruwlnipbip (nbwgbunutin GL hun 77000 9 693.0
33691162/1253 |wpnpunnp wgnwbynesbp (nbwgblnttip) SL huwn 40000 9 360.0
33691162/1254 |wpnpwnnp wqnwiynystip (nbwgbinttn) <L hwn 20000 15 300.0
33691162/1255 Jwpnpiinnp wgnuityniphbp (nbwgblinubp) L huwwn 21000 6 126.0
33691162/1256 wpnpunanp wqnwlyniebp (nbwgbluntbp) Q< hwn 165000 3 495.0
3369116211257 [wpnpuwinnp wanwityniatip (nbiwgbtuntitp) GL huitn 89000 3 267.0
33691162/1258 [wpnpwnnp wanwynyatip (nbwgbibinttip) Q<L hwin 21000 4 84.0
33691162/1259 Jwpnpinnp wowgnptip (niwgbumutp) QL hun 36000 1 36.0
33691162/1260 Jwpnpuwinnp werwbyngatip (nbwgblimutp) G< hwin 67000 1 67.0
33691162/1261 |wpnpuinnp wgnwiyniebp (nbwgbiinubn) 4L huin 157000 2 314.0
33691162/1262 Jwpnpunnp wanwyniabp (nbwgblnlbp) q< hwn 170000 1 170.0
~ 33691162/1263 |wpnpwinnp wanwiynystip (nbwgbtintbp) L hwwn 22500 1 22.5
33691162/1264 |wpnpinnp wgnwiyniehbp (nbwgbtnbbp) Q<L hwn 40000 1 40.0
33691162/1265 lwpnpuwinnp wanwiyniphbp (nbwgbuntbp) G< hwin 131000 1 131.0
33691162/1266 wpnpuiinnp wanuwlynietip (nbwgbuntbip) G< huwiwn 11000 15 165.0
33691162/1267 |wpnpuwwnnp wgnuwiynystip (nbwgbiinibip) 9L hwwn 43000 2 86.0
33691162/1268 [wpnpuwnnp wgnwlynyabp (nbwgbintip) QL hwn 20000 60 1200.0
33691162/1269 Jwpnpwitnnp wgrwuniehp (nbwgbiunttin) Q< hwn 4000 60 240.0
336911621270 |wpnpuinnp wgnwnipbp (nbwgblnbn) G< huitn 6000 5 30.0
3369116211271 [wpnpunnp wgnwinyatp (nbwgbtinbibip) < huwn 8000 2 16.0
33691162/1272 [wpnpwinnp wgnwnipbp (nbwgblnttp) 9L hwn 17000 35 595.0
33691162/1273 lwpnpwitnnp wynwynyabp (ntiwgbumtn) QL hwwn 277000 1 277.0
33691420/677 Lwpnpuwinnp warwiymielip (nbwgluntbin) puguwndynuttun Q< (g 44100 1 14.1
33691420/678 (wpnpwennp wanugnatip (nbwglitinttp) pugiwlnduyntbu,n ag Inwljugy 21400 4 85.6
33691420/679 Lwpnpuwinnp warwbymiptin {nbiwgbunbp) pugdwlndwntbun Rle [nwlugy 47800 6 286.8
33691420/680 [wpnpwinp wqnwlyniatip (nbuwgbtnttip) pugqiwlndwyntbun q< [nwlwgd 42500 12 510.0
¢ [33691420/681 Lwpnpwnnp wanwyniphn (nbwgbinttp) puquwlndyntbbin QC [nwljuuged 21700 6 130.2
3 33691420/682 (wpnpuwinnp wanwtymptip (nbwgbtnbtbp) pugqduyndynubun 9L Inwiljugd 114900 8 919.2
?1 33691420/683 (Wpnpwnnp wnwiynypbp (nbwgbinubn) pwqiwlndynubun 9< [nwiljuegd 46875 4 187.5
'ie' 33691420/684 Lwpnpwiininp waruwbyniebp (nbwgbtnubn) pugdwyndwyntbn &< Inwljwqud 185200 8 1481.6
;. 33691420/685 (Wpnpwnnp wgnwiyniptn (nbwgbuntibp) pugiwyndynubun QL Inwlwqy 185200 8 1481.6
, 33691420/686 Lwpnpwwnnp warwtymptp (nbwgbtntbp) puguundynubun QL Inwljuqu 37500 8 300.0
33691420/687 lwpnpwnnp wqnutnptip (nlwgbiintbp) pugdwlnduntbunm QL [nwluqy 19568 22 430.5
33691420/688 lwpnpuinnp wanwiyniptp (nbwgbunlibn) pugdwindynubun Q< Inuwiljuqu 35250 2 70.5
33691420/689 (wpnpwnnp wanuwynipbp (nbwgbinubn) puqdwlndynubun q< Inwljwgd 270000 5 1350.0
33691420/690 (wpnpuinnp wanwtyniptip (nbiwghbtintbn) pugduwniynttium QL [l g f 22500 5 112.5
33691420/691 (wpnpunnn wgnwiynetin (nbiwgbibintibip) pugdulndynubum GL [Nl 57300 3 171.9
33691420/692 Lwpnpwiinnp warwyniphbn (nbwgblnubn) pwquwlndwyntbiun QL [nwiljgy 50600 3 151.8
33691420/693 (wpnpunnp wanwiyniptp (nGwgbbnlibp) pugduyndynubun < Inwlugtt 50600 3 151.8
33691420/694 wpnpuinnp wanwnipbp (nbwgbtnubp) puqiwlnduyntibn QL [nwiljugd 65600 40 2624.0
33691420/695 Lwpnpwinnp wanwiyniptp (nbwgblnlbn) pugiwyndynubtn &< (g 72500 3 7.5
33691420/696 (wpnpuwnnp wanuwniebp (nBwgbiiintibp) pugiwlndynubin Q< Inwlugy 72500 3 217.5
33691420/697 lwpnpuwnnp wanwtyniepbp (nbwgltnlbp) pugdwindynubtn Q< [wlug 72500 3 217.5
33691420/698 tupnpunnp wgruibyniatip (nBwgunubp) puguwlyndynubun < [nuiljwgd 52100 4 208.4
33691420/699 Lupnpuinnp wanwniptn (ntiwgbunutin) pwquwlndyntbtn Q< [nwiljgy 67500 2 135.0
33141211/700 pdalwlwl w) gnpdhpubp — wwipwawtin L huin 44000 | 44.0
33141211/701 pdalwlwl wy gnpdhplibip — wwpwguubip 9L huwiwn 261 1000 261.0

Crpanuua 12




o *.“-*'_i =

33141211/702 pdolwlwili wy gnpdhplbp — wwpwgwubp G hwin 21000 20 420.0
33141223/537 pd2bulwl wy gnpdhpubip — wwpwgwbp puqdwlndwntbn QL (wiljugd 45600 40 1824.0
33141223/538 pdalwlwt wy) gnpdhpubip - wwpwqwbp pugiwindwnubun Q< (Mg 46300 20 926.0
33141223/539 P2l wy| gnpdhpbip -~ wwpwqwibp pwqluyndunubun Q<L Inwljuqy 24400 2 48.8
33691160/559 phupwlwl wanwlyniptip (nbwgbtnttn) 9 hwtn 111600 40 4464.0
33691160/560 phubwlwt wgnwiynipbp (nbwgbtntbn) 9L hwitn 79200 40 3168.0
33691160/561 phubwlwl wgnwynpbp (nbwgbluntitp) QL huin 252000 40 10080.0
33691160/562 phibwlwl wgnwitnipbp (nbwgbunutp) 9< hwwn 131400 40 5256.0
33691160/563 phupwlwl wanwniphp (nhwgblnlbp) Q< hwitn 67500 2 135.0
33691160/564 phuhwlwl wgnwtyniptip (nbwgblntbn) 9< hwin 67500 2 135.0
33691160/565 phipwlwl wgnwynebp (nbwgklintibp) 9< huwin 283500 25 7087.5
33691160/566 phihwlwl wgnuwitynysbp (nbwgblintibn) q< huun 96300 2 192.6
33691160/567 phupwlwl wonwyniebp (niwgbunubp) QL huwin 96300 2 192.6
33691160/568 phuhwluil wanwtniptp (nbugbunutn) < huitn 239400 2 478.8
33691160/569 phdpwlwt wanwtynipbp (nbwgblntting 9< huin 490000 10 4900.0
33691160/570 phubwlwl wgnwynyabip (nbuwgblinibin) QL htn 75000 2 150.0
33691160/571 phuhwlwl wanwnipln (nbwghlnttin) QL hun 75000 2 150.0
33691162/1274 [wpnpuwnnp wgnwbynetp (nbwgblntbp) QL huwitn 64320 60 3859.2
33691162/1275 [wpnpwunn wgnwiynebp (nbwgblntbip) SL hwtn 46000 2 92.0
33691162/1276 \wpnpuwiinnp wanwniebn (nbwgbinubp) 9 huwiwn 55200 60 3312.0
336911621277 Jwpnpuinnp wgnwunipbp (hbwgbunubn) q< huwin 43600 2 87.2
3369116211278 |wipnpunnp wgnuwlynyatin (nbwgbitunlibip) < huwitn 118800 60 7128.0
3369116241279 [wpnpwunnn wanuwitgnyebip (nhwgbiinbtin) QL huin 121280 2 242.6
33691162/1280 [wpnpwnnp wynwniebip (nhwgliulip) QL huwiwn 92950 60 55/7.0
33691162/1281 lwpnpwitnnp wgnuunehip (nbiwgtiuinttip) 9L hun 58240 2 116.5
33691162/1282 Jwpnpwwnp wanwtymptp (nbwgbnttbn) QL hwn 69800 12 837.6
33691162/1283 |wpnpwwnnp wgnwtynyatip (nbwagblintbn) QL huin 24000 3 72.0
33691162/1284 |wpnpwinnp wgnwiynyatip (nbwgblnubp) L hwwn 98500 8 788.0
33691162/1285 Jwpnpwitnnp wgnwbnyabp (nbwgbuunutn) L huwitn 25600 2 51.2
33691162/1286 |wpnpuwinnp wanuwlnystin (nbwgbiuntp) 9L hin 84000 3 252.0
33691162/1287 lwpnpuinnp wanwtniehbp (nbwgblnubp) S< hwin 56560 2 113.1
33691162/1288 lwpnpuinnp wgnwitynatip (nbwgbiuntibp) S< huwin 84000 3 252.0
33691162/1309 Jwpnpwiinnp wghuwbynystip (nbwgbiiintibip) QL huwwn 53040 2 106.1
33691162/1310 |wpnpwinnp wanuwiynyebip (nbwgblnubp) gL hwin 71680 40 2867.2
33691162/1311 lwpnpwnnp wgnwniphp (nbwgbunutn) L hwn 24850 3 74.6
33691162/1312 |wpnpuinnp wanwunipkbp (nbwgbunubn) QL huwin 49840 2 99.7
33691162/1313 |wpnpuinnp wgnwtyniphp (nBwgbitintbn) QL hwin 24300 2 48.6
33691162/1314 |wpnpunnp wgnuilnyatip (nbwgbtuntibin) QL huwin 70800 2 141.6
33691162/1315 [wpnpwnnn wanwnyebip (ntiwgliinutip) Q< i 24300 2 48.6
33691162/1316 lwpnpwinnp wanwtniehp (nbwgbuntin) 9L huin 66880 3 200.6
336911621317 Jwpnpuinnp wgnutyniplip (nbwgbilintbn) G< hun 23680 2 47.4
'33691162/1318 |wpnpwnnp wgnuwibnyatip (nbwgbiuntibin) qc huwiun 46800 8 374.4
33691162/1319 |wpnpwiinnp wgnwunyatp (nbwgbunutin) L huwin 24600 2 49.2
33691162/1320 lwpnpuitnnp wgnwijnystp (nbwgblnutn) L huwin 54240 2 108.5
33691162/1321 |wpnpuinnp wanwlynipbp (nbwgbunubn) QL hwtn 24600 2 49.2
33691162/1322 |wpnpuinnp wgnuwtynyebip (nbwgblintbn) a< huin 14240 2 28.5
33691162/1323 {wpnpwinnp wgnwingatin (nbwgbunmtip) < huin 5400 15 81.0
33691162/1324 lwpnpuitnnp wgnubnyabip (nbwgbinutin) 9L i 225000 8 1800.0
33691162/1325 wpnpuwinng wgrnwbyngalip (nbiwglitunttip) 4L hiutn 26500 2 53.0
33691162/1326 [wipnpwinnp wgnwtyngatip (nbiwglituntitip) O£ huin 59760 2 119.5
33691162/1327 |wpnpwwnnp wgnwnyetip (ntwgliiubtin 9< huwin 349200 5 1746.0
33691162/1328 |wpnpusnnp wgnwiyniphbn (nbwgbinubp) < huwin 36800 6 220.8
33691162/1329 |wpnpwinnp wgnwnipbp (nbwgblnubp) < hwin 81440 3 244.3
33691162/1330 Jwpnpuiinnp wgnutynipbp (nbwgbiintibn) 9L hunn 24800 2 49.6
33691162/1331 |wpnpuwinnp wgnwiynyatip (nbwgbtinlbp) QL hwwn 25280 2 50.6
33691162/1332 |wpnpwwnp wgnwbnipbp (ntwgblmubip) 9L hutn 216554 20 43311
33691162/1333 |wpnpwinnp wgnwunipbp (nbwgblnubn) QL hiutn 264410 20 5788.2
33691162/1334 |wpnpuinnp wgnwlynietip (nbwgbntbn) QL hwin 357000 20 7140.0
33691162/1335 Jwipnpuinnn wgnwgnyatip (nbwgbilnllbip) G huwun 239198 20 4784.0
33691400/563 phipwlhwt wanwyniptp (nbugbtuntibp) pugqduyndynubun 4L [nuulugqu 96300 2 192.6
33691400/564 phihwlw wanuitynebp (nbwgbunttin) pugquwlndyntibn G< Inwluwqud 96300 2 192.6
33691400/565 phuhwlwt wanulyniabn (nbwgbtnlibn) puguwyndunut, QL hwljugd 108000 2 216.0
33691400/566 phuhlwy wanwljnipbin (ntwgbtnbtin) puquwynuiynttin QL (nuiljuigy 96300 2 192.6
33691400/567 phuhwlwl wanuwlyniebp (nbwgblunubp) pwqdwlndwnubun < Inwljwgd 121500 2 243.0
33691400/568 phidhwlwl wgnwiyniplp (nbwgbntibn) puquwlndyntbun QL [nutbug 121500 2 243.0
33691400/569 phipluwt wanwtymppbp (nbugbtntbn) pugiwndwyntbn L Inwlugy 106200 12 1274.4
33691400/570 phihwlwl wgnwlynipbp (nbwgbntibip) pugdwlndyntbiun QL [wiljugLf 45630 12 547.6
33691400/571 phuhuwljuwt wanuwtynyetip (hbwgbunibn) puqiwlyndynutun q< Wl 139500 25 3487.5
33691400/572 phuhwlwl wgnwiynipbip (nbwgbkntbin) puquwlndyntbln q< [nwiljuug 50000 6 300.0
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33691400/573 phipwlwl wgnwynipbp (nbwgbuntbp) pugdwlndynubun Qg Inwibjuqu 95400 25 2385.0
33691420/700 |wpnpwnnp wanwtynyetip (nbwgbtntbn) pugqiwlyndynutun 9L by 26800 40 1072.0
33691420/701 |wpnpwwnp wanwiynyatip (nbwgbtintbp) pugiwyndwnubun QL nwlwgy 26800 40 1072.0
33691420/702 |wpnpwnnp wgnwynyetin (nbwgblinubp) puguwyndynutiun 4< (nwiljway 17120 1 17.1
33691420/703 lwpnpuwinnp warwtynipbp (nbwgblnubn) pugiwindwntbin Q< [nwljuqg 59760 2 119.5
33691420/704 lwpnpwinnp wanubyniebn (nbwgblinubn) pugqdwyndwynubun < Inwlwaqy 174640 2 349.3
33691420/705 (wpnpwnnp wonwignetin (nbwgbtnutp) pugiwynduntbun q< [nwljugy 119520 2 239.0
33141211/703 pdolwlut wy gnpdhplbin — wwpuwgquitibp Q<L hwtn 80000 1 80.0
33141211/704 pdolwiliwi w)) gnpdhpubip — wwipwguwbnp < huwin 1230000 1 1230.0
33141211/705 pdaluwluits wy) gnpdhpubip — wwpwgwbn 3L hwin 215000 1 215.0
33141211/706 pdalwljuit wy gnpdhpubp — wwpwgwubp L hwwn 215000 1 215.0
331 211/707 pdawlw wy gnpdhpubip — wwpwgwubip YL huwin 90000 1 90.0
33141211/708 pdolwliwt wy gnpdhplitip — wwpwgwlbp qd hustn 69000 1 69.0
33141211/709 paolywljut wy gnpdhplbip — wwipuwgquitibp YL hwitn 13000 1 13.0
33141223/540 pdawljwt wy gnpdhpubip — wwpwguubp pugduymndynubin QL Inwilugd 960000 18 17280.0
33141223/541 pdalwljwts wy gnpdhpubip - wWwpwawbp pugdwlyndynubun 4L [Pwlugu 103122 2 206.2
33141223/542 pdalwljwt wy gnpdhptibip - wwpwqubp pwgdwlndynubtin q< [nwiljugy 108528 2 2171
33141223/544 pdaywljut wy gnpdhpubip — wwpugquitbp pugiwyndwnubiun QL (gl 60000 2 120.0
33691162/1336 Jwpnpwinnn wanwitynyatin (nbwgliunubn) S< huwin 38000 3 114.0
33691162/1337 |wpnpwwnnp wgrwtynyabp (nbwgbiintibp) G huin 87700 1 87.7
33691162/1338 Jwpnpwwnnp wgrwlynyabp (nbwgblntibp) <L hwn 24000 1 24.0
33691400/574 phihwlwl wgnwlynystip (nbwgbtinubin) pwquwyndynubun 9L Inwluqd 190000 3 570.0
33691400/575 phihwlwl wgnuiynyatip (nbwgbiunbtp) pugdwyndynubun S< [l 95000 3 285.0
33691400/576 phipwlwt wonwtynipbp (nbwgblnubp) puquwlndyntitn QL g 77400 ? 10;?1
33691400/577 phuhwlwt wanwlynyebip (nbwgbunubn) pwqdwlyndwnutun G< [nwluqy 37300 ? ;702
33691400/578 phihwlwi wanwynipbp (nbwgblntbp) puguwlndynubun QL [nwlgy 8 0.0
33691400/579 phihwlwl wanwynipbp (nbwgbUnttn) pugiwyndynubun G< Inwljuqu 115000 4 460.0
33691400/580 phupwlwu wanwiympbp (nbwgbunlbn) puquuwyndyntbn 4L Inwlugd I 0.0
3 0.0
33691400/5 Ui u tip (nb i <
/581 phipwlwt wanuiynipbp (nbwgbtnttbp) puqiulndynubun G [wljugd 53000 - 530
33691400/582 phuhwlwl wanuiynipbin (nbiwgbunutn) pwquwyndunttbtin 9L [Py 1 0.0
33691400/583 phuhwlwl wanwlynipbp (nbwgblnubn) puqdulyndynubun < Inwlwugd 1 0.0
33691400/584 phihwlwl wanwynpbp (nbwgbunbbp) pugqiuyndynubun Q< [wljuugd 10 0.0
33691400/585 phdpwlwt woanwigngebin (nbwgbtinbbp) pugiwlnduyntibun q< Il 446000 4 1784.0
33691400/586 phupwlwi wanwtympbp (nbwgbunlbn) pugdwindwnttn < Nl 189000 1 189.0
33691400/587 phupwlwl wanwnyabp (nbwgblntbp) pugduyndynubun qc [nwiljuq 145000 1 145.0
' 33691400/588 phipwlwl wonwympbp (nhwgbtnubp) puqiwlnduntibun < (nwywigu 145000 1 145.0
33691400/589 phuihwlpuwt wgnunipbn {(nbwgbbntbn) puguwynduynubion L nubjugy 1 0.0
33691400/590 phuhwlw wanuwtynyetip (nbwgbtinubin) puquwlyndyntubun q< [nwiljgyl 141000 1 141.0
33691400/591 phuhwywt wgnwiynyetin (nbwgbuntbn) puguwlndyntbn Q< [nuljugd 150000 1 150.0
33691400/592 phihwlwl wgnwiyniplp (nbwgbuntbp) pugiwlndynubun Q< (nwlwgd 205000 1 205.0
33691400/593 phuhwlut wgnwuyniebn (nBwgbuntbp) puguwndunutitm G Nwlugd 180000 1 180.0
33691400/594 phupwlwi wonwtympbp (nbwgbtnutp) pugduyndynibun Q< [l 341000 10 3410.0
33691400/595 phdhwlwu wanwunptn (nbwgbinutp) puqiwlndwnubun G< (nwljwgd 290000 2 580.0
33691400/596 phipwlwt wgnwlynipbp (nbwgbunubp) puqiwlniwyntibun qL Inwljuqu 33800 50 1690.0
33691400/597 phipwhwt wanwlymiptp (nbwgblnlbn) pugdwyndynutn G (nwiljugd 32500 2 65.0
33691400/598 phipwlwl wgnwinphp (ntwgbuntitp) puqiwlndynttium QL [l 88000 2 176.0
33691400/599 phuhwljwl wanutynipbp (nbwgbinbbp) pugdwlndynttion 9L Inwljwqu 32500 2 65.0
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33691423/502 (wpnpwnnp wanwnipbp (nbwgbuntitip) pugdwlndyntbun QL [nwluqy 36852 14 515.9
33691423/503 lwpnpuwinnn warutgnipbp (nbwgbuntbn) puguwlniyntibiu QL [nwljug 40935 16 655.0
33691423/504 lwpnpwinnp wanwyniehp (nbwgbunubp) puqiwlndynibun Qg Inwljwgy 71400 20 1428.0
33691423/505 [Wpnpwinnp wgnwljniptip (nGwgbtntbn) puqdwlmiynubu, 9< Inwljgd 91188 8 1641.4
33691423/506 (wpnpwnnp wanwbynatip (nbwgbnbbn pugqiwyndynubun 9 [nwljuqd 76500 24 1836.0
33691423/507 (Wpnpwinnp wqnwnyabp (nbwgblnubp) puqdwlndwnubn QL [nwljgd 121992 24 2927.8
33691423/508 wpnpuinnp wanwnypbin (nbuwgbunubn) puaquwyndwnttun &< Inwljuqd 44000 2 88.0
33691423/509 wpnpwnnp wanwiynebp (nbwgbtntibp) pugiwyniynubun q< Inwlwqd 30000 5 150.0
33691423/510 |wpnpwwnnp wgnwtynystin (nbwgbinutn) pwuquwlniyntubtin QL [nljlugd 255000 7 1785.0
33691423/51 Lwpnpunnp warwbymptip (nbwgbuntbn) pugduyndynutim Q< [Ny 140000 - 980.0
33691423/512 (wpnpwnnp wanwiynyatip (nbwgbbntibp) puglwhndynubun 9L Inwlwqd 140000 5 700.0
33691423/513 lwpnpwinnp wanwunipbin (nbwgblnutn) puwqiwlndunubn q< |uljugu 85000 3 255.0
33691423/514 {wpnpuwitnnp warwtyniatip (nbwgbumbtin) pwgiwlndunubiin QL [nwiljug 265000 3 795.0
33691423/515 (wpnpwwnp warwiyniptp (nbwgbntbn) pugwyndynubun QL Inwluq 260000 16 4160.0
33691423/516 (wpnpwinnp wanwtyniptp (nbwgbiuntitip) pugiwlndyntbln 9< [nwilyugd 189000 24 4536.0
33691423/517 lwpnpwwnn wanwniphbp (nbwgbunubp) puguwyndyntttun QL (Mg 345000 8 2760.0
33691423/518 wpnpwinnp wanwtnyebp (nbwgblunubn) puqiwndwnubln 4L Inwljuqu 85000 3 255.0
33691423/519 (wpnpunnp wanwiyniptp (nbwgbtntibp) pugiwlyndynubn YL nwluicd 590000 5 2950.0
33691423/520 (wpnpwnnp wanwiynbip (nbwgbunutip) pugiulnduynubum Qg [ntubjugd 93000 3 279.0
33691423/521 Lwpnpwnnp wanwtymiptp (nbwgblnlbp) puquwlndyntblon QL (g 150000 4 600.0
33691423/522 [wpnpwwnp wgnwyniatip (nBwgbtinlibp) puguuyndynubun q< Inwlway 627000 20 12540.0
33691423/523 |wpnpuwnnn wgnuiynebip (nbwgbunbp) puqiwlnduynubtin q< Nl 300000 4 1200.0
33691423/524 |wpnpwinnp wgnwunetip (nbwgbunubn) pugwlndunutitn QL [ntulyuag 258000 6 1548.0
33691423/525 (wpnpuwinnp warwtynietip (nbwgbunlbn) pugduniynubun G< Inwljuq 890000 4 3560.0
33691423/526 (wpnpwwnnp wanuwjniebp (nbwgbintbp) pugdwyndwnubun q< Inwljwqy 445000 5 2225.0
33691423/527 Lwpnpuwinnp wanwgniptin (nbwgbunubp) puquwlndwyntibin < [nuilugd 225000 1 225.0
33691423/528 (wipnpuinnp wanwyniptp (nbwgbbnlbn) puguundynitun QL Inwljuqd 215000 3 645.0
33691423/529 |wpnpwnnp wanwiynyebip (nbwgbunubp) pugdulyndunubum 2 8 [nuljgyd 122298 1 122.3
33691423/530 |wpnpuwinnn wanwgmpbp (nbwgbnubn) puguwlndynuto; G (g 108528 2 171
33691423/531 Lwpnpuwnnp wanwiyniptp (nBwgbtnlbp) puguwyndynubun q< [Pwilwgd 1800000 1 1800.0
24311129/501 quiiwquil wuopgquiwlwl phdhwlwl Unipbn QL qpud 20 1000 20.0
24311129/502 quitiquit wuonpguitiwljut phupwlwl Wnyatip QL qpwd 90 160 14.4
24311129/503 qubwgqul wopguitinulwt phupwljw Wnuyskin 9L qpuwd 15000 20 300.0
33681160/573 phupwlwl wgnwujnyebn (ntiwgbunubip) G< hwitn 45900 80 3672.0
33691160/574 phupwlwl wgnwynisbp (nbwgblnubp) G hwn 151200 22 3326.4
33691160/575 phuhwlwl wanwlynysbip (nbwgblnlbn) q< hwin 30240 22 665.3
33691160/576 phupwlwl wnwtymptp (nbwgkuntibn) GL hwn 129600 20 2592.0
33681160/577 phuhwlwl wanwlniptn (nbwugbntlbn) q< hwin 45900 154 7068.6
33691160/578 phdpwlwl wgnwunyetip (ntiwgbuinutip) QL hwn 22100 100 2210.0
33691160/579 phupwljwt wqnuiiniplip (nbwgbnutin) QL huin 22000 10 220.0
33691160/580 phupwlwl wgnwiynielip (ntiwgbumutip) QL huin 21600 100 2160.0
33691160/583 phupwlwl wanwiyniptbp (nbwgbunttin) QL hwwn 12996 15 194.9
33691160/584 phdpwlwl wgnwiynyabip (nbugbinttn) 9L hwtn 340 30 10.2
33691160/585 phuhwywl wanwiynyebin (nbuigbunttn) a< hwtn 44700 40 1788.0
33691160/586 phihwlwl wgnuunipbp (nbwgblnutp) G huww 76400 40 3056.0
33691160/587 phupwlwl wgnwlniphp (nbwgbunttin) QL hwin 44500 20 890.0
33691160/588 phupwlwl worwlnipbp (nbwgklunttn) QL hwn 39200 10 392.0
33691160/589 phipwhwl wanwynyatp (nbwgblintitip) QL hitn 42480 1 42.5
33691160/590 phipwlwl wanuwynypbp (nbwgbiintbp) QL hin 248400 2 496.8
33691160/591 phuhwlwl wanwbynipbp (nbwgbtnttn) q< huwin 25920 30 777.6
33691160/592 phuhwlwt wanwniehin (nEwghtntbn) 9 hwu 51840 3 155.5
33691160/594 phupwyw wgnwlyniptp (nbwgbunttp) < hwn 70000 2 140.0
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33691160/595 phuhwlwl wanwiynipbp (nbwgbunubn) q< huwin 762300 2 1524.6
33691160/596 phupwlwl wgnwlynistp (nbwgblnutp) GL hwn 59200 1 59.2
33691160/598 phupwlw warpwiynipbp (nbwgblunttp) QL hiuwn 93000 45 4185.0
33691160/599 phupwlwl wanwitymptp (nbwgbnttp) QL hiuwn 54000 8 432.0
33691160/600 phupwlwl wgnwunpbp (nbwgbunubp) 4L huwin 27000 156 4212.0
33691160/601 phihwlwl wgnwuniplin (nbwgbunutn) 9 hwin 642000 2 1284.0
33691160/602 phubwlul wanunipbn (nbwgbultn) Y3 hwn 184800 5 924.0
33691160/603 phubwlwt wynwlynyetp (nbwgbuwnubn) QL hiuwn 184800 5 924.0
33691160/604 phupwlwt wgnwbynatbp (nbwgbitnttn) QL hin 47345 30 1420.4
33691160/605 phihwlwl wgnwynyabp (nbwgbumubnp) QL huin 51561 25 1289.0
33691160/606 phuhwlwl wnwbynipbp (nbwgblnubp) b hwwn 51561 10 515.6
33691160/607 phdhwlwl wgnulbniptip (nwqbunutin) QL huin 212290 9 1910.6
33691160/608 phuhwlwl wgnwtynypbp (nbwgklnubn) 9 huwitn 12155 2 24.3
33691160/609 phupwlwl wgnwiyniptp (nbwgblnttn) GL huwin 67150 2 134.3
33691400/600 phihwlwl wgnwniptp (nbwgbtinubng puqiwynduyntibtin 9< Inwljwqu 162000 15 2430.0
33691400/601 Phuhwlwl wanwlynipbip (nbwgblnltn) puguwyndwnuttn Qg (nwljwga 97200 15 1458.0
33691400/602 phihwlwt wanwynyabp (nbwgbunttin) pwgiulnduntibtn Q< Inwiljuiqd 486000 15 7290.0
33691400/603 phuhwlwl wanuyniebip (nbwgblnubp) pwgdwlndwnubun < [nwlwqd 270000 18 4860.0
33691400/604 phihwlwt wanwlynyatip (nbwgbtintbn) pwqiulndunubun QL [nwiljug 129600 12 1655.2
33691400/607 phihwlwt wanuynyebip (nbwqbtnutp) pwquwlndynublin < Inwiljuqd 25000 1 25.0
33691400/608 phuhuwluwt wanuwtynystip (nbwgbunubn) pwqdwlndynttun q< [nwljugyd 53040 1 53.0
33691400/609 phihwlwl wanwiynyelip (nbwgbtintibn) puquwlndyntbun Q< (g 53040 1 53.0
33691400/610 phuhuwlwl wanutynyebip (nbwgblnubp) pwqiuyndynubun Q< Inuiljwgy 53040 1 53.0
33691400/611 phuhuwljwt wanuwtynyetip (nbwgbtintbp) pwqdwlndyntbun G< [nwiljwqd 50000 4 200.0
33691400/612 phihwlwt wanwlynpbp (nbwgbtnutin) pugdulnduntibn Q< [Pwljwgu 36000 4 144.0
33691400/613 phihwlwl wanuynysbp (nbwgblunubp) puqiwlndynutun < Inwljuqy 387000 2 774.0
33691400/614 phuhwlwl wgnwtynystip (nbwgbtintbn) pwquwlndwyntibiin Q< (g 78000 4 312.0
33691400/615 phihwlwl wanuwiynyebin (nbwgbtntbp) pwgdwlndyntbin QL Inwiljuqd 78000 4 312.0
33691400/616 phuhwlw wgnuwtynyatip (nEwgklntbin) pwqwlndwnubun QL [nuulugu 114000 4 456.0
33691400/617 phuhwlwl wanwiynystin (nbwgbunubp) pwquwlynduntttn QL Inwilwgd 114000 4 456.0
33691400/618 phuhwlwl wgnwlyniptp (hbwgblntbn) pwqdwlyndwntubun Q< |nuljgd 240000 3 720.0
33691400/619 phihwlwl wanwiunystin (nbwgbinutin) puquulnduyntbtin QL Inwljuqd 600000 1 600.0
33691400/620 phuhwlwt wanwtyniptip (nbwgbunttn) pugdulndynttun < [l 270000 3 810.0
33691400/621 phuhwlwl wanwynyetin (nbwqbunbitip) puquwyndynttitin G< Inwbjuqud 210000 1 210.0
33691400/622 phuhwljwl wanwlynystip (nbwgblnubn) pwqdwlndynubiun Q< Inwlqy 16500 1 16.5
33691400/623 phihwlwl wanwlynyabp (nbwgbtntbp) pugqdulnduntibu,n < Inwlugd 51000 1 51.0
33691400/624 phuhwljwt wanwiynyeln (nbwgblnutn) puqiwyndynubiun a< Pl 73920 3 221.8
33691400/625 phipuwywt wanwympbp (nbwgbnlbp) pugdwyndynubiun Q< [nwljugu 85000 1 85.0
33691410/503 phupwlwl wgnwiynyabip (nbwgbtnutn) hinny G< [hwnp 19900 7 139.3
33691410/504 phuhwlwl wgnwiynypbp (nbwgblnubp) hanndy G< [hwp 1780 10 17.8
33691410/505 phupwlwt wonwlynipbp (nbwgblintbp) hinnd G hunp 2500 2 5.0
33691410/506 phupwhwl wgnwyniatip (nbuwgbunlbin) htinnd QL Lhunp 3500 1 3.5
33691410/508 phupwlwl wanwynipbp (nbwabitintbin) hinniy GL {hnp 1698 10 17.0
33691160/501 phuhwljwl wgnwneln (nbwgbunubp) QL huin 170100 1 170.1
33691160/502 phupwlw wgnwyniepbp (nbwgbuntp) q< hwwn 105900 7 741.3
33691160/503 phupwlwt warwlyniptp (nbwgklnltn) L hwn 708000 2 1416.0
33691160/504 phuhwlwl wanwniptp (nbwgbkntibn) q< huwin 147800 2 295.6
33691160/610 phuhwlwl wgnwunystbin (nbwgbtunutip) qc huwitn 162000 5 810.0
33691160/611 phupwljwt wgnuwingatip (ntwgbiuunutin) QL huin 205400 3 616.2
33691160/612 phupuwlwl warwtymiptp (nbwgbunttn) 9L hun 141000 3 423.0
33691160/613 phubwlwl wgnuwiynyatp (nbwgbiintitip) 4L hwin 18000 4 72.0
33691160/614 phdhwlwu wanwiynipbn (nbwagbiunttn) G hiwn 220000 12 2640.0
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33691160/615 phdhwlwu wanwunipbn (nbwgbluubn) 9L hwwn 39000 40 1560.0
33691160/616 phupwlwl wanwyniptn (nbhwgbunubn) G< hwwn 225000 4 900.0
33691160/617 phupwlwu wgnwynipbp (nbwgblntbp) 9L hwn 36000 20 720.0
33691160/618 phdpwlw warwlmnipbp (nbwgblunttn) QL hwn 137700 1 137.7
33691160/619 phupwlwi wanwtympbp (nbwgbtnbibp) QL hwtn 60000 3 180.0
33691160/620 phipwlwl wgnuwiynypbp (nbuwgbluntitp) G< huin 60000 ] 180.0
33691160/621 phuhwlwl wqnwupnipbp (nbwgblnutp) G huin 495000 3 1485.0
33691160/622 phihwlwl wgnwynyabp (nbwgbunubn) QL hwwn 480000 2 960.0
33691160/623 phupwiwt wonwiyniplip (nbwgbtinttin) QL hwn 415000 2 830.0
33691160/624 phupwyw wqnwuyniptp (nbwgblnutn) 9L huin 414000 2 828.0
33691160/625 phupwlywl wgnwtynyetip (nbwgbtntbin) G huwin 414000 2 828.0
33691160/626 phipwlwl wanwiynebp (nbwgbtntbp) G< huin 415000 2 830.0
33691160/627 phihwljwl wgnwiynipbn (nbwgbunubp) QL huin 485000 2 970.0
33691160/628 phupwlwl wonwtyniepbp (nbwgbunutbp) L hwwn 415000 2 830.0
33691160/629 phuhwlwy wanwlyniptip (nbwgbtinutp) 9L hwin 415000 2 830.0
33691160/630 phubwlhwl wgnwiyniptip (nbiwgbntin) L huin 415000 2 830.0
33691160/631 phupwlwl wanwnyatip (nbwgbtnttip) G hiutn 525000 2 1050.0
33691160/632 phupwlwl wonwynipbp (nbwgbunutip) G< huin 485000 2 970.0
33691160/633 phihwlwl wgnulyniptbp (nbwgbunubp) L hwun 415000 2 830.0
33691160/634 phipulwl wgnwlynipbp (nbwghunltp) Q<L hwin 415000 2 830.0
33691160/635 phuhwljwt wgnwlyniphp (nbwgbunubn) < hwin 445000 2 890.0
33691160/636 phupwiljwl wanwyniatip (nbwgtktntbn) qc hutn 415000 2 830.0
33691160/637 phupwlwl wanwnyebp (nbwgbinutn) Q< huwin 54000 8 432.0
33691160/638 phupwlwl wonwyniebp (nbwgbunubp) QL huwin 165600 2 331.2
33691160/639 phhwlul wonwlynietp (nbwghlinttp) q< hwin 13000 8 104.0
33691160/640 phuhwlwl wanwlyniebn (nbwgblntn) qc huwn 66000 2 132.0
33691160/641 phupwlhwl wgnwynebp (nbwgbuntibng QL huwin 22500 12 270.0
33691160/642 phuhwlwl wanwlynipbp (nbuwgblntitp) 4L huun 55000 2 110.0
33691160/643 phupwlwt wgnwnyetip (ntiwgbumutin) QL hwin 152200 7/ 1065.4
33691160/644 phuhwljwt wonwtnyebn (nbwgbtnutp) L huwin 490000 1 490.0
33691160/645 phupwlw wgnpwlymptbp (nbwgbnttp) G hwwn 410000 1 410.0
33691160/646 phupwlwt wanwlynyetip (nbwgblnttn) 9L hwin 410000 1 410.0
33691160/647 phupwlwl wgnwiynyabp (nbwgbuntbp) L hwn 410000 1 410.0
33691160/648 phuhwljwl wgnwiynypbp (nbwgbiunutn) QL huiwn 410000 1 410.0
33691160/649 phuhwljwl wgruiymipbp (ntiwgbunttn) Q< huin 410000 1 410.0
33691160/650 phdpwhwl wgnwtympbip (nbwgltnttin) 9L huwin 15000 12 180.0
33691160/651 phupwlwl wqrwiynatip (nbwgbiintibip) QL huin 15000 12 180.0
33691160/652 phipwlwl wanwlynipbp (nbwgbitunbtp) S< huwin 120000 3 360.0
33691160/654 phuhwlwl wgnwiynipbn (nbwgbnubn) Q< huwiwn 18400 6 110.4
33691160/655 phihwlwt wgnwnipbn (nbwgbunlbn) YL hwwn 30000 3 90.0
33691160/663 phuhwlwl wgnwlynipbp (nbwgkuwnubn) Q< hwin 360000 6 2160.0
33691160/664 phupwlwl wanwiymptp (nbwegblntibp) QL hwin 86600 1 86.6
33691160/665 phuhwhwl wanuwnphp (ntugbintin) QL huwin 90000 1 90.0
33691162/501 |Wpnpwinnp wgrwitynyabip (nbwgbituntbn) Q< huwiwn 143100 3 429.3
33691162/502 Lwpnpunnp wanwiyniatp (nbwgbtntitp) AL huwwn 114000 3 342.0
33691162/503 (Wpnpwnnp wanuwiynyestip (nbwgliinutin) G huwn 124200 3 372.6
33691162/504 [wpnpwinnp wanwuniphp (nbwgbUnutn) QL hwwn 435000 10 4350.0
33691162/505 |wpnpuwinnp wgruwlynyabip (nbwgblmubn) G< huwin 183600 10 1836.0
33691162/506 [wpnpwnnp wanwiymptn (nbwgbunbibn) GL huwin 42600 3 127.8
33691162/507 wpnpwinnp wanwiynyatin (nbwgbitnntibn) G huwin 39200 4 156.8
33691162/508 |wpnpwinnp wgnwiniebp (nbwgbunubn) L huin 684000 10 6840.0
33691162/509 lwpnpuinnp wonwnehp (nbwgbtinubn) QL hwtn 190400 4 761.6
33691162/510 (wipnpunnp wgrwynabip (nbiwgliintbp) QL hwin 699000 3 2097.0
33691162/511 [Wwpnpwnnp wqnuwtynyatip (nbwgbitintibin) 9L hwwn 699000 3 2097.0
33691162/512 |wWpnpuwwnnp wgnwynipbp (nbwgbunutip) < hwwn 300000 3 900.0
33691162/513 {wpnpwinnp wgnwiniphp (nbwgbunutp) QL hwun 199800 10 1998.0
33691162/514 lwpnpwinnp wgrutyngatip (nbiwgbtnttbp) QL hwin 197100 2 394.2
33691162/515 |wpnpuwnnp wgnwlymptp (nbwgbituntibp) L huin 174800 1 174.8
33691162/516 [wpnpwwnnp wgntgnyatip (ntiwgbitntitin) 4C hwin 143100 6 858.6
33691162/517 |wpnpwwnp wgnwiniebip (ntiwgbunmtbp) 4L hun 206600 3 619.8
33691162/518 \wpnpwitnhp wanuwlgngatip (nbwgbumbp) < hwn 108350 8 866.8
33691162/519 (wpnpiinnp wgnwlyniebp (nbwgblntbp) L huwin 180900 4 723.6
33691162/520 wpnpwiwnnp wgnutyniphp (nbwgbiiintibn) G huwwn 52000 2 104.0
33691162/521 [wpnpuiwnp wgnwiynyatin (nbwgbiiinntbin) G< hwwn 330000 2 660.0
33691162/522 |wpnpwnnp wgruyniplin (nbwgbnttip) 9L hun 190400 6 1142.4
33691162/523 lwpnpwinnp wanwniphp (nbwgbunutn) QL hiun 126000 ] 756.0
33691162/524 |wpnpwiinnp wgnwtynyatin (nbwgliinttip) G huwin 193800 8 1550.4
33691162/525 |wpnpwunnp wgnuwiynyatin (nbwgbtintitip) G hwwn 206600 6 1239.6
33691162/526 |wpnpwwnp wgnwtgniphbp (nbwgbnutip) < hwun 130900 6 785.4
33691162/527 |wipnpwinhp wgnwuniyehin (nbwgblwnubp) QL hwn 197100 5 985.5
33691162/528 {wpnpuwitnnp wgnwityngstip (nbwgblmtp) QL hwin 189000 a 567.0
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33691162/529 lwpnpwwnnp wanwinyebp (nbwgbunutip) Q< hwtn 143100 10 1431.0
33691162/530 [wpnpwinnp wgnwuniehp (nbwgbunutn) qL huin 128900 2 257.8
33691162/531 lwpnpwitnnp wqrlgnigekip (nbwgbtinubp) QL hin 345000 10 3450.0
33691162/532 |Wpnpwinnp wgnwiyniebip (nhwgbbntbnp) Q< huwiwn 136400 10 1364.0
33691162/533 |wpnpwnnp wqnwiynuabin (nbwgbitnnubip) Q< hwin 124200 10 1242.0
133691162/534 |wpnpwnnp wanwynyetp (nBwgbunutn) g€ huwin 155900 10 1559.0
33691162/535 (wpnpwinnp wgqnwbjniplip (nbwgtlntin) q¢ huitn 138000 16 2208.0
33691162/536 lwpnpwinnp wgrwijnystin (nbwgbtnttn) G< hwin 39200 10 392.0
33691162/537 lwpnpuwitnnp wgnwlynystin (nbwgbtintbin) 9L huwitn 540000 2 1080.0
33691162/538 |wpnpwwnnp wanwiynabp (nbwgbtintbn) L hwiwn 141800 2 283.6
33691162/539 |wpnpwwnnp wgnwynyabip (nbwgbntibip) Q< hwn 145000 8 1160.0
33691162/540 [wWpnpwwnp wynwlyniebin (ntiwgbiunutip) G< huin 111400 8 891.2
33691162/541 lWpnpwinhp wgnwijnyatp (nbwgblntbp) Q< huiin 187700 8 1501.6
33691162/542 Lwpnpunnp wanwyniptip (nBwgblnttbn) qC hwun 147200 8 1177.6
33691162/543 |Wpnpwwnnp wqnwynysbp (nbwgbntbn) QL hwn 144000 8 1152.0
33691162/544 [wpnpwwnnp wanwnypbip (nbwgbunubin) QL hwn 168000 5 840.0
33691162/545 lwpnpuwinnn wanwtynietip (ntiwgbunltp) QL hiun 157900 5 789.5
33691162/546 Lwpnpwinnp wanuwbjniplip (nbwgbntbp) L huwin 126000 3 378.0
33691162/547 (wpnpwwinp wgnutgnietip (ntiwgbitinttin) k8 hwn 11000 12 1332.0
33691162/573 lwpnpwnhp wynwiynpbp (nbwgbiunutp) QL hwwn 178200 5 891.0
33691162/574 Lwpnpwiininp wgrwlyniyebp (nbugbunubn) QL huwwn 150000 8 1200.0
33691162/575 |wpnpwinnp wanwniphp (nbwgbUnbn) QL hwin 159900 2 319.8
33691162/590 wpnpwinnp wgnwiynyastin (nbugbtunubn) 9L huwwn 58000 3 174.0
33691162/654 wpnpuwwnnp wgnwyniatip (nbwgbuinubip) G huwin 64000 3 192.0
33691162/666 lwpnpuwinnp wgnwiyngatin (ntwgtiinbbip) < huin 155900 3 A467.7
33691162/713 [wpnpuwiinnp wgnwnyatip {nbwgbtumbip) QL hiun 148500 3 445.5
1

33691400/501 phdhwlwl wynuyniptn (nbiwgbtntip) pwgduwlndunubtn Q< by 174000 4 696.0
33691400/502 phuhwlwy wanulynipbp (nbwgbtntbn) puquwynduntbtn < [nwlwqy 85000 3 255.0
33691400/503 phuhuwlw wanuitynystip (nbwgbitnubin) pwguwlyndyntbun 9< [nwiljugy 195000 2 390.0
33691420/501 Lwipnpuwnnp warwympetp (nGwgbintbn) puguyndynubun Q< (nwiljuigd 525000 8 4200.0
33691420/502 [wpnpwnnn warwiynyabip (nbwgbunubip puqdwlndunubum G< [nulugy 525000 4 2100.0
33691420/503 lwpnpuwinnp wanwynietip (nbwgbnlbn) puquwndyntibtn QL [wljug 148700 460 68402.0
33691420/504 (Wpnpuwinnp wgnwniatip (nbwgbtnttn) pugiwyndwntbu, < Inwljuqu 46080 400 18432.0
33691420/505 (wpnpuwinnp wanwtgnpbin (nfwgbuntbp) pugiwlniyntibn Q< [nwljug 240000 5 1200.0
33691420/506 (wpnpnnp wqrwyniptip (nbwgbtintbin) puguuyndynubtum BRI [yl 100000 1 100.0
33691420/507 |lwpnpwnnp wanwgniptbp (nbiwgbunutn) pugiwlnduyntbunm Q< Inwlugy 114000 1 114.0
33691420/508 lwpnpwinnp warwtmptp (nbwgbunlbn) puguwyniyntbtn QL [nwljug 210000 8 1680.0
33691420/509 (wpnpwwnnp warwtynyatip (nbwgbitintibp) pwgdwyndynubun < [nuwlwgy 240000 7 1680.0
33691420/510 lwpnpwnnp wanwnptip (nbwgbunutin) puqdwinduntbun 9L [nwljuagid 66000 1 66.0
33691420/511 [wpnpwnnp wanutyniplp (nbwgblnubp) pugqiwyndwnubun G< (hwlwgd 416667 3 1250.0
33691420/512 (wpnpwnnp wqnuiynyatip (nBwgbiuntbip) pugdwyndynubtn L (nuljugy 416667 3 1250.0
33691420/513 Lwpnpwnnp wanwbgniebp (nbiwgbbntbn) puguwndyntbn Q< [nwbjugd 288000 1 288.0
33691420/514 [wpnpuiwnnp wanuwtyngetip (nbugblnbn) pugqdwlynduynubtim QL Inuljwgd 61200 5 306.0
33691420/515 {wpnpwiinnp wgnwignyelbn (nbwgbuntbn) pwgdwlndynubim Q< [nuljug 61200 5 306.0
33691420/516 |wpnpwwnnp wanwnyebp (nGwgbunubn) puqiwyndwnubun q< (nwilugy 61200 5 306.0
33691420/517 (wpnpwwnnp wanwynatip (nbwgbtnubn) pugiwyndynubun q< Inwljwau 36800 5 184.0
33691420/518 lwpnpwinnp wgnwgmpbp (nbwgbunutn) puguwlnduntbun L [nwljugd 540000 2 1080.0
33691420/520 [wpnpwnnp wanwtyngelip (nbugblinubn) puqduyndwynubiun Q< (nwijwigyd 26000 5 130.0
33691420/521 [wpnpwnnp wgnwlyngebip (nbwqbunubp) pugdwyndwnubum QL Inwlugd 397500 4 1590.0
33691420/522 lwpnpwwnnp wanwlniptp (nbwgbunbn) puquwyndyntbn Q< [nuwljugu 360000 1 360.0
33691420/706 wwpnpuinnp wgnwympbp (nbwghbtnbbp) pugqdwindwnibu, < [pwiljwigy 330400 1 330.4
33141211/501 pd 24wl wy| gnpdhplbin — wwpwgwtip Q< hwwn 582 12 7.0
33141223/506 pdalwlwl wy| gnpdhplbin — wwpwgwibip pugiwlniynubun 9L [iuugd 51000 15 765.0
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33141223/507 pd2lulwl wyy gnpshpubip — wwnwgwbp puqiwlndynbbiun &< (g 25999.5 4 103.998
33191310/503 thnpawnpukn G< huwin 116.667 12000 1400.0
33211140/501 Rhihnniphti Bilirubin /Cunhwlnin — ninhn phihrmiphth npngdust ac _— 20.28 6000 1217
rhup-hwywpwdny
33211150/501 Uhquityniz Urea-Col/Uhquitynyah npnadwi phup-hwwiwpwnt 4L huwtn 2.3 5000 106.5
33211160/501 Ynbunhiht CREA-Col /pbiwinphuhth npnptwt phup-hwiwpwént 9L hunn 9.57 5000 47.9
33211230/501 FNM-Yuwinpn RPR CARBON /Uphihuh npngdwl phiupe- 9¢ huitn 109.375 12480 1365.0
huwJwpudny
33211320/502 <tuuinhin 8 dhpnwh whnhqbuf npuliuwluls huprbwpbpdul 9< huitn 105 9600 1008.0
rhup-hwywpudnt
33211321/501 Chiyunnpn € dhpnwh winhgbuh npwlwlw hugnbwpbpdwt ac huitn 97.88 9600 939.6
phup-hwdwpwdnt
33211321502 Chywwnpin C dhpnwh winhgbuh npuiljwljwt hwyntwpbipdwt qc i 105.36 8000 842.9
phup-hwiupuwdnt
33691160/666 phupwlwl wgnuwitynyetip (nbwgbuinubn) G huwn 12.6 2000 25.2
33691160/667 phuhwlw wgnulnyetp (nbwgbnubp) G< hwn 18.0 30000 540.0
33691160/668 phuhwlwl wanwiynipbp (nbwgbunubn) 9L hwin 178.2 1000 178.2
33691160/669 phupwlwl wgnwunplin (nbwghuntp) L hwin 18.0 5000 90.0
33691160/670 phupwlw wonwiymipbp (nbwgbuntbp) G< hutn 26.4 1400 37.0
33691160/672 phupwhwl wgnwyniebp (nbwgbuntbp) G hunn 7.536 3000 22.6
33691160/673 phupwlwl wgnwunyebp (nbwgbntbp) < huwn 8.76 2000 17.5
33691160/675 phupwlwl wgnwiyhgebp (nbwgbunbp Q< huwin 33 800 26.4
33691160/676 phuhwlwl wgnwtynyetip (ntiwgbunubp) < hwin 26.4 1400 37.0
33691160/677 phupwlwl wgnuwitynipbip (nbwgbuinubnp) S< hwin 26.4 1000 26.4
33691160/678 phihwlwl wgnwiynyebip (nbwgknubp) L hwn 19.68 20000 393.6
33691160/679 phipwljwl wqnulynipbp (nbuwgbtntbn) ac hwin 83.28 15000 1249.2
33691160/680 phupwlwl wonwlyniphp (nbwgbunubp) QL huin 345 192 66.2
33691160/681 phuhwljwl wynwynyatip (nbiwgbuntbp) L huwin 345 192 66.2
33691160/682 phubwlwl wanuitynyatip (nbwgbuntbn) QL hwin 393.75 960 378.0
33691160/683 phipwlwl wgnwiynpbip (nbwgklnutp) 9L hiutn 393.75 960 378.0
33691162/714 wpnpuinnp wanwlynietip {nbwgblnubp) QL hun 155.13 10560 1638.2
33691162/715 (wpnpuwinnp wanwlyniabip (nbwgbiintbn) QL hunn 1120 1152 1290.2
33691162/716 [wpnpwnnp wqnwlynyatp (nbwgbiintibp) QL hwin 640 480 307.2
33691162/717 |wpnpuwnnp wgnwiynysbp (nbwgbtinttin) QL hwn 640 480 307.2
33691162/718 {wpnpwinnp wgnwniphp (nbwgbintbn) Q< hiwn 640 480 307.2
33691162/719 |wpnpuwinnp wqrwynyabp (nbwgblimtn) QL hwin 153.75 5760 885.6
33691162/720 Lwpnpuinnp wynubniabip (nhwgbtinubip) < hwiwn 69.36 8000 554.9
33691162/721 |wpnpwinnp wgnwlyniphp (nbwgbuntbp) G hwwn 405.6 600 243.4
33691162/722 (wpnpwwnnp wqnuwiynyebip (nbwgbuntbp) 9L hwn 118 600 70.8
33691162/723 lwpnpwitnnp wgnwljnyabn (nbwgbnubn) GL hun 33.84 1800 60.9
33691162/724 lwpnpuwinnp wanwbyniebp (nbwgbntbn) QL husn 1000 60 60.0
33691420/707 (wpnpuwnnp wanwiynptip (nbwgblntibip) pugiwyndynubn a< (nljugy 74000 25 1850.0
33691420/708 Lwpnpwinnp wanwtgnietin (nbiwgbuntin) puguwlniyntbtn Q< [nljuig 62000 15 930.0
33691420/709 (wpnpwnnp warwtyniptip (nbwgbtnlibp) pugiwyndynubun QL Inwlwgd 48000 150 7200.0
24311360/502 bwuwnphnwh pinphin < Lpngpuid 2000 2 4.0
33141211/524 pdolwlwt wy gnpéhplibp — wwpwgubp GL huwn 18000 10 180.0
33141223/508 pdlwlwt wy gnpdhpubin - wwpwquutip pugdwyndynubun Q< (nwljwgy 84000 2 168.0
33691134/502 Yuwipnwip pinphn al2ba0l, b05xa01 < Lpngpud 3000 0.3 0.9
33691160/686 phupwlwt wanuitynitp (nbiwgbitintitip) QL hn 18000 1 18.0
33691160/687 phdpwlwl wynwlynyabip (nbwgbuumubp) QL hiwn 18000 1 18.0
33691160/688 phdhwlwl wgnwynplp (nbwgbluttn) 3L huiwn 18000 1 18.0
33691160/689 phupwlwy wgnuiuniepbp (nbwgbunutp) 9L hwiwn 18000 1 18.0
33691160/690 phdpwlwi wgnwtymiphbp (nbwgbuntbn) 9L hwwn 21000 1 21.0
33691162/725 [wpnpwinnp wgnwiynekp (nbwgbunbp) G huwwn 120000 1 120.0
33691162/726 wpnpwnnp wgnwunyehp (nbwgblntp) 9L huwn 210000 1 210.0
33691162/727 Jwpnpwinnp wgnubynyatip (nbwghnubp) 4L hiwin 126000 2 252.0
33691162/728 wpnpuiwnnp wanwtyniphp (nbwgbbntbp) G huwn 420000 I 420.0
33691162/729 |wpnpwunnp wgnwlynyatip (nbwgbitunlin) G hiuwn 99000 2 198.0
33691162/730 |wipnpuwnnp wgnwinyebp (nbwgbunubp) L hn 420000 1 420.0
33691162(731 |wpnpwinnp wgnwuniphp (nbwgblnubn) Q< hwin 114000 1 114.0
33691162/732 lwpnpuinnp wgnwljnyatip (nbwgbtinubp) G< huin 240000 1 240.0
33691162/733 Jwpnpwiwnnp wgnwityngatip (nbugbtuntibip) < huitn 129000 2 258.0
33691162/734 |wipnpwinnp wgnwiyniatip (nbugbitunubip) QL huwn 114000 1 114.0
33691162/735 |wpnpwinnp wgnwiynipbip (nbwgbntp) L hwtn 135000 4 540.0
33691162/736 wpnpuinnp wygrwbgngatip (nbiwgbitiinttip) QL hiun 360000 1 360.0
33691162/737 wpnpwinnp wonwityngabip (nbiwgbiiintbip) < hunn 96000 1 96.0
33691162/738 |wWpnpuwnnp wgnuwnystip (nbwgbUntbp) Q& hwuwn 114000 | 114.0
33691162/739 [wpnpuwwnnp wgnwlynysbip (nbwgbunttip) L hwwn 78000 1 78.0
33691162/740 |wpnpwinnp wgnwniebp (nbwgbuwnutn) YL huwin 90000 2 180.0
33691162/741 |wpnpwinnp wgnuniphp (nbwgblnttp) Q< hwwn 69000 2 138.0
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33691162/742 wpnpuwunnp waqnwlyniabp (nbwgblnlbpg G< hwwn 261000 1 261.0
33691162/743 |wpnpuwnnp wgnuitynipbip (nbwgbitintbp) 9L hwin 198000 1 198.0
33691162/744 |wpnpuiinnp wanuwbympbp (nbwgblntbp) QL hwin 360000 1 360.0
33691162/745 |wpnpwinnp wgnwiynyabip (nbwgbtintbp) QL hwin 273000 1 273.0
33691162/746 Jjwpnpwnnp wgnwlynipbp (nbwgblntibp) QL hwn 399000 1 399.0
33691162/747 |wpnpwnnp wgnwiynuehip (nbwgblnubp) G hun 90000 3 270.0
33691162748 |wpnpuwinnp wanwuniehp (nbwgbtintn) < huwin 150000 1 150.0
33691162/749 |wpnpuinnp wgnwiyniphp (nbwgklnubp) L hun 150000 1 150.0
33691162/750 Jwpnpwinnp wgnwuniphbp (nbwgbunubn) L huin 120000 1 120.0
33691162/751 |wpnpwinnp wgnutyniphp (nBwgbilinbn) QL hwn 90000 1 90.0
33691162/752 jwpnpuinng wagnwtyniatip (nbwgbtuntibp) L hwwn 264000 1 264.0
33691162/753 [wpnpwinnp wgnuwlynystp (nbwgbitintitin) G huwin 114000 2 228.0
33691162/754 [wpnpwinnp wgnwiynpbip (nbwgbunubp) QL hiuwn 120000 2 240.0
33691162/755 wpnpwinnp wanwuniphp (nbwgblntp) L hwiwn 138000 2 276.0
33691162/756 wpnpwinnp wgrutnyabip (nbwgblnubp) L huwin 360000 1 360.0
33691162/759 Jwpnpuwwnnp warwlynipbp (nbwgbuntbp) G< huin 210000 1 210.0
33691162/760 [wpnpuinnp wgnwyniatp (nbwgblnlbp) 9L hwin 69000 1 69.0
33691162/761 [wpnpwnnp wgnwlyniabp (nbwgbntbp) < hwin 1380000 1 1380.0
33691162/762 {wpnpuinnp wgnugngabip (ntiwgbiunutn) 9L hiutn 540000 1 540.0
33691162/763 {upnpuinnp wgnwlniplip (nbiwgbinttp) G< huin 90000 I 90.0
33691162/764 jwpnpuinnp wgnwtynyakip (nbwgliiintitip) QL huin 126000 2 252.0
33691162/766 |wpnpuinnp wgnutynyatip (nBwgtiintitip) < hwn 498000 1 498.0
33691162/767 |wpnpunnp wgnulynebp (nbwgbiiinbp) L huwin 285000 1 285.0
33691162/768 [wpnpwwnnp wonuwiynyebip (nbwgbiiunbip) QL huwin 114000 1 114.0
33691162/769 (wpnpuwwnnp wynwiynyebp (nbwgbunutin G< hwin 90000 1 90.0
33691162/770 Jwpnpuwitnnp wgrnuwnualip (nbwgblmutp) G< hiuwn 84000 1 84.0
33691162/771 {wpnpwinnp wgnwtnehp (hbwgbnbip) SL huwitn 75000 2 150.0
33691162/772 [wpnpwinnp wanwtyniehp (nbwgbintbp) Q< huin 124000 3 372.0
33691162/773 {wpnpuinnp wgrutynyatip (nbwgbtunubp) 9L huwin 75000 2 150.0
33691162/774 |wpnpwinnp wgnwiyniatip (nbwigtitnnubip) QL hwwn 264000 1 264.0
33691162/775 |wWpnpwwnnp wgnuwinyebp (nbwgblnutip) QL hwn 90000 1 90.0
33691410/509 phupwlwi wgnwtymptp (nbwgbuntbp) hbnnd QL |hinp 3000 0.5 1.5
33691410/510 phupwlwl wgnuwiynyatip (nbwgbtiintibp) hbnniy QL |hup 675000 0.1 67.5
33691410/511 phupwlwl wgnwunyebip (ntiwgbumtp) hbnny G< [hup 1800 20 36.0
33691410/512 phubwlwl wgnwiynipbp (nbwgbunubp) hinnly G< [huip 1880 20 37.6
33691410/513 phupwlw wgnwyniptip (nbiwgblnubp) htinndy QL (hup 40000 I 40.0
33691411/503 phdpulut wanwyngetip (ntiwgbtinttin) gingh Yud gputngubp Q< g 12000 0.5 6.0
33691411/504 phihwlwt wanuitynyatip (nbwgblntbin) thngh Lud gpwlingubp < Yhingpuid 7000 0.5 3.5
33691411/506 phihwljwt wqnwunpbn (nbwgbuunubn) tingh Guwd gpuwtingutp SL Yhingnuwd 6000 2 12.0
33691411/507 phuhwluwt wanuityniebip (nbwgbtntbin) tingh Ywd gputingutinp Q< Yhingpuwd 2500 2 5.0
33691411/508 phihwlwt wgnwiynatin (ntwgblntitip) thngh wd gpuwtingubp QL Lhingpuwd 6000 3 18.0
33691411/509 phuhwlwl wanuiynietin (nbwgbunutn) thngh Ywd gputingutn Qg Yhingpud 400 30 12.0
33691411/510 phihwlwt wanwynyebn (hbwgbtinubn) thngh Yud gputnyubp 9L Uhingnud 3000 40 120.0
33691420/712 (wpnpwnnp wanwunptn (nbwgbinutip) puquiuyndynubun QL [nwiljuugl 180000 1 180.0
33691420/713 wpnpuinnp wanwynyebp (nbwgbiinubn) puquwyndwnubun GL [nwljwgd 180000 I 180.0
33691420/714 [wpnpuwwnnp wgnuwiyniplip (nbwgblnbp) puqiwlndwnubum QL (g 7800 30 234.0
33691420/715 lwpnpwinhp wgnwgnipbn (nbwgbunubn) puqdwyndyntbun QL [Puljugu 45000 4 180.0
33691846/501 Yphwpnlwppeny (hintwppnt G< ] 1996 0.5 1.0
33141211/534 pdalwlwl wy gnpdhpubp — wwpwgwbp GL huwiwn 5700 800 4560.0
33141211/535 pdziwlwl wy gnpdhplbip — wwpwguwubp GL huwn 5700 800 4560.0
| [33141211/541 pdaljwliwili wy) gnpdhplibip — wwpwgwibp GL hwn 5700 550 3135.0
' 133691160/692 phupwlywl wgnwyniphip (ntiwgbnutin) G< hiun 600 120 72.0
33691160/693 phuhwywl wgnwlynyebp (nbughlntbp) qc huin 49800 5 249.0
33691160/694 phuhwlwl wanwynipbp (nbwgbbntibp) 9< hin 3400 2 6.8
33691160/695 phupwlwl wgnwnygebp (nbwgbunubip) S huwin 48000 2 96.0
33691160/696 phupwlwy wgnwiniplip (nbwgblnttn) q< hwin 58000 2 116.0
33691162/776 |wpnpwnnp wgnwiynyabip (nbwgblntitp) Q< hn 16.8 1000 16.8
33691162/777 |wpnpwinhp wgnwujnipbp (nbwgbUnutp) L huitn 16.8 1000 16.8
33691162/778 Jwpnpwnnp wgnuuniphip (nbwgbiinbin) 4L hun 16.8 1000 16.8
33691162/779 {wpnpuwinnp wyruwbynyatip (nbwgbtintin Q< hwin 16.8 1000 16.8
33691162/780 |wpnpuiwnnp wgnwynipbp (nbwgbtnubn) GL hwwn 16.8 1000 16.8
33691162/782 Jwpnpwinnp wgnutyniphp (nbwgbtntbn) <L hwn 16.8 1000 16.8
33691162/784 |wpnpwunnp wgnuitynipbp (nbwgbtntbp) QL hwin 16.8 1000 16.8
33691162/785 |wpnpwunnp wgnwlyniyatp (nbwgblntbp) QL hwn 16.8 1000 16.8
33691162/786 |wpnpwinnp wgnwigniptn (nbwgbuntp) QL huin 16.8 1000 16.8
33691162/787 |wpnpusnnp wgnwinietin (ntwgbtmitp) QL hn 16.8 1000 16.8
33691162/788 |wpnpuiinnp wgnwiynietin (nbwgtitintitin) Q< huin 16.8 1000 16.8
33691162/790 Jwpnpunnp wgntnplip (nbwgbiiintitip) QL hiiwn 16.8 1000 16.8
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33691162/791 |wpnpwninp wgnwynyabp (nbwgblntp) QL hwn 16.8 1000 16.8
33691162/792 |wpnpwnnp wgnuwiynyebp (nbwgbunubp) G hwwn 16.8 1000 16.8
33691162/793 |wpnpwinnp wgnwnysbp (nbwgbunbn) < hwin 16.8 1000 16.8
33691162/794 |wpnpwiinnp wgnwinyetin (nbwgbumubp) < huin 16.8 1000 16.8
33691162/798 |wpnpuwwnnp wynwtynyabip (nkwgbtinubp) QL hwiwn 16.8 1000 16.8
33691162/799 |wpnpwwnp wgnwlynetip (nbwgblinttbip) < hwiwn 16.8 1000 16.8
33691162/800 [Wpnpwinnp wgnwlniabip (nbwgbnitp) GC hwin 16.8 1000 16.8
33691162/801 [wpnpwwnp wanwinipbp (nbwgbnutin) GL hutn 16.8 1000 16.8
33691162/802 |wpnpuwwnnp wgnwiynysbip (nbwgbuuubip) QL hwn 16.8 1000 16.8
33691162/803 |Jwpnpwinnp wqnuniphp (nbwgbunutn) Q< hwiwn 16.8 1000 16.8
33691162/804 Jwpnpwnnp wonwnipbp (nbwgbunlbp) G< huwin 16.8 1000 16.8
33691162/807 |wpnpuwitnnp wgrwbnyebp (nbwgbnubp) QL huwwn 16.8 1000 16.8
33691162/810 wpnpwwnnp wgnwynipbp (nbwgbbintbn) Q<L hwwn 16.8 1000 16.8
33691162/811 pwipnpunnp wqnuwtynatip (nbwgbitiintbp) QL hwin 16.8 1000 16.8
33691162/813 [wpnpwwnnp wgnuwynatip (nbwgbntitip) a< huwtn 16.8 1000 16.8
33691162/814 [wpnpwinnp wgnwljniabp (nbwgblntbp) QL hiuwn 16.8 1000 16.8
33691162/815 |wpnpwinnp wgnwingebip (nbwgbuunttn G< hwiwn 16.8 1000 16.8
33691162/816 {wpnpuwinnp wqrwbynyatip (nbwgblunubp) < hwin 16.8 1000 16.8
33691162/817 (wpnpuwiinnp wanuwlynietp (nbwgbntbp) 9L hwin 16.8 500 8.4
33691162/818 |wpnpwinnp wgnitynebip (nbwgblintibin) QL hwin 16.8 1000 16.8
33691162/819 |wpnpwnnp wgnuwiynyabp (nbwgbitnubip) < hwn 16.8 1000 16.8
33691162/820 |wpnpwwnp wgnwniptp (nbwgbitnttip) L hutn 16.8 1000 16.8
33691162/821 |wpnpwinnp wgnwinyabip (nbwgblntbn) QL hiin 16.8 200 3.4
33691162/901 lwpnpuitnnp wgrpwbngabip (nbwgbtintitp) QL hwn 16.8 400 6.7
33691162/903 Jwipnpuinnp warwtymiptp (nbwgbntbp) < huitn 16.8 1000 16.8
33691162/904 |wpnpwwnnp wgnuwtnipbp (nbwgbbntbn) L hwun 16.8 500 8.4
33691162/908 |wpnpwnnp wgnwlynipbp (nbwgblintibp) q<L hwn 16.8 1000 16.8
33691400/505 phuhwlw wanwynipbp (nbwgbtintibn) pwquwyndyntubun QL (abjugud 40000 2 80.0
33691400/506 phdpwlwl wgnwynatip (ntugbtnttn) pugiwlndwntbun 9 (nilpugd 24000 4 96.0
33691400/507 phuhwlwl wgnwiynipbp (nbwgbitinubp) pugiwyndyntbun aL Inwljuqd 28800 2 57.6
33691400/508 phuhwlwl wgnwynyetip (nbwgbunutip) pwqiuyndynubun < (nwljtugy 14400 2 28.8
33691400/510 phuhwlwl wgnwlynyetip (hbwgbunubn) puquwyndynubun 9L [ubjugd 18000 3 54.0
33691400/51 phuhwlw wgnwtynyatip (nbwgbuintibp) puquwlyndyntbun Qg [nuwiljugud 23000 3 69.0
33691400/512 phuhwlwl wanwyniptp (nbwgbunttip) pugiwlndynubn Q< (nwljwgd 16800 8 134.4
33691410/514 phubwlwl wgnuiyniplip (nbwgblmubp) htinnly QL [huip 1500 3 4.5
33691410/516 phdpwlwt wgnwmiplip (nbwgbtinltin) htinnd 9L hup 3000 30 90.0
33691411/511 phiuhwlwt wanwiynyetip (nbwqblinubng thnzh Guid gpwtingubp L Ypngpuwd 41800 2.5 104.5
33691411/512 phihwlwl wgnuynipbp (nbwgblinuting tngh Gwd gpwtngutp QL Yhpngpuwd 38800 1 38.8
33691411/513 phihuwlwt wanuitynyebp (nbwgbtntbn) tingh Ywd gputinyutn aL Yphingpuwid 44000 3 132.0
33691411/514 phihwlwl wgnuwlyniptp (ntiwgbunubn) tingh wd gpwtingubp QL hingpuwd 40000 3 120.0
33691411/517 phihwlwl wanwiynpbn (nbwqbuntbnp) dingh Ywd gpwnyubp L Uhingpuad 49600 0.5 24.8
33691411/518 phuhwlw wynwlynyetp (nbwgbunubn) tingh Ywd gputingubp q< Lhingpuwd 37000 4 148.0
33691411/519 phihwiwt wanwynystip (nbwgbtnubing thngh Gud gpwtingubp QL Uhngpwd 42000 3 126.0
1133691411/520 phipwlwt wgnwiynptn (nbwgbunubp) gingh Ywd gpuunyubp S< Lhingpuud 80000 0.25 20.0
33691411/521 phihwlwl wanwlynyebip (nbwgbtintbp) thngh Ywd gputinyubp QL Lhingpuwd 99200 0.25 24.8
33691411/522 phipwlwt wanuwynetip (nbwgbntbp) gingh Yud gpwlngubip <L Uhingpwd 49600 0.5 24.8
33691411/523 phipwlwt wanwynptp (nbwgbuntbp) tingh Guid gpwbingubp QL Lhingpud 4600 2 9.2
33691411/524 phuhwlwl wgnwiynipbn (nbwgbnbtip) gingh Yud gpuwngutn QL Uhingpud 28800 2.5 72.0
33691411/525 phupwlwl wonuwlyniebp (nbwgbtinutip) tngh Yud gputngubp q< Yhingpwd 44800 2 89.6
33691411/531 phuhwlwt wanuwtynyetip (nEwgbtntbn) thngh Ywd gputingutp G Uhingpwd 34800 1 34.8
33691411/532 phipwlwt wgnwiynyabp (nbwgblntin) thngh Yuwd gputinglbp Q< Uhngpuwd 34800 0.5 17.4
33691411/533 phihwlwl wanuwiynipbn (nbwgbinutp) gingh Gwd gpuwtngubn G< Lhingpuud 40000 0.5 20.0
33691411/534 phuhwlwl wanwiynyetip (nbwgktnubn) tingh Ywd gpuitingutip < hngpuwd 100000 0.25 25.0
33691411/535 phihwlwl wanwnpbn (nbwgblntbp) thngh Yud gpwtingubp 9L Yhingpwid 47000 1.5 70.5
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33691411/536 phihwlwl wanuwinyetin (nbwgbtnubp) tngh Yuwd gpuitinyutp Q< Uhingpwid 4000 1 4.0
33691411/537 phdpwlwy wanwlynetp (nbwgbtntbn) gingh Gwd gpwlngutip q< lihingprud 10000 2 20.0
33691411/538 phihwywl wanwjnyatin (nbwgbunttp) thnoh Yuwd gpwnytbp G< Yhingpwd 3000 5 15.0
33691411/539 phihwljwt wanwiynipln (ntwgbintbn) tingh Ywd gpungubp G< Uhingpud 3000 5 15.0
33691420/718 [wpnpwnnp wanuwtynyetip (nbwgbtnubn) pwqiwyndwnubln S< (nwlyugy 66000 2 132.0
33691420719 (Wpnpwinnp wanuwynietn (nbwgbunttip) pugiwlndyntbun G< (nwljwgy 30000 1 30.0
33691420/720 Lwpnpuwinnn wanwiniptp (nbwgbunubn) puguwndyntbn G< inwljuqu 168000 1 168.0
33691420/721 (wpnpuwwnnp wanwityniptip (nBwqbunlibip) pugdwlmiynubun qc Inwlwqy 168000 1 168.0
33691420/722 (Wwpnpwwnp wanwiyngtp (nbwgbuntibp) pugiwlyndyntbin Q< [nwluqy 168000 1 168.0
33691420/723 (wpnpwnnp wnwynyptn (ntiwgbibntibp) pugiwlndyntbtn Q< [nwljug 90000 5 450.0
33691420/728 Lwpnpwnnp wanwtyniebp (nbwgbbnbbn) pugwndynibtm Q< Inwljuqu 40000 2 80.0
33691420/729 |wpnpwwnnp wgnuynyebip (nbwgtiinbbn) puqdwyndwnubun < Inwlugy 40000 2 80.0
33691420/730 (Wpnpwwnnp wanwiynitp (nBwgbuntbip) pugiwyndyntbn qg [nwljugy 40000 2 80.0
33691420/731 [wpnpwnnp wanwbgnipln (ntiwgbunubp) puquulndyntbiun R 14 [Pwlwqd 40000 2 80.0
33691420/735 Lwpnpwnnp wanwtynietip (nbiwgblnlbn) pugduyndwnubum i g 25000 I 250
33691162/916 Lwpnpunnp wgnuwlyniptip (nbwgblnttip) LUA hwwn 89400 10 894.0
33691162/924 |wpnpwwnnp wgnwbnelip (nbwgbtnlbp) EUS hwwn 75600 20 1512.0
33691162/926 (wpnpwiinnp wqnuwiynuebip (nbwgblntp) EUS hwin 75600 1 75.6
33691162/934 wpnpwnnp wgnwyniphp (nBwgbunutn) EUA hiun 75000 4 300.0
lwpnpuwinnp wanwgniphbp (nbwgbunlbp) [x¥ha) huin 0.0
(wpnpwinnp wgrwtynuatip (nBwgbtnbn) EUR hwwn 0.0
(wpnpwwnnp wgnwiynetin (nbwgbunubn) EUS huwitn 0.0
33691162/943 |wpnpwwnnp wqnutyniphip (nbwgbtinttip) EUS hwin 53880 10 538.8
33691162/945 Jwpnpuwwnnn wgnwigniebip (niwgbitinitip) tUns hwwn 22000 2 44.0
33691162/946 {wpnpwinnp wgnwbngatip (nbwgbuunbin) LU hwn 40000 2 80.0
33691162/948 |wpnpuwinnp wgnwunyship (nbwgbuntn) EUs hwin 60000 10 600.0
33691162/951 Lwpnpwiininp wygrwbniztbp (nbwgblnubp) EUS hiutn 83495 2 167.0
33691162/964 |wpnpwnnp wqnutymphp (nbwgbbnbn) EUs huin 75000 2 150.0
33691162/966 [wpnpwinnp wignuibniabip (nbwgbitintbp) EUS hwwn 269999.67 10 2700.0
33691162/967 [wpnpwnnp wgnwiynysbip (nbwgbiinttip) [K¥0a) hiun 53550 8 428.4
33691162/970 |wpnpwnnp wanwiynyabip (nbwgbuwnubin) 5 V1a) hin 24987 10 249.9
33691162/971 |wpnpuwitnnp wyrwbgngatip (ntiwgbumtin) tUs huwin 18564 10 185.6
33691162/974 wpnpuwitnnp wgnwlynystp (nbwgblinubp) EUs huwin 18972 6 113.8
33691162/975 lwpnpuwinnp wgrutyniplip (nbwgbtntbp) EUR hwn 151649 3 454.9
33691162/976 |wpnpwnnp wqnwiynebp (nbwgbtuntibp) EUs hwin 153790 2 307.6
33691162/978 [wpnpuwwnp wgnwiynyabip (nbwgbiiinttip) [=¥7a} hwtn 62534 4 2501
33691162/980 Jwpnpinnp wgnugnietip (nbiwgbunutbp) LUS hiun 59998.35 2 120.0
33691162/985 \wpnpwitnnp wyrnwbynyatip (nbwgbtimtitip) LS huin 33762 2 67.5
33691162/990 {wpnpwwnnp wgnubynyabip (nbiwgbinttn) EUS huwitn 60000 10 600.0
33691162/992 wpnpwwnnp wgnutniptip (nbiwgbiiintibin) LUs hwwn 79996.7 | 80.0
33691162/996 (wpnpwnnp wgnwnyabp (nbwgbiiuntibp) EUs hwiwn 640000 6 3840.0
33691162/998 (wpnpwnnp wanwynysbp (nbwgbinutip) [x87a) hwun 89999.45 6 540.0
33691162/1000 (wpnpwnnp wgnwbyniphp (nbwgbunbbp) EUs huuwn 49164 10 491.6
336911621001 {wpnpwinnp wgnwlynyatip (nbwgbtintitp) EUs husn 69996.7 1 70.0
33691420/761 [wpnpuinnp wgnwtynyatip (nbgbtnbip) pugdwlndwynubn LS Pl 109200 1 109.2
33691420/763 [wpnpuanp wanwgnatip (nbiwgbuinbp) puquwlnduyntb;m Eus [nulylugyd 49800 6 208.8
33691420/769 lwpnpwwnnp wanwunipbp (nbwgblnubn) puqiwyndwynubun Eus [nwljuqu 91200 1 91.2
33691420/774 {wpnnWnnp wanwngabn (nbwgbnttn) puguwyndwynubun EUsS [nwlgd 10986 20 219.7
33691420/776 (tpnpuinnn wgnwtyniptin (nbiwgbiinbtin pugduyndwnubiunm EUn Il 189000 8 1512.0
33691420/777 |wpnpuwinnp wanwitynyetip (nbiwgblnbp) pugdwlyndwynubun =ta] nwljugy 288000 10 2880.0
33691162/1033 (Wpnpwinnp wanwynyabip (nbwgliuunubp) [xiha) huwin 107000 12.00 1284.0
33691162/1034 [wpnpwwnnp wqnuwiynphin (nbwgbunutp) [x(V}a) huuwn 36958 10.00 369.6
33691162/1035 lwpnpwnnp wgnwuniphp (nbwgblnubn) EUA huitn 35000 12.00 420.0
B83691162/1037 {wpnpuitnnp wgrwbnatin (nbwgbmutip) LUS huwiwn 53958 2.00 107.9
33691162/1039 wpnpuwinnp wgnwtyniebip (nbwgbtmtbp) EUs huwiwn 35000 12.00 420.0
33691162/1042 wpnpwwnnp wanwiynyatin (nbwgbtuntp) /U] huitn 61800 10.00 6518.0
33691162/1043 (wpnpwwnnp wqnuwibynatip (nbiwgbbonlibp) ] huwun 75000 8.00 600.0
33691162/1044 (wpnpwwnnp wgnwiynyabip (nbwgtiinbibp) Euns hwwn 21700 12.00 260.4
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33691162/1046 [wpnpwwnp wnwuniabp (nbwgbiunubip) LU hwin 67200 10.00 672.0
33691162/1050 (wpnpwinp wgnwynyebp (nbwgbnubn) [ a) huwn 9792 6.00 58.8
33691162/1052 lwpnpuwinnp warwyniptip {(nbwgbtinutbp) EUn huin 25423 2.00 50.8
33691162/1055 |wpnpwitnnp wgnwtynystip (nbwgbtiinubp) EUS hwin 93423 2.00 186.8
33691162/1056 |wpnpunnp wanuwiynptip (nGwgbntibp) {x¥0a) hwin 5185 2.00 10.4
33691162/1058 (Wpnpuiinnp wqnwlynipbp (nbwgblnubp) [x¥ka) huin 7352 6.00 44.1
33691162/1059 [wpnpuinnp wgnwnipbn (nbwghlnutn) EUs hwin 40213 6.00 241.3
33691162/1061 lwpnpuwiwnnp wqrwlniebp (nbwgbunlbpn) EUS hwn 57000 6.00 342.0
33691162/1062 lwpnpuwinnp wgnwlynisbip (nbwgbitiinttip) tUS hwiwn 16039 15.00 240.6
33691162/1063 (wpnpuinnp wgnwiynysbip (nbwagbiiintitin) Lun hun 959147 2.00 1918.3
33691162/1065 (wpnpuwnnp wqnwiynabip (ntiwgbiunbp) EUS huan 27600 10.00 276.0
33691162/1067 [wpnpwinnp wgnwyniplip (nbwgblnubn) EUn hiuwn 81600 35.00 2856.0
33691411/541 phuhwlwl wgnwiynyetin (nbwgbnutn) tingh Ywd gnuwniubip EUn Yhinghwd 3000 250.00 750.0
33691420/838 (wpnpwwnnp wgnuwnyatip (nGwgbunubp) pugiwyndynubin EUs [nuwljugy 84000 4.00 336.0
33691420/839 Lupnpuwinnp wgnuwlnipbp (nbwgbinutn puqdwlndwnttun EUS (nwljuqu 114000 6.00 684.0
33691420/840 [wpnpwinnp wgnwiynuyatip (ntwghiiinilip) pugiwlndyntbn LU [l 165000 6.00 990.0
33691420/841 Lwpnpunnnp wgrwbymiptp (nbwgbunlibp) pugdwyndynubun EUn inwljuqd 32500 12.00 390.0
33691420/842 (wpnpwnnp wanwlynabn (nbwgbtnubp) pugiwyndynubun Eus [nwlgy 21900 20.00 438.0
336914207843 Lwpnpwinnp warwtgmptip (ntiwgbunlbp) pugquwndynttn LUn [Pwljuau 21900 20.00 438.0
33691420/844 Lwipnpuinnp wanwityniatip (nEwgbintitin) puguwyndynubun EUs nubjwgyd 444000 1.00 444.0
33691420/845 (wpnpwnnp wanwbgmphp (nbwgblnubp) pugdwlndwntbun EUs (gl 90000 1.00 90.0
33691420/846 lwpnpwnnp wgnwibyniatipn (nbwgbtnubp) pugdwyndynubun EUS [nwljugy 60000 1.00 60.0
33691420/847 lwpnpwinnp wanwugmptin (nbwgbiinutp) pugquwlnduntititn Lun [uuljugu 285000 1.00 285.0
33691420/848 (wipnpuwinnp wanwtymiptip (nbwglunlbp) puguuyndynubiun LUs [nwlwqu 1380000 1.00 1380.0
33691420/850 Lwpnpunnp wanwtynipbp (nbwgbiunubp) pugdwlniwyntibun =kl [nwiljuqd 174000 8.00 1392.0
0.0
pd2jwljwl vwppwynpnuibp
33181110/506 htidnnhuwihgh uwpptip QL huwin 5692500 | 5692.5
33181110/507 htinnihgh uwpptip Y4 huwin 6355900 i 6355.9
33181110/508 htdnnhwihgh uwppbp G hwn 717600 1 717.6
33161200/503 Funnulnwubp < hwin 13600000 1 13600.0
33111340/501 ffp";;g”zm abnGuutauiht (chan), nipuiBubulhl ~ o 9c huwtn 13700000 1 13700.0
33171700/501 wiqgujwgdwl uwppbp < hww 1 0.0
33191520/501 wipywib thnfulbipwpydwt uwppbip G hwiwn 1 0.0
38511220/501 :]hwl’“‘“‘hh m"t'“t"::ﬂ:ﬁm:’ N e ) 4¢ huitn 8697000 ! 8697.0
nwwihl dwbinwnh
38591200/501 phidhwlwt jwpnpwinnphugnud Yhpwndng vwpptip GL huin 5084000 1 5084.0
3 0.0
3121200/5 u u h
3 /501 upnh wafuwnwlph hulnnnyejwt uwppbp < wun 378000 0 37800
33121200/503 upinh wphuwinwuph hulnnnipjwt uwppbp L hwin 1 0.0
funtunfugdwd ppdwduh dwnwhwpwpdwl uwppkip, npnup .
33151 501 1796 539.0
ks Uhpwindnud BU prywduwiht phpwuhugnug A i 7 =
42121310/501 ezl buywunwlubipny Yphpwnyng wndwbip L hwwn 195000 9 1755.0
42121310/502 pdaywlwl bywwnwlitipny Yppwndnn wndugbp 9L huin 215000 18 3870.0
42931100/501 wpnpuinnphwluit giuinph$niqbn — wwpwquwlbp < huin 21400000 1 21400.0
42931100/502 (wpnpuwiinnphwlwl ghuinph$nigbp - wwpwouwibp QL huwin 650000 1 650.0
33161190/501 Eunnulnwpuwih, Funndhpwhwnwlwl uwppbnp EUS hwn 5246000 1 5246.0
33191510/504 Jinfubipwipliwl uwppbip — gnpshputip [x(8a) huwin 388000 1 388.0
33191510/505 thnfuliipwiplydwl uwpplip — gnpdhputip [w87a} hwin 885000 1 885.0
38431700/501 wpnpunnphwih Ywenghisubp — wwpwguitp LUR huin 360000 I 360.0
39111190/501 puglupnntbp EURS hwiwn 800000 1 800.0
39711150/501 ninnwhwjwg uwngwpwuttin EUS hwin 1080000 1 1080.0
0.0
Uhuinwhwihg tyniplip
24451140/502 whuinwhwlhs Unyabp < g 2100 40 84.0
24451141/516 wiuinwhiwtihy hnnily tyngakip Q< hinp 2100 500 1050.0
24451141/518 whunwhwuhs hinnily Yniebp QL {htnp 1615 200 323.0
24451141/520 whutnwhwihy hbinnuly Wynyatip Q< [htnp 2500 20 50.0
24451141/521 wiutnwhwbhs hennil ynibin o< lhinp 1493 525 783.8
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24451141/522 wiunwhwupy hbinniy unpbp QL {hnp 6000 400 2400.0
24451141/523 wiunwhwUhyg hbnniy Wnysbip QL {hwnp 4990 50 249.5
24451141/524 wiunwhwlhs hbnnuy Wniebip QL (pp 3400 200 680.0
24451141/525 wiunwhwhs hbnnly wniebip 9L [htnp 7400 100 740.0
24451141/526 whunwhwlihs hbinnly wnuebp < (hwp 1700 100 170.0
33111500/507 dpwip unbiphihquighwih QL hwwn 47 300 14.1
33111500/508 dpwp unbiphihqughwih QL hwin 58 10000 580.0
33111500/509 dpwp unbiphihqughwih QL hwin 32 3000 96.0
33111500/511 Spwp unbiphihquighwih L huwin 156 500 78.0
33111500/512 Spwp unbiphihqughwih L hiuwn 26 3000 78.0
33111500/513 Spwp unbiphihqughwh QL huin 88 100 8.8
33111500/514 hunhlwwnnp dwpfbwgbipdwéniegwl G< huwiwn 7.8 1000 7.8
33111500/516 hunphwwnp dwpbwgbpddwénizwl q< hwin 5.8 2000 11.6
24451141/27 tinptiph wiinwhwhg hbignd 1 EUS Lhunn 2300 50 115.0
2445114128 Yhpwpnydubiph &binptiph L dhpwhwinwlwl nuwnh dowlpdw ks L 2550 2 510
wiunwhwhs, 1)
39331100/1 “Hhuwbuubp ownh hwdwp EUn huwin 10500 5 52.5
24451141/29 thpthnip ofiwn Uz Lhup 1615 50 80.8
24451141/30 whunwhwUhs htnniy unipdutynu EUS Lphunp 8000 20 160.0
33111500/24 Ypwhn dpwp unbiphihquighwih 15004 x 24504 tUs hwiwn 50 3000 150.0
33111500425 Upwhin dpwp unbphihquighwih 1000Y x 250040 EUs huwtn 58 6000 348.0
33111500/26 Ypwibin dpwip unbphihqughwih 25004 x 40004 LUS hiutn 140 2000 280.0
33111500/27 Ynwptn épwip unbiphihqughwih 3000 x 39004 EUn hiun 170 1000 170.0
33111500/28 puthwtighly dpwp unbphihqughuwgh 60U x 12000 LUR huin 30 300 9.0
33111500/29 pwihwlighl dpwp unbphihquighugh 11504 x 26000 EUs hwwn 47 4000 188.0
33111500/18 Punhljwinnp snp enuwisht 180/60 tus hwin 7.8 2000 15.6
33111500420 Punhljwwnnp wwnnlpudh 134C0O [xUTa) hwiwn 12.6 5000 63.0
33111500121 hunhluinnp wiinnlywdh 132C0 EUS huwin 6 3000 18.0
331116500022 Punpljuwinnp wnnlyuwgh 180C0O EUR hin 8 1000 8.0
33111500/23 hunhlwwnp wyinnlywidh 121C0 [0ta) huin 8 1000 8.0
19641000/9 Pdawlwl pwihnuubiph wwpljap LUs huwin 150 10000 1500.0
10621.5
EjlEYunpuljut wypwptbp
31711620/501 Lnwwnhnnuwjhts (LED) inwuwsinnt 3L huwin 1300 5 6.5
371620/502 Lnwwnhnnwiht (LED) |nwunnn q< huwin 1200 20 24.0
31711620/503 Lnwwnhnnuwyht (LED) (nwwwnnt 9L hwn 1500 30 45.0
317 11620/504 Lnwwnpnnwpt (LED) (nuwwnnt a9 huin 3900 140 546.0
31711620/505 Lnwwnpnnwiht (LED) juniy Q< huin 460 50 23.0
31711620/506 Lnwwnhnnuiht (LED) (nwwwnnt 4L hwin 1200 20 24.0
31711620/507 Lnwwnhnnwht (LED) (nwwinnt G< huwin 7000 30 210.0
31512360/501 Lnwwpéwl wpinwpht 9< huwn 9000 5 45.0
31512360/502 $nnngh (nwwnnt < hwwn 8544 10 85.4
INTN6E20/508 Lnwwinn 60*60, 96W 6500K Qg huutn 7100 20 142.0
3TN620/509 Lowwinm 60*60, 96W 500K G huun 7820 20 156.4
31512360/503 Lnwwnhnnwht (LED) inwwinnt QL huin 2700 20 54.0
31211180/501 Ubgwiinhy ubly uinbigtim] G huin 1200 15 18.0
31211180/502 Ulgwinhs dbly unbinuny wpunwiphl < hwwun 1400 15 21.0
31211180/503 Utgwinhs biplynt unbinting < hwn 1500 5 7.5
31211180/504 Ubgwinhs Bplynt unbinuny wpunwpht G< hwin 1600 5 8.0
31684100/508 Hwpnwl hnnwgnwwiht dhwgnuing QL hunn 1400 25 35.0
31684100/509 Hwprwly hnqwgnidwiht Shwgnuwing wpnwphl 9L huwwn 1586 15 23.8
31684100/501 Cpowliwly dbly whn QL huwn 300 25 7.5
31684100/502 Cpowiiwly Gplynt inbin Q< hitn 600 15 9.0
31684100/503 Cpgwiliwly bipkip wkn GL hun 900 5 4.5
31684100/504 hupngluly hnnwgnudng 9L huwiwn 280 30 8.4
31684100/505 Hwpnwl hnqwugnuwing bplwpwgdwi wph hwdwp < hwiwn 460 20 9.2
31231200/501 wnnhl il Eialnnaiginh huduip higuljugni < huin 350 60 21.0
dwwwbuny
31231200/502 Utildnnbught BlElupuwdnuwdwihts iinih K806 G805 dnntih QL huwin 125 20 2.5
31231200/503 bpldnntijwght Bl npudntinwdwih tinwh K820-2 G-805 dnnbjh L huin 250 15 3.8
31231200/504 Gnwidnnbjwhu Liupwdntinwdwiht winuph K820-3 G-805 dnntih 9 hwn 400 10 4.0
31681700/503 Uywnndwin wugwinhsubinh winuh wpnwpht Uwnwinbudws 2(+1) ac —_— 345 5 1.7
dnnnutitinh hwdwp
31211180/509 Uywinnuiwin wgwinhs L hwwn 4444 4 17.8
31211180/510 Udwnndwn witigwinps QL huun 4244 4 17.0
31211180/511 Udwnndwwn wgwinhsy QL huwwn 3644 4 14.6
31211180/512 Ugunndwn wguinhy Q< hwiwn 1244 12 14.9
31211180/513 Uiunduwn wgwnhy 9L hiwn 1144 12 13.7
31211180/514 Udwniwin wlgwinhs ac huin 1044 12 125
44322200/501 Znuwiliph dwiniju 9< Ubitnp 178 100 17.8
44322200/502 Lnuwliph dwinthu < dbunp 238 100 23.8
44322200/503 Cnuwbiph dwnufu < dtwnp 348 100 34.8

Crpanuua 24




44322200/504 Cnuwliph Jwiniu QL dbwnp 396 100 39.6
44322200/505 <nuwph dwiniu QL Utiwnp 525 100 52.5
44322200/506 Snuwtiph duwiniju L dbinp 648 100 64.8
44322200/507 Cnuwliph dwintfu QL dbwnp 614 100 61.4
44322200/508 Snuwtiph dwiniu QL Utnp 936 100 93.6
44322200/509 nuwlph dwiniju q< dkinp 1198 100 119.8
44322200/510 Snuwiph dwmifu < dtnp 1980 100 198.0
44521230/501 wwuwniwub PA 66 wipwl dwinjuh hwdwp 4L huwin 440 3 1.3
44521230/504 Wiwuwndwub PA 66 wdpwly dwiniup hwdwp QL hun 560 3 1.7
44322550/501 Uwinipup wimip 9 huitn 3 300 0.9
44322550/502 Uwinifuph wump GL huwiwn 5 500 2.5
44322550/503 Uwynifuh wtinip QL huwin 5 500 2.5
31651400/502 £ dbynwhs dwwubu QL hwtn 135 50 6.8
32442400/501 hupUwutindynn mbpdhtwwht prbl(knemmink)2+2 2,544 CH-2 GL huwin 60 300 18.0
2 U -
31711770/501 :l'ilgm wiht-brywly wdbphlywy ipngwlny{nepexos TPOHHMK) qc huwitn 590 18 10.6
31681700/504 Ugunndwwn UWigwinpsubph Snuh G hwin 1200 5 6.0
2nndwh Guywl (T60-480°S] puUuwht Ejput Br
32351120/501 220V/40  Nannenan cTakuma (160-480°C) umdpposoii aucnneit 274 hun 21144 2 42.3
220V/40 naansHWK
32442400/502 Din  nbjubip din  peiika q< hwwn 425 5 2.1
32324900/501 Lhinnuwnwgnyg 9L hwwn 150000 1 150.0
1 [39711290/501 Uhlypnujhpuiht Junwpwtibn 9< hwin 50000 3 150.0
' 132551170/503 Ut hbnwunu QL hwin 28571 7 200.0
32231700 nwghwbip Uu htun 35000 1 35.0
Spwublywljwiht wypwipttp b bynyebip
30197620/502 pnune, A4 Snpdwinh Q<L wnnith Soa0 0.
' 1430 1500 2145.0
30197620/504 pnine, A4 Snpdwwnh huptwlusniu phipphp 9< winith 2470 9 22.2
30192800/501 hustwlusnit whuwl / quuwhunwl 30*4000/ ac huwiwn 1.2 10000 12.0
30192800/502 hguwluysnit whunwly / guwuwghinwly 20*30u0/ 9L huin 2.1 5000 10.5
52 300 18.6
30199420/501 Ldnigubiph hwdwp, UdiLwd) 9< :

/ Rrinp tdnigubiph huwidwp, unutidywaépny hwn 5 500 56
30197322/501 Ywiphy, 20-50 phipph hwdwp 9L hwin 490 100 49.0
A0197100/501 Ywiphsh dewnwnuiwpb Guwwbn, dbs G< wnnuh 0 10 0.0
30197112/501 Uwiphsh dbnwnwiwnl Yuubp, dhehu q< unnuh 29 b

75 50 3.8
3097111/501 Yuiphsh dtwnwnuwiwpb Quwbp, ginpp QL wnnith 200 20
44 100 4.4
30192710/501 unutidwdwnun, gpuutiywlught q< hwwn = g
60 #YALUE!
30192231/501 ulng wnihdbpuwyht 9L hwin 0 200 0.0
30 0.0
30 40/501
197340} wwjwlwnhg g< hutn 05 T 6
39263600/501 gpswwnnup, gpwubtywlwht A< hwin 145 200 29.0
30193200/501 thwunwpenpbph hwdwp bwiwnbuws, uinwih Jpw npdnn ac g 200 0.0
nuwinwlwgwpbip 1600 100 160.0
30192100/501 nbnpt hwuwpwl QL huwwn il 0.9
69 200 13.8
30192133/501 unhs ac hutn L g.0
50 75 3.8
39263400501 |wdpuly Aty /, dhoht ac wnih e L
89 100 8.9
200 0.0
9263410/501 dpuuly b
3 / wdpwly fulptiuy /, thnpnp 9 nnufi T e 1B
39263530/501 ubindwly Ayhwyutif, dtd < huwin = ‘:gg 22
39263520/501 ubinuwly Yhwyuly/, dheoht G huwin T fgg ?10
200 0.0
3926
3510/501 ubindwly Ayhuyuty, thnpp QL hwwn 5 00 )
500 0.0
50 <
30192231/502 ulgng 9 hwin 5 300 555
800 0.0
30192160/501 auphy 124] QL huwwn s 200 240
800 0.0
30192160/504 aunphs 7d; qg hwn 04 300
500 0.0
30192125/502 Uwiplytap qc hwin 5 300

] ] : 200 0.0
39241210/501 dypwin, gnwubitjwlywht Q< hiwin 70 100
30141200/501 F b u qg I 30 8.0

wqwuwnp, gpuubujwlugh win 5756 5
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500 0.0
30192130/501 dwinhunubip L hwin 5 300
3500 0.0
30192121501 anhs qunhluwinp G< huwwn 5 3000
30197231/501 PR, wighdbpwihl punubp, Su %< hun - ngg;’ L
5000 0.0
30199260/501 huwinnily U4 dpwip 4L huitn Ty 5000
30192114/501 Ywpdhp pwlwp, Yuhph pupahlyh hwdwp < huwin = 123 9.0
50 0.0
30192114/502 Ywwnywn pwiwp, Yuhph pwpshyh hwdwp 9< hwin 160 o
30192111/502 puiliph punahl qc huin 0 20 0.0
B, [39263200/501 ?9”;‘1:3“”””“‘”‘“ Sy g, FO-200kp: et iy ac huitn 1350 50 675
22851200/501 PNRWUWLWL < hwiwn 140 300 42.0
122851200/502 PhRLwwlwl q< huwin 430 300 129.0
22851200/503 rRwWwwlwl QL huin 470 200 94.0
200 0.0
22851100/501 wnwglwputn qL hun 50 -
22851200/510 pRwwwiwlutp 20 Huyny Qg hwin 3[_)0 i
330 150
22851200/512 prRwwwliwlubp 60 Swyny 9L hiun 580 200 116.0
30195700/502 gpwnwiunwlubiph dwppdwt uwniug QL hwin 0 100 0.0
30192350/501 hwigghs-npwdwpynuwihty dbpbuwutiph dwuywdbltbp QL huin 58 1920 111.4
Sunbuwlwi b ghtiwpwpwljwls tpwbwlnip)wl wuypwiptbp
32551170/503 wlwp htinwinutibp 9L hiutn 8 0.0
31685000/501 Bllwpwlwt bplupwgdw jwn RIS hin 10 0.0
30239150/501 whs uwpp, puquwbniilghntwg QL huin 1 0.0
35121330/501 Suppfu Ynnbiph ulwiwnpdwt uwpbp G< huwiwn 11 0.0
30232110/506 Lwqbpuwjht nuhs < hwn 6 0.0
18141100/503 wluwntpwiht dbntingubip 9L qnig 124.25 240 29.8
184211307502 atinungubip < qnyg 145 1500 17.5
18421140/502 dblwuquidjw oquiwgnpadiwl dbnungltin QL qnyg 2.996 30000 89.9
18931160/501 Ywgph wwnwwlubin a< hwin 5499 5 27.5
18931180/504 wynwptibiph thwebpwynpiwy wnypwlubp G< huin 12000 0.0
18931180/505 wwpwtiptibiph thwpbpwdnpdwl nnwpwliubp QL hwin 12000 0.0
y 500 0.0
19641000/505 wnihkphbuwht wwpl, wnph hwdwp 9 hwin 2003 500 7001
1 [19641000/506 wn(hkphyblwht wwpl, wnph hudwn q< huwin 243 2800 680.4
Et-' 19641000/507 wnipkpehjttwghl wwpl, wnph hwdwn 9< hun 165 1600 264.0
% |19641000/508 wnihkphibbwht wwply, wnph hwdwp qL huitn 140 2000 280.0
: 24451141/514 uifutnwhwhy htinnuly Wniyebp QL hp 264 500 132.0
' [31441000/503 twpwnyng, AAA intiuwlh 9L hin 50 300 15.0
31442000/502 dwpnling, AA intiuwlh Q< hiwn 50 300 15.0
31442100/501 Ununwljhs dwpwnlynglbp QL hwitn 184.92 100 18.5
31442100/503 Ununwlyhs dwpwnyngubip L hwin 199.5 200 39.9
31685000/501 Elbyinpwlwl bplwpwgdwt jwp 9< hitn 1495 25 37.4
31685000/502 Eiblnpulw bplupugdwt wp G huin 1970.4 25 49.3
31685000/503 Eiblpunpwilwt Bpluwpwgdwt jwp < huitn 3990 10 39.9
33141118/501 wuabinnghlubip G huwin 370 50 18.5
33141201/502 Puwlupgubp G hwin 2.8 300000 840.0
33711210/502 dblwuguidjw ogunwgnpdudwl wbdbnnghlutin L hwn 390 5000 1950.0
33711480/503 ofilun < hwin 120 500 60.0
33751100/503 dahuilquidjw ogunwgnpduwl inwlnhptiap < hwin 120 200 24.0
33751100/504 dbljwlbguidiw oginwgnpddwls inwlnhpubp Q< hwn 150 200 30.0
33761000/503 qniguipwh pana, nnygntng G< hwwn 80 4000 320.0
33761000/504 gqniquipwiih pninp, nnynung QL hwin 80 2000 160.0
33761300/503 Gbinph enpb upphstbin Q< hiuin 148 1200 177.6
34331400/502 wynndbpbuwubiph gnpgtip QL hwn 1392 50 69.6
3144210011 dwpwlyng Ul huwin 2100 20 42.0
31442100 dwpunlng UPS-h hwdwp Ul huwin 9999 26 260.0
39221190/501 fudtiint oph tnwpwubp GL hwn 18438 10 1684.4
39221220/501 hwgnwnh snpwlingtiip qL huwitn 10434 10 104.3
39221350/503 dbilwhigwidw oguwgnpddwl pudwlubn 9L hisn 3.5 15000 52.5
39221410/502 whutip QL hin 100 0.0
39221420/502 Junquitiwljubip Q< huwiwn 1269.6 50 63.5
39221430/502 [unquitiwl-uwnitig wywlh dwppbynt hwdwp, nbinhub QL huin 2328 10 23.3
39221480/502 qnigupwuh funquitwlubip 9< hwin 449 200 89.8
39221490/502 uwniugitip GL hwn 77.77 800 62.2
39224331/502 Y| wundwul QL hwn 399 80 31.9
39224331/503 nny| wwundwub QL hwwn 171 50 8.6
3G724342/503 winninbin flimnnm BYe hiinn 50 0.0
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""""""""""" i 5290 100 529.0
39224344/502 wnpwplyn' phpbinw gL hwwn 50 g
1188 50 59.4
200 0.0
39511130/501 uwwtiubp QL hwin 519 1000 75490
39511130/502 uwywliubn QL huin 150 200 30.0
39511130/503 uwiwlibp G hwin 100 200 20.0
39513200/502 [enpb wdtinnghl, tiplptpn 9L hwin 20 1000 220.0
39522330/502 wppnn Guinptibp 9¢ huitn Ty ;ggg 4%%
39713410/502 hwwnwlh dwppuiwt uwppbp G huwin 1308 100 130.8
39713410/503 hwinwlh dwppdwl uwpptip Q< huwiwn 450 250 112.5
39713410/504 hwinwlh dwppuwl uwppbp qc hwin 4000 100 400.0
; 3 500 0.0
39831100/503 [Jwgnn Unipbp QL lhup =3 600 550
39831100/504 wgnn ynyatip GL (htnp 72 7000 504.0
39831210/502 uwwuph wgdwl nhwnbipgbntbp L hwwn 94.96 1000 95.0
39831243/504 [Uwigph thngh wiinndwn L Uhingpwyd 325.03 700 227.5
39831245/502 ofiwn, hbnnly G {hwp 168 1500 252.0
39831247/502 whunwhuiting htnny'" uwbhwignygh hwdwp (unwynis) &< lhwp 336 1500 504.0
i 1000 0.0
39831278/502 uywiuph Jugdw thngh GL hwn 596 500 798
39831278/503 uwuph [Ywgdwl thnsh Q< huwiwn 290 50 14.5
39831280/502 wwwlh dwppbint dheng 9< lhwp 276 500 138.0
39831283/503 hwinwlh ugdwt wpe o< huwin 876.78 1000 876.8
39831283/504 hwinwbh Yugdwl jwp q< huitn 349 300 104.7
200 0.0
39831283/505 hwinwlh Jugdwy jwp L hwn 1900 1000 10000
39835000/502 huwnwly dwppkine dnn, wiwundwub, guwgnw < huwwn 1000 50 50.0
100 0.0
39836000/502 wifbif, unnpuiljwy Q< hwn s 500 T
39837000/502 guiuuis| q< huwin 350 50 17.5
42961300/502 hhahtiuhly wwipwqulbinh nhuwkbubpttp 9 huin 3996 20 79.9
44211280/502 anntip 9L hwin 292.8 100 29.3
44521120/504 nnwl thwywuubp QL huwn 10 0.0
44521120/508 nhwl grulwtibp QL huwin 4428 10 44.3
44521120/509 il thulyuwlilibip G hwwn 10 0.0
42414700/501 Ybipbpwlutip < huutn 3300000 | 3300.0
44163280/1 funnnyuilught wwpwuptibp Ul hwin 46200 15 693.0
44221200/501 uwhnn nnubp < pd 139920 30 4197.6
16311400/501 lununhdihs dbipbluwtin 9 hwin 130000 1 130.0
18441210/501 uwnuwwpuntibp QL huun 10400 1 10.4
30194220/501 qdwgpwlwl dwuwykubn ac huwin 1380 1 1.4
31171200/501 (wpdwit infuwltpuhstbip < huwin 300000 1 300.0
31442100/505 Ynunuwilyhs dwpiningubp ac hiutn 9999 60 599.9
31681900/501 EiElinpwlwl whnuhs {(nnky GL hiun 18000 | 18.0
33191350/502 wlywuwguliubip QL huin 14444 | 14.4
33191350/503 wliwuwywlutn a< huiu 25000 i 25.0
39241141/501 nuwiiwly' gpuwubtjwljwiht QL hwwn 744 10 7.4
39241141/502 nwitiwl' gpuubiywlught L hwin 135 10 1.4
39241210/503 dypwin, gpuublywlught 9 huwin 2250 2 4.5
39241250/501 dwnbiph dypwwn (ubiljwnnp) aQL huitn 2400 2 4.8
39712300/501 Yuwpuwhwpnwphsutip QL hn 11310 2 22.6
42121430/501 quiquiht &lipwliubip {Yndwpbunptip) Q< hun 68000 I 68.0
42121710/501 quiquip Yndwpbiunpibiph dwubip QL huwn 2300 1 2.3
42661300/501 tinwlgdwu uwpptip 9L huun 18420 1 18.4
42671100/501 gnpéhpubiph pnupstbip < huwin 1200 2 2.4
A2671170/50 arpjwnn unng 9L huin 109800 1 109.8
1 [42921240/503 hbnniwghp winpéwwljubp 9< huwin 1500 3 4.5
42921240/504 htinniywghp wnpawlwljutp QL huin 840 3 2.5
43121170/501 wantfuh Y puiph hnpunhsubp a< huwn 39000 | 39.0
43121170/502 wodnup Gwid pwph hnpwnhsutip Gl hwwn 18500 | 18.5
43411300/501 phnntp Ywd hwywlgh uwnuhsubp G hwin 6300 1 6.3
43411500/501 hnljnn uwppbip 9< hiutn 62400 1 62.4
43411500/503 hnlynn uwpptp 9< huwin 19680 i 19.7
43411500/504 hnynn uwppbip S< huwin 15900 1 15.9
' [43611290/501 pwph hopwuhsUbinh duubp q< hwitn 2790 2 56
43611290/502 puiph hnpwahsubiph dwubip 4L hiwn 2000 2 4.0
43611290/503 puiph hnpuwiinhgubiph dwutip 9<& huin 900 2 1.8
44112730/504 Yunpnn ulpwfuinuwly Q< huwin 870 2 1.7
44411100/501 npulubp qc huwitn 8400 5 42.0
44511100/501 abinph gnpahpubin Q< huwin 2700 2 5.4
44511100/502 &binph gnpéhpubp Q< huwn 4444 1 4.4
44511100/503 dlinph gnpdhputip L hwiwn 1200 1 1.2
44511100/504 atinph gnpdhpubp q< huin 1500 1 1.5
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44511100/505 dbinph gnpdhpubp Q< hun 790 3 2.4
44511100/506 adlinph gnpdhpubip Q< huwn 19200 1 19.2
44511100/507 tinph gnpdhpubp Q< huwwn 1860 2 3.7
44511200/501 abinph unnglbp < huin 1944 2 3.9
44511200/502 dkinph unngutip %< huin 1350 3 3.1
44511200/503 dkinph unngutip 9< hwin 1440 3 4.3
44511200/504 dbinph unngubip GC hwn 1144 2 2.3
44511240/501 wpgwtibip 9L htutn 2880 2 5.8
44511240/502 wpgwiliubip Qe huwtn 7980 3 23.9
44511240/503 wpgwlitbn L hwn 1344 3 4.0
44511270/502 dnindbip QL hwn 7400 1 7.4
44511270/503 dnipép L huitn 1500 3 4.5
44511270/504 Unipéibp 9L hwin 1320 2 2.6
44511330/501 winnunwlpwhwiiibp qc huwwn 19700 3 59.1
44511330/502 winnunwljwhwlbbp Qg huwin 6500 3 19.5
44511330/503 utnnunwywhwuubip QL hwiwn 690 2 1.4
44511340/501 quihlntp uwypbp 9L hwiwn 4444 3 13.3
44511343/501 qujthlynt < hwin 2700 2 5.4
44511343502 gujlnte QL hwiwn 644 3 1.9
44511343/503 quiylhlynu q< hn 530 2 1.1
44511343/504 quiyhynu GL hn 1200 | 1.2
44511343/505 guyhynt GL hwin 1440 ! 1.4
44511343/506 guujhlynts QL huwiwn 3200 | 3.2
44511343/507 quithlnt < hwin 3880 2 7.8
44511343/508 quiyihlint q< huin 660 3 2.0
44511343/509 quij(plynu q< hwun 1080 3 3.2
44511343/510 quihlynu 9L hunn 740 3 2.2
44511350/501 wununwlwhwtibph uwpbp QL hn 2280 1 2.3
44511360/502 gnpéhpubiph wbnwihnfudwl dhenglbp 9L huin 4200 3 12.6
44511370/501 gnpéhpubinh hwwpwdniubp Q< huwin 850 5 1.3
44511370/502 gnpdhpubiph hwywpwéniubip 9 huwn 7300 2 14.6
44511370/503 gnpdhpubiph hwywpwdniubp < hiin 10680 2 21.4
44511370/504 gnpéhplitinh hwdwpwaniubn q< hwn 1620 3 4.9
03411120/501 thupnuwlnyshg wwnpwunyws wpinwnpup 9L huitn 5700 100 570.0
14211000/504 wilwy, htwpuwnwlut q< fud 13800 30 414.0
14211111/502 Uwtipwfuhé GL fud 8900 24 213.6
14811300/501 hnlynn ulwiwnwlubp QL i 178 20 3.6
14811300/502 hnlynn ulwlwnwlubp QL hwn 178 20 3.6
14811300/503 hnlynn uluidwnuwutn a¢ hwtn 178 20 3.6
18421130/503 dlinungubip 9L qnuyg 138 50 6.9
18931130/502 dwpngubinh wwplbn q< hwn 65 300 195
24911500/502 unupud (wkpngny) QL hwn 1060 20 21.2
24911900/503 uwihlh unuptia QL Yhingpuwd 100 1500 150.0
30192230/501 ulyns' iphynndwlih unutdyws GL huwitn 1140 10 1.4
30197323/501 wiphs, 50-hg wytih @hipeh hwdwp QL huwiwn 2400 2 1.8
31211180/515 wifinndwin wugwinhsubip 9L huwn 4900 2 9.8
31211180/516 wiytnnuwn whgwinpsubin QL hiuwn 2190 2 4.4
131211180/518 wyunndwn wligwinhsubp G< huin 690 20 13.8
31211180/519 wiinndwin wlgwinhsbipn ag huitn 620 5 3.1
31211221/501 wligwinhglibp qc huwin 1790 15 26.9
31221200/501 [upngutiph tinwuhlubp — Juipnwlubp QL hn 1540 50 77.0
31221220/506 Upwgdwl wnupbip 4L hun 295 30 8.9
31221242/501 nyniphi 4L huwin 2. 2000 4.2
31221242/502 nynipki Gl huwin 156 50 7.8
31221242/503 ninipbi| < hwin 195 100 19.5
31331192/501 Ealunpwlut dugniu’ UddS q<c dhnp 214 200 42.8
31331192/502 byl dugndu’ UddS Gc dbinp 495 400 19.8
31331192/503 bl pwlut duyntu’ Udd s a< dbinp 781 100 78.1
31331192/504 Eltilunplwt dwinu’ Udd S L dtitnp 1880 10 18.8
31531100/501 Bl udugbip QL hwwn 3890 10 155.6
31641216/501 huinnidp wpinninwl QL huun 2.4 1000 2.4
31641216/502 hwnniy wnnunwly 4L huwwn 3 1000 3.0
31641216/503 hwunniy wunnunwly GL huwiwn 5.4 1000 5.4
31641216/504 hwinniy wnnunwy Q< hwin 2.3 1000 2.3
31641216/505 huwinnily wnnunwly < hwiwn 4.5 500 2.3
31641216/506 huwnnidy wnnunwly 9L hwin 1.98 1000 2.0
31641216/507 hwwnndy wnnuwnwl G< hin 1.68 6000 10.1
31651400/503 Ublyniuhs dwuwbiubn < huitn 120 50 6.0
31651400/504 Ubiljnuhs dwwwbttbp G huwiun 690 30 20.7
31651400/505 dblynwhs dwiywygblbp G hwwn 78 20 1.6
31651400/506 dblniuhs dwwwdbulbn qc huin 210 20 4.2
31681700/507 puwdwlwpwn wnih QL hwn 219 15 3.3
31681700/508 pwdwuwpwp wnth < huin 8640 1 8.6
39132220/502 Yuuhsutip ac huwin 150 60 9.0
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39132220/503 Yuifuhsutin 9z huin 42 200 8.4
39221460/501 Updht' ubplwpwpwiwu G< hwwn 1540 20 30.8
39221460/502 ypdiht’ ubplyupwpwlut qc hun 240 10 2.4
39221460/507 dpdpl’ ubplwpwpulwt 9L huin 186 20 3.7
39221460/508 Un&ht' Ubpljwpwpuwljut Q< hwitn 267 20 5.3
39224331/504 nny| Wwundwub G< huwn 1140 15 17.1
39812600/501 duwppnn dwdnijubip — thnghtibp < hwwn 750 5 3.8
42921240/505 htinniwahp winpéwbiwlubp 9L hwin 3333.3 3 10.0
42921240/506 hinniwghp winpéwiwlubp 9L hwn 1100 10 1.0
42921240/507 htinniwghp wuptwuwlutin L husn 810 3 2.4
42951300/501 hwpplgunn dbpbwbtiph Jwubp qL hiun 650 3 2.0
44111200/504 gt q< Ghingnwd 58.9 2500 147.3
44111400/503 Ywfunyh wnwuwnwn G< pd 1310 54 70.7
44111400/504 Ywifunuh wnwunwn 9L pd 1940 100 194.0
44111412/502 ubiply, shtiwpupwljwl G< yhingpwd 470 800 376.0
44111413/505 Jninwiibinly QL Uhingpwy 1790 10 17.9
44111413/506 Jnuqwiibiply 9L Upngpud 1260 15 18.9
44111417/501 Uwfuwlibipy 4L Yhngpud 186 100 18.6
44111419/501 gy Q< huwin 300 15 1.5
44111446/502 dbibniupsttip G huwin 1740 30 52.2
44111448/501 obipdwjhu daynwhs binuetin GL hwwn 1070 60 64.2
44111448/505 gbipdwjht dbynwhs Uinyabip G huun 690 30 20.7
44111710/502 uwihly, Ypwdpluwluwy, hwnwlh hudwp 9< i 2860 200 572.0
44112210/501 nwlihp 9 pd 2940 50 147.0
44112730/505 npnn uljwywnwy Q<L huwiwn 1680 3 5.0
44112730/506 Lnpnn uludwinwly aL hwiwn 172 100 17.2
44112730/507 LYunpnn uljuiuwinuwl 4L hwwn 540 5 2.7
44141200/501 apgwtiwulip G< huin 750 50 37.5
44163400/506 Yapwlnpngdwl winipubip — wwpgniiwlubp Q< huwiwn 744 400 297.6
44171100/508 uwhubip (phlwpwpniawi) < pd 877 288 252.6
44171100/509 uwhyubin (Phtiwpwpni)wt) < pd 1489 288 428.8
44171110/503 uwhbubph uwsniy QL huwin 990 30 29.7
44191700/502 ) quitiwquit phiwpwpww Yniebp QL Lhingpud 1050 13 13.7
44191700/507 w)| quiliwgqu shtwpwplwi byngetip < Ypyngpud 720 15 10.8
44211610/501 wilyniititip 4L hwiwn 68 300 20.4
44211610/505 whilyniibp 9 huin 40 300 12.0
44211610/506 wlyniuubp L hwn 275 100 27.5
44211610/507 wilynittbp 9< hwwn 198 100 19.8
44211610/508 wlymuubp YL huin 195 100 19.5
44311120/501 thowyupbp aL hingpud 570 5 2.9
44311170/503 tinwlguwl wwpwquitbip 9< huin 29 500 1.5
44322550/504 Uwniup wniptitip 9L hwn 336 5 1.7
44322550/505 dwinijuh wuniputin QL hiuin 336 5 1.7
44322550/506 dwinihup wunipubp L hiuwn 570 3 1.7
44331410/506 Yupunyh wnwuinwnh ghtljwwwin wpndhy 9L gdwibinp 96 60 5.8
44331410/507 Uwifunyh wnwunwnh ghtijwwun wpndhy QL gdwdbiinp 180 6 1.1
44331410/508 buiunyh wnwunwnh ghtiljuwwn wpnbhy QL gowdtnp 180 15 2.7
44331410/509 Yufundh wnwunwnh ghtiluwwin wpnghy 4L qdwidlinp 320 100 32.0
44331410/510 Yupunh wnwuinwnh ghulwwwn wpndhy GL gownitiinp 340 80 27.2
44423480/501 Uwltiptiup wnuptip 9L hwn 790 10 /.9
44423480/502 dwlbptiuh nnuptip 9L huwtn 990 10 9.9
44423480/503 dwlkpbuph wnuhbp G< huin 1480 5 7.4
44423600/504 Yuysnit dwwwdbuubp QL huin 570 20 11.4
44511260/501 hnlwpnine < pu 8790 | 8.8
44511260/503 hnljwpnine G pd 8790 1 8.8
44511260/504 hnywpnue G< pu 7900 1 7.8
44521120/510 nnwl thwywiubp G hwin 290 150 43.5
44521120/511 nnwl thwlututp GL hwin 1238 60 74.3
44521230/505 wdpwlubp QL hwin 9390 3 3.0
44531191/502 bplwpt funqndwlltn q< dbinp 850 400 340.0
44531191/503 bpluwiet fungndwlp 9< dtunp 1480 100 148.0
44531200/501 g wwpnipwlhwynp wdpwgdwl nhnwubp 9< hun 480 10 52.8
44531200/502 ng wuwipnipwhwinp wdpwgiwb nlinwiubp 9L huwitn 240 220 52.8
44531260/501 wwpnipwlwdnp wdpwgdwl nbnwiubn G< nwljwqd 650 50 32.5
44831500/502 (nidhsubin ac Yhyngpuad 1080 3 3.2
44921500/501 otuhwiwsdhl’ ghujuwiht Q< Lipingpuid 164 150 27.6
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i 44921500/502 obithwidwdhly' ghujuuwht < Ypyngpuwd 54.6 5100 278.5
R [44921500/509 Shthwiwdhl' ghyuunht a< Yhingpuad 127.5 1050 133.9
- [44921500/510 dhhwidwaply' ghujuwyht q< Uhingpuwd 162 150 24.3
09211631/501 hwlwlnnnghnt jnintp 9< Yhingpwid 3 0.0
38621300/501 hwbah' nhunnuljwb 9L hwin 3600 30 108.0
39351100/501 Lmyninhtitiph dwppuiwl uwppbp QL hutn 6720 1 6.7
39722400/505 W)l Yeligunuwyht nbuthlwh dwutp 4< huuwn 50 0.0
39722400/517 )| Ybigwnuyht inblubhlwh dwubp QL hun 12 100 1.2
39722400/518 wy| YEugwnuhte inbifutihlugh dwubip L huwitn 15 100 1.5
39812500/501 onwdbilynwhs Yynyabip L huwin 10 0.0
42131490/501 uh$nl e huwn 200 0.0
44131100/501 Lnjninnt fugbip QL hwin 1980 5 9.9
44131100/502 Lnyninnu fughip QL hwn 1980 5 9.9
44161230/512 funinywlubiph wwpuwguittip 9L hiutn EY] ;g ?i
44161230/513 funnnywiubph wwpuguitibip 9L huin i 22
486 20 9.7
44161230/514 funnniuljubiph Wwpwgqwubp q< hwwn ol 0.9
8OO 20 16.0
44161230/515 funnnuwliubph wwpwgwlbp Q< huwn 15 0.0
44161230/516 funnnywlubiph wwpwguitbn S< hwtn 68 :13(? ??
44161230/517 unnndwllbinh wupugwli 9¢ huwn A pd
& PRLBTAGREER 210 30 6.3
20 0.0
44161230/518 b, 9L
i funnniwlubph wwpwgwlbp hwwn 300 % 50
10 0.0
44161230/519 S
230/, funnnyuwiubiph wwpwguwbp 4 hiitn 570 S 79
5 0.0
44161230/520 2
1230/ funnnwlubnh wwpwgwutp qL huwin 300 = 30
44161230/521 funnnyuliubiph wwpwgwbp 9< huwin 15 0.0
44161230/522 funnnywyubiph wwpwgutip G< hwn 480 5 2.4
44161230/523 funnnywlubiph wwpwgwubp QL hwwn 450 20 9.0
44161230/524 funnnywlubph wwpwquiibp 9L huin 480 20 9.6
?416_1230.1‘525 funnnwljutinh wwpwgutip 9L huin T80 gg gg
44161230/526 funnnywlubph wwpwgwbp QL hin 168 :g ??
44161230/527 funnnywlubiph wwipwgquitbp QL hiuwn L] oy
168 10 1.7
44161230/528 hunnduwlibbnh wwpwgutn a< huwtn e ';' 2
44161230/529 funnnyuwliubiph wwpwgwbp < hwitn 300 T[? ?2
A44161230/530 funnnuwiiutinh wwpuwgutitin Chel hin 560 ig I(;[:;
30 0.0
44161230/531 ub u Q<
/! funnnywliubph wwpwgwutip hwin =50 = B2
44161230/532 funnnyuwijubph wwpwguwbp 9 hwin 2 24
780 20 15.6
40 0.0
44161230/533 b ubi I
/ Junnnuwlubinh wwpwgwtip 9L i 300 0 50
44163140/502 oph — gninpgnt funnnwltip GL dtitnp 300 80 24.0
44163140/503 9ph — gninpgnt Junnniwlubip QL tbitnp 438 80 35.0
44163140/504 9nh — gninpznt funnnywlytin L dbnp 4140 8 33.1
44163140/505 onh = gninpamt funnnywljubin G< dtnp 2280 8 18.2
44163140/506 9ph — gninpgnt funnnywlubp QL Ubnp 1476 16 23.6
44163200/503 funnnyuwlubiph dhwgdwl dwubp < huwn T3 I{;l ?3
44163200/511 funnnyuwlubinh dhwgudwl dwutin 94 hwn . - 0'_0
165 10 1.7
10 0.0
0/512
44163200/ funnnywlubph dhwgdw Jwubp Gl hwwn T 0 09
10 0.0
g
44163200/513 funnnuwliubph dhwgdwb Gwubp < hwin e =5 0.9
15 0.0
I /5
44163200/514 funnnuwlubiph dhwgdwt dwutp 9L huwin 750 S 23
44163200/515 funnnywljubph dhwgdwt dwubip G huwin 330 15 5.0
10 0.0
44163200/516 i | I QL
163200/ funnnyuwlibiph dhwgdwy dwubp hwin 390 5 2.0
10 0.0
44163200/517 funnnyulubph thwguwy dwubp QL hwtn 58 5 08
44163200/518 funnnywljubiph dhwgdwl dwutip gL huwin 19 80
168 5 0.8
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44163200/519 funnniwlubph dhwgduwts dwuatip q< huin 08 :g [:?
10 0.0
63200/5 U

441 /520 funnnyuljubph dhwgdwl dwutip 9L hwin T T ==
44163200/521 funnnyuwlubph dhwgdwt dwubp 9L hwin 20 0.0
44163200/522 funnnywltbiph dhwgdwu dwubip G< hwn 417 20 8.3
44163200/523 funnnywlubiph dhwguwl dwubp 9C hwn 20 0.0
44163200/524 funnniwliubph dhwgdwl dwubp 9 huwin 20 0.0
44163200/525 funnniuiubiph dhwgdwl dwubp GL huawn S L
660 5 3.3

] 0.0

44163200/526 ub Iwt dwub 4

200/ funrnywijubph dhwgliwt dwutip £ hwin =50 5 T

5 0.0

44163200/527 funnnywliubph dhwgdw dwutp q< huwiwn 780 5 3.9
44163200/528 funnnuuwljubiph dhwgdwt dwubp q< hwin 10 0.0
44163200/529 [unnnywlbiph dhwgdwt dwubp QL hwn 990 10 9.9
44163200/530 funnnyulibph dhwgdwl dwubp GL hun 990 10 9.9
44163200/531 funnnywlubiph dhwgdwl dwubp 9L huwtn 10 0.0
44163200/532 Junnnuwiutiph Ghuwgwt duutp 9 huwtn 10 0.0
44163200/533 funnnywlubph dhwguwt dwubip 9< huiwn 10 0.0
44163200/534 funnndwlubph dhwgiwl dwubn ac huitn 20 0.0
44163200/535 funnnuwlubph dhwgdwt dwutip Q< hwwn 310 :g g?
44211610/509 witilyniiubin [E¥3 huin 10 0.0
44211610/510 wlyniuutp a< htutn 10 0.0
44211610/511 wlilyniuubp 9L huin 10 0.0
44211610/512 wlyniutibip 9L huin 10 0.0
44211610/513 wlyniuubp L huin 10 0.0
44411100/502 anpuwljubip a< huitn 7500 30 225.0
44411100/503 dnpuljutip q< hwtn 5316 30 159.5
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20 0.0
44411100/512 anpuuljubip QL hwn 16158 30 3695
44411300/501 Ywgwpwlutp g< huwwn L L
11268 5 56.3
44411300/505 [wgpwlitibn 9< huitn 2802 20 56.0
! 10 0.0
44411500/507 it gurnwa 4L hwn 719 0 73
‘ 10 0.0
44411500/508 hwlwt' qunuwd 9< hwin 715 m 73
44411500/509 thwljwt' gunwé- G huin < .0
1719 10 17.2
44411500/510 thwljuit)' glipué— QL hwin L 2
1080 8 5.4
44411500/511 iy’ qUnud- 9< huitn 19 £0
1641 10 16.4
44411500/512 P’ Q- a< hutn L L
1080 5 5.4
44411500/513 hwlu’ qurws- 9L huwtn 10 4.2
1641 10 16.4
\ 60 0.0
44411500/542 thwlwt' qunwa— GL huitn e = i
44411740/501 gnigunwbiwlntp q< hwin 25 0.0
] [44411742/501 gqnigupwlwynuph dafuwuhqu < hwun 50 0.0
' [31171400 thnfuwlbpughy uu hwin 3500 6 21.0
Snip
39111140/502 wpnhlibp EUn huwin 10000 4 40.0
39111170/501 wpnn' thudhnily EUzS huitn 14000 12 168.0
39111180/501 wpnn' gpuubujwlwihu EUS huin 40000 4 160.0
391111804505 wipnn’ gpuwutitjwluh LUS huwu 70800 | 70.8
39121100/502 gpuubinuutibp [={¥la) huwin 66000 4 264.0
39121100/504 gnwubnuutbp EUs hwn 114000 1 114.0
39121200/502 ubnutiutip EUS huin 28462.5 4 113.9
39121200/503 ubiuwiuitin EUns hun 30000 1 30.0
39121200/504 ubuiibn EUS huin 30000 1 30.0
39121500/501 funhwunguwiht wwhwpwiiubin EUS hwiwn 34800 1 34.8
39121520/502 gnwuwhwpwulbp EUnS huwin 74175 | 74.2
39132130/501 pununwpwliught wwhwpwulbp U hwin 228000 1 228.0
39132220/504 Ywiuhsubip tus hwwn 24000 1 24.0
39141140/501 pugnuph Wwhwpwutbp Eus huwiwn 24600 4 98.4
39141260/503 qgbiunwwwhwpwitibp tUs huin 73250 4 293.0
39181100/501 [wpnpwiinnphwp ubinuttibp EUS huin 120000 1 120.0
39515450/501 hnphgntiwlut sbipunwdwpwgnyp kUs pu 9,900 24 237.6
33191121/502 pdoljuiljwl Yuhnyp tUS [ptuljugd 34860 | 34.9
0.0
Ubugunwht nbjuthhw b wwpwgwibp
30211200/503 nynipwlhp hwdwlwnpghsubp QL hiuwn 289998 10 2900.0
38311100/502 Elhunpnuuwghts Upbinplibip — wwpwgwbip G huwin 16800 1 16.8
38311100/503 Blalwpntiwghu Yabinpubn — wwpwgwubp < hwwn 6350 5 34.8
39711140/502 Lttguinwihu vwnbwpwlititip Q<L hwn ALHE I_f 83750
39714210/501 onhpwlihy, 9000 BTU Q< hwin : 0.4
110000 4 440.0
39714220/501 onnpulhs,12000 BTU QL huwiwn 100000 8 800.0
3 0.0
39714220/502 onnpuwlhs, 12000 BTU < hwin 119900 7 8393
39717100/501 hnthwiphsubip < hutn 5000 10 50.0
0.0
Cwdwlwpgswihtt uwppwynpnuf
30211280/502 Cwiwlwpghs wipnnep ublnu q< huitn 325000 35 11375.0
30239110/501 Sujhs puqiw$niilghnlig qc huin 185000 3 555.0
30239110/502 Swhy 3-p dblynut G hwu 125000 20 2500.0
30239110/503 Suihs thnpp 9< huwwn 67000 10 670.0
30237411/501 Uhuply QL hwin 1600 20 32.0
3021117501 Uhlpnwhy QL hwin 32000 2 64.0
32561600/501 Unwwwnbip GL hin 13000 50 650.0
52421300/501 Uuhs/8 port 9< hww 5000 10 50.0
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32421300/506 Utlhs/5 port qc huin 4000 10 40.0
32421300/507 Utlhs/24 port 9< huin 40000 3 120.0
30231100/501 WIFI uwpp QL huin 7560 10 75.6
30232231/501 Cwidwlwngswiht Ynain uluunuly QL hwin 27000 2 54.0
32421100/502 Swlguwht duynufu qL hwin 25000.2 2 50.0
Ubhnnuwjht wwpwqwibp
39518100/502 Uwhwnwlibinkth hwywpwsnt G< hwn 4285 389 1667
128 0.0
39141200/501 ubkppl Epb < h
netul bnbu * e 24000 64 1536,0
. 65 0.0
39511100/50 Dbl Gy, h G hi
ARG (A, ) W 3390 33 111.67
% [39511100/502  owdling (untnu, pupwt) < hutn 2 =
h 3200 27 86.4
4(89516122/501 Fuipa o< huwin 1092 100 109.2
39511100/506 hpdwly (pupuwly) < huwiwn 2743 70 192.0
39511100/507 dYbipdwly (dhght) QL hutn 2940 20 58.8
39511150/502 Lundwinpwutihly G huun 173 0.0
39511130/511 Uwywt nh wbnwihnfubne hwdwp a< huwiwn 70 0.0
39511130/514 Ut SC hwn 25 0.0
39514100/501 Upphs guidpnguijh G< huin 36 0.0
39514200/501 Upphs phh q< huitn 6 0.0
36 0.0
39514500/501 Gph 9
nHuUpehs i 900 8 16.2
10 0.0
39514100/502 Ui .
/! Unphs pudpuilju 1< huwitn 500 - 75
Utnitin
; ; 3200 0.0
15321200/504
/ fuinugiub by < thp 675 1600 1080.0
5280 0.0
15321200/505 i & h
i i e Lpan 745 2640 1966.8
1600 0.0
. [158 4
i 21500/50 feujwdpuipihpe Re Ug e 7 T
J 1600 0.0
L 158421107505 - .
f Ynu$biun, gnlnpunwwwn qc Lg o 500 16880
8000 0.0
4A11M00/501 duyh
i ; puuh gnip i thn 175.2 500 87.6
1
wpwhuynpuinwiht wypwipbp b byngekp
y [09132200/3 phlght, nbgniwn EUS lhinp 490 3000 1470.0
091322001 phlighls, nbgniwn uu [hinp 480 300 144.0
09135200/ hbnniy quiq EUs thup 150 1000 150.0
“, |09132200/504 phlghl, nbgnyjwp EUS |hunp 490 4000 1960.0
: hwunbpawup
i 13581118011 hwnnily hwunbpéwtp uu hwiwn 345000 1 345.0
© |18211500/1 puisilinle uUu hwin 25000 4 100.0
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70311200/503 tnuwnwdplbiph Jupdwlwnupiwl dwnwjnipiniu q< npwd 17952000 1 17952.0
50311120501 huidwljuinqguihti uwppbph whuyutidul ~ JBpwnpngul a9 it 1644300 1 1644.3
dwnwinipinititibn
79211150/1 wninhinnpuliwl dwnwinyajniutbp 9L nnwd 1884000 1 1884.0
7163111011 utppbiph unniguwl dwnwjnyagnitubn uu npwid 426000 1 426.0
98111121/501 whywnwbgnipjul wywhnydwl dwnwjnyzjniutp 9< npwy 2816666 | 2816.7
50421100/503 Pzl ul ip gbih apiutinpnguiul — wuhuytaet 9¢ i 1572000 i 1572.0
Swnuwnyaniutibin
4822140011 hwidwguliguiis Egh fudpuugnuitul AwtWwlwpgsWiiu dpwgnuwjhu i g S3ioRa I —
thwphputn
98111121/2 wlinwtignipjul wwwhnudwl Swnwjnysintutbn uu npuwd 480000 1 480.0
501111801 wiinndbipbiwtibiph wgduwl — Wiwbiwinhuy dwnwnyagniubp uu npwd 558000 1 558.0
50531230/501 ghlbpwnplibiph Yapwunpnguul — wwhwwlibul q< Rl 408000 1 408.0
Swnwjnyajniutbp
7135154011 wbhutihwlwl huynnnipyw dwnwynisniitbp uu npwd 300000 1 300.0
71311360 2BUpbiph swihwapdwl dwnwjnyenittbp uu npwd 200000 1 200.0
71351560 thnfuwlbpuhsibiph Jbpwinpnguwt dwnwynye)nittibp uu rpud 30000 1 30.0
98111140/1 htinhtwluwht hulnnnysjwl dwnwinyenditbn uu npwd 100000 1 100.0
70311200/502 wiupwdputiph Jupawlwnipiul dwnwjnysniitbp QL nnuwid 17952000 1 17952.0
50731100/501 unuputasIht wingbinh danwunnnouil — eyt 9< nwd 4600000 1 4600.0
Swinuwnipnitibp
7999116011 wnhupdwgdwt dwnwjnuyainiiutp uu i 600000 1 600.0
7124120011 bwfuwgdbiph wwwpwuwnnw, dwiuubiph quwhwinnw uu rpwid 750000 1 750.0
71241200/3 bwuwgdtiph wwwnpwunnu, dwhuubiph guuhwannug uu npwd 240000 1 240.0
79211150/502 wniphnnpwlwl dwnwnysnitiubin QL npwd 500000 1 500.0
5171110011 hwlwhpnbhwihu uwppbiph nbnwnpuwy dwnwjnyegniiutp uu npuid 670000 1 670.0
e 7163111042 uwppbiph winniguwu dunugnip)niuubp uu L 601200 1 601.2
w Ywhnyph JEpwiinpngdwt Swnwnupniutbp
50851100/501 Ywhnyph Japwlnpngduwt — wwhywdwt dwnwnipmitiatn q< huwin 38000 3 114.0
50851100/502 Luhnyph ytpwtnpngdwl — uwhujwbitiwt dwnwjnyejniuubn Qg hwwn 30000 3 90.0
50851100/503 Yuhnyph Japwunpngdwt — wwhywbidwt Sumnwgnignitiutn aC hwtn 72000 1 72.0
50851100/504 Guhnyph Jepwbinphaut — wwhuwbdwt dwnwjnpniiitn G< huwin 59400 5 297.0
50851100/505 Yuhnyph Ybpwitinpnguwt - wwhuwbdwt Swnwjnysniuubn < hwin 31923 39 1245.0
73800 S 369.0
50851100/506 Luhnyph Ubnwlinpnguiwt - wwhwywbdwl swnwjnip)nitiubp QL hun
73800 4 295.2
50851100/507 Yuhnyph Ybpwtinpnguw — wwhwwbidwt dwnwjnyajniuutin QL huwun 66600 15 999.0
50851100/508 Yuihnyph Ybpwunpnguiwt — wuwhwwdwl dwnwnysniititp Qg hwn 72000 1 72.0
Sywgpwlwl Swnwjnieynil 1
79821180/950 nywgnuwy — pugfudwl Swnw)niegniutiin 9L il 39600 1 39.6
79821180/951 uyugpuywt — puwsfudwt Swnwyniepniuubp QL npwd 12600 1 12.6
79821180/952 wnywgpuljut — pwgudwt Swnwnipiniiutp G< npwid 164000 1 164.0
79821180/954 nwwgpiliut — pwshuduts duwnwinisiniiutip QL npwd 164000 1 164.0
' 4(79821180/955 nwwgpuiliu — pugfudw dwnwnisniitibp Q< npwid 10200 1 10.2
' |79821180/956 nwgnulwy — pugfudwl Swnw)jniypjniutiin QL npwd 24750 1 24.8
79821180/957 wwgpwliwl - pwstudul Swnwjnys)nitiibin 9L npwd 19800 1 19.8
79821180/958 nwwgnpwlwl — pwgpudwl dwnwjnipjniiubp < npwd 33000 1 33.0
79821180/959 nwwgpwlwy - pwahudwl dwnwjnyajniiubp G< nnwd 19560 1 19.6
79821180/960 gl — pussfuldwls dwnwjniyeyniiubp 9L npwd 29340 1 29.3
79821180/961 nwgnuyw — pugtuldwt dwnwjnignitiip 4L npwd 39600 1 39.6
79821180/962 nwwgnpwiliwl — pugfulwl dwnwnyejniiubip S< npwd 39600 I 39.6
79821180/963 gl — pugfudwl dwinwjnia)niittip QL r 19800 | 19.8
79821180/964 nwwgnuwl — pwgfudwl dSwnwjnyajniitiip G< npuwd 41000 1 4.0
79821180/965 uywgpulw — puwgfudwl dwnwnipiniuubp L npwd 19800 1 19.8
79821180/966 nwwgnwlul — pwstudwl dwnwynypinitiibp QL npwd 39600 i 39.6
79821180/967 nywgnuwlwl — pwpudwl Swnwnipjntiubp L il 19800 1 19.8
79821180/968 unwgpwbwt — pushudwls dunwnieniiutin < npd 42000 1 42.0
79821180/969 wwgpulwt — puigudwt dwnwjnipynilttip QL npwd 39600 1 39.6
79821180/970 unywigpuljuit — puzfuduits dwnwnygnitititin 9L npwd 79200 1 79.2
79821180/971 nwwigpuiliwl — pugfudwl dwnwnipjniittip GL npwd 13120 | 13.1
79821180/972 nwgnulwl — pugfudwl dwinwjngagniutilip QL st 8200 1 8.2
/9821180/973 gt — puofudwl dwnuwinippniitbp GL npwd 63360 1 63.4
79821180/974 uuwgnulut — puwgiudwl wnwnipnistitp Q< npwd 1140 1 1.1
79821180/975 nwywgnwlwl — pwgtuduit dwnwinyeinitibin QL npwd 2550 1 2.6
79821180/976 nwywgnuiluill — pufudwl dwnwniyejntiutp < npwd 1700 1 1.7
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798211807977 nwuigpwiliut — pwpudwl dwnwjniiniulibp aL npwd 1500 1 1.5
79821180/978 nwwgpwlw — puwghudwy dwnwnysjniitibip qc o 57400 1 57.4
79821180/979 wnywgpulwl — pugfudw Swnwjnyeiniutibin GL i 3400 | 3.4
79821180/980 unwgpulw — puwgudwt Swnwjnyepniubp QL npwd 5040 1 5.0
79821180/981 wwgnulwl — pwghudwl Swnwniyaniiibp S npwd 2550 1 2.6
79821180/982 Wnywgnwljwl — pugiuiwl dwnwjnyzntitibp G< npwd 99000 1 99.0
79821180/983 nyjwgpuiljwl — pwahuiwl Swnwjnipjniubibp q< npwd 19560 1 19.6
79821180/984 nywgpwliwl — pwshudwl dwnwinipiniiubp G< npud 9840 1 9.8
79821180/985 unywgpwlwl — pugfudwl duwmunipgniutitip QL il 39600 1 39.6
79821180/987 nuwugpulwl ~ pugfudwl dwnwjnyainiuubp qc i 358800 1 358.8
79821180/988 wywgnulwl — pugfudwl dwnw)nysyniiubin G< i 3800 1 3.8
79821180/989 wnwwgnulut — putudl dwnwjnipniiibin 9L npwd 198000 1 198.0
79821180/990 nwywgnwlul — pwgpudwl dwnwjnipjniiubp QL npwyd 198000 1 198.0
79821180/991 nwwgnwlwl — pwghudwl dunwjmaniitbp QL npwd 99000 1 99.0
798211807994 unywgnulwy — pusfudwt dwnwnysjniubp GL il 1296 1 1.3
79821180/998 unywgnulwt — pugfudwl dwnwjnyagniutibin 4L npwd 39600 1 39.6
79821180/999 unywgnuywi — pugfudw dwnw)nipniutitin QL il 39600 1 39.6
Sujwgpwljwh Dwnwnipyntl 2
7O821180/1000 unwywgnwlwl — putudwl dwnwnuypniuttip 4L il 43020 1 43.0
180/1001 nwgplut — pwzudwl dwnwjnienitbp GL npwd 28,800 1 28.8
79821180/1002 nwwgplwt — pwsudwl dwnwjnyajniubp QL nnuwid 6,300 1 6.3
79821180/1003 nwwgpuiliuit - pwzhudwl dwnwjnieniitbp 9L nnud 1200000 1 1200.0
79821180/1004 nwgnuwy — pwgfudwl dwnw)nipjniutiip < nnwd 35940 1 35.9
79821180/1005 wwgnulwl — pwgfudwt dwnwjnypniiibp QL npwd 35940 1 35.9
79821180/1006 tuwgpuljut — pughuduti Swnwynuaniitibip q< i 4,200 | 4.2
79821180/1007 wnwwg Pl — pwpudwl dwnwjngentiitip GL npwud 4,400 1 4.4
79821180/1008 nwwgnwhwi — pwpudwi dunwjnysjniutip G< Ll 8,700 1 8.7
7982118071009 unywgnwlwy - pushudwl dwnwjnipiniiutin 9< i 4,350 1 4.4
7982118071010 nwuigpulwl - puwgfudwl dSwnwinyniilibin <L npwd 116,000 1 116.0
798211801011 nwgnwlwl — pwgfudw dwnwjnipniitibn < il 15,000 1 15.0
7982118011012 tuwgpuwliut — pugbuduts dwnuwynuyaniitibip QL i 13,200 1 13.2
79821180/1013 nwwgnwiliwl — pughudwl dwnwniajntibip QL rpwud 80280 | 80.3
7982118071014 unwgpuibiwl — pugludwl dwinwjnigagnitiitin G< i 15,400 | 15.4
7982118071015 um|u1q|u.i1l:|ajh puugjutiwl b-l.ul.'lUJJHl[-)JnLUUl.il'l QL i 29,000 1 29.0
79821180/1016 wiywgpulw — pugfudw dwnw)nieiniutibp 9< npwid 14,900 1 14.9
7982011801017 inwgpulwt — pwgfudwt Swnwjnyepniitibp QL npwd 88,000 1 88.0
79821180/1018 tuwgpwljut — pwghudwt dwnwynipniibp QL npwd 282960 1 283.0
7982118011019 nywignwluil — pwshiiwl dwnwynipjnitiubp G< npwd 300000 1 300.0
798211801020 nwwgpwiliuli — pwgfudwl dusnwpnipiniitbin G< N 300000 1 300.0
798211801021 nwgpuilw — pugfudw dwinw)nipyniulibin QL i 1,900 1 1.9
79821180/1022 nwywgpulwl — pugfudwt dwnwjnysniiutin 4L npwid 9,600 1 9.6
79821180/1023 nwywgpuilwl — pupfudwl dwnwinip)nitiibp G npwd 300000 1 300.0
79821180/1024 tuywgpwljut — pughudwl dwnwynianiitibp GL npwd 4,800 1 4.8
7982118041025 nwwgnwlwl — pwghudwl dwnwnyaniutbp G npud 44160 1 44.2
oy [79821180/1026 unywgpwbwl — pusfudwl dwinwjnyagniulibin QL npwd 22,800 1 22.8
*&{9352”30}'“)2{ nwgnuwljwb — pugfudwl dwnwnyagniitbip 9L npwd 300000 1 300.0
79821180/1028 nwyuwgpuiwl ~ pugtudwl dwnwiniypgniitin G npwd 22500 | 22.5
7982118011029 gt - pugudwl dwnwniejmutbip QL npud 323400 I 323.4
798211801030 nwywigpwiliuili — pugludwl dusnwnyajniitbip QL i | 0.0
79821180/1031 nywgnpulwi — pugfudwy dwinwjnyagniulitin G N 1 0.0
7982118041032 nyuwgpulwl — pugfudwl dwnwjnujniitbp Q< npwd 1 0.0
798211801033 unwgnulw — pwgfudwl swnwjnieniulip QL npwd 1 0.0
LE21180/1034 unyuwgnpwlwts - pustudwts dSwnwnipjnitiibn QL npwid 1 0.0
79821180/1035 wwwgpuilpl — pugfudw dwnwnyagnittip QL L 1 0.0
SOBA1BU 030 wugpubul — pugfudw dwnwjniajniutip Ha i 1 0.0
79821180/1037 nuwigpuwibjwbl — puigfudwt Swnwnyagniititin G A 1 0.0
/982118001038 nwwgpwbuwl — pugfudwl dwnwgnipiniutitip < o | 0.0
79821180/1039 nywgnwluwil — pwsbudwl dwnwyniziniitbp G npwd 1 0.0
/98211801040 wnwwgpuluwt — pwapudwl dwnwjniyejnutbp Q< npwd 1 0.0
798211801041 nwwgpwlwl ~ pwoludwt dwnwjniajniutbip 4L npwd 1 0.0
e . 1200000 1 1200.0
79821180/1042 nwwgpubw — pugfudwy dwnwjnyeniutbn < npwd 130000 I 150.0
. |79821180/1043 nuuigpulwt — puwgtudwit dwawnigenitibp QL npuad 1]22000000000 ; 1]??00000
R |79821180/1044 ywignuwiliul — pugludwl dwnwgnianilitip 9L i 22200 | 22.2
7HE180/1045 nwwgnuwlwl — puzfudwl dwnwjnipiniiubip Q< il 67080 1 67.1
79821180/1046 nwyuwgpubwl — pwzfudwt dwnwjnyaniutbp 4L npwd 22200 1 22.2
798211801047 nuwgpuiwl — pugfudwt dSwnwinyniutn < npwy 114,000 1 114.0
7982118071048 wwgnuljwt - pugfudust dwnwynipiniiubp < npwd 132,000 1 132.0
79821180/1049 nwwgplwt — pwzpudwls dwnwniemuttp G< nnwd 33,000 | 33.0
Sujwgpuljwl wuypwptitip 3
22451240/501 pluiuy G huwitn 2.33 50000 116.4
A2451240/502 pluy 9 huwn 2.45 10000 24.5
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22451240/504 pluily G hwn 6.78 15000 101.7
22451240/505 pluiuy G huwin 2.44 12000 29.2
22151240/506 pluiy QL hiuwn 2.50 2000 5.0
22451240/507 pluly 9L hiutn 2.50 2000 5.0
22451240/508 iy G< hun 2.33 20000 46,6
22451240/509 Pty 4L huwin 2.20 5000 11.0
224512401512 pluuly 4< hwn 2.40 2000 4.8
22451240/513 prully 9L hwwn 2.47 8000 19.8
22451240/514 ppuul L hwin 2.30 5000 11.5
22451240/515 Pl 9L hwin 2.30 4000 9.2
22451240/516 pluitily G< huin 2.30 5000 11.5
22451240/517 pluily 9< huin 2.30 2000 4.6
22451240/520 pluily QL hwin | 2.48 8000 19.8
22451240/521 plutly 9L huin 2.48 10000 24.8
22451240/524 prutily Q< huwiwn 3.47 20000 69.4
22451240/525 Pty : 9L hwin 1.04 40000 41.5
22451240/526 pjuilly < hwiwn 2.39 13000 31.0
224512401527 Ll q< hwin 2.20 5000 1.0
22451240/528 pluwily 9< huutn 2.38 20000 47.5
pluily QL hiutn 2.10 10000 21.0
prutily 4L hin 1.90 20000 38.0
% prutily QL huin 2.04 50000 102.0
22451240/534 plully G< hwin 1.50 15000 22.5
22451240/535 pjutaly QL hwn 1.55 50000 77.4
22451240/536 plutily 9< hwwn 1.55 40000 61.9
22451240/537 pluily < hun 1.91 25000 47.7
22451240/538 plubly < hun 85.0 1000 85.0
22451240/542 plutl 4L hiun 2.50 1000 2,58
22451240/543 plutiy QL huin 2.30 4000 9.2
22451240/544 Pty G< huwin 2,30 2000 4.6
22451240/545 plwtily 9L hwn 2.30 2000 4.6
22451240/546 plutily q< hwin 1.90 38000 72.2
22451240/547 pluwitily < huin 1.90 20000 38.0
22451240/548 pluitily < huin 2.50 1000 2.5
2451240/549 pluiiy 9L hiun 4.18 5000 20.9
22451240/554 plubily 94 hunn 2.20 2000 4.4
22451240/556 Pl 9L huin 2.20 2500 5.5
22451240/558 Pl < hwin 2.46 10000 24.6
22451240559 pluuy 9L hwn 220.0 600 132.0
22451240/560 plwul G< huwin 2.10 5000 10.5
22451240/567 pluitily 9L hwin 2.46 11000 27.1
J0/ a0 jrutily QL huwin 2.38 20000 47.5
Swjwgpwljwl wypwiptbp 4
22111200/501 nwugpywé wy| gpphip Gl hwwn 8940 3 26.8
22111200/502 nwwgnywsd w)) gpphbip GL huwwn 6660 3 20.0
22111200/503 wwgnywd wy gppbip G huwin 2700 10 27.0
22111200/504 nwwigpywd wy gpphip QL huwiwn 3000 1 3.0
22111200505 nuwgnywd wy gppbip G< huwin 2688 50 134.4
22111200/506 wwwgnyud wy gppbp Q< hwin 2500 10 25.0
A2111200/507 nwwgpyuwd wy gpphip L hwn 4788 5 23.8
22111200/508 nwgnpuwsd wy) gppkip 4L huwin 120 600 /2.0
22111200/509 wwapywd wy gppbip QL hiun 142.8 300 42.8
2111200/510 nwwgnpywd wy) gppbip Qg hwin 2628 20 52,6
221112004511 nwwigpduwd wy gppbp G< huwwn 2664 10 26.6
2211200/512 nwwanyuwd wy gpphp QL hwwn 2000 15 30.0
22111200/513 nuwgnyuwd wy| gppbip g huwin 2500 8 20.0
22111200/514 inwjwgpywé wy gpphp DL huiun 1900 2 3.8
A2 TH200/515 nuwgnywd wy gppkin DL hin 1900 10 19.0
22111200/516 unwwigpdwd wy) gppbip QL hiun 2232 100 223.2
22111200/517 nwugpyuwd w)) gppbip QL huww 2988 100 298.8
£20111200/518 nwwgpyuwd wy| gppbip G< hwun 1500 20 30.0
2211200/519 nwugpywsd w)) gppbip < hwin 2100 10 21.0
2111200/520 inujuwgpywéd wi gpphip 9L huin 2850 60 171.0
2111200/521 inujwgnywéd wy gpplip G hwin 1500 120 180.0
2NN200/522 unywgnywd wy gppbip QL hwin 2100 12 25.2
221112000523 nwwgnyuwd wy gppbip QL huwwn 2000 5 10.0
FNN200/524 uwuwigpuwd wy gppbip QL huwin 1900 10 19.0
221112004525 nwyugpyuwd wyy gpptip < hwin 2400 7 16.8
22111200/526 nwwgpywéd wi| ghpbp AL hwwn 3000 2 6.0
221M200/527 nuwgnpywsd wy gpphip < huin 3000 2 6.0
3 nwjwgnywd wy gppbip < husn 3000 3 9.0
g pdwd wy gpplip 9 huwiwn 3000 4 12.0
wnuuwgpuuwsd wy) gppbp GL hwwn 3000 4 12.0
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22111200/531 wnujwgpwéd wy gppbp L husn 3000 4 12.0
21112007532 nwwgpywd wy)) anpbp G hwwn 3000 2 6.0
22111200/533 wnuyjwgpwéd wy gpphip G< huin 3000 2 6.0
J11200/534 unuugpdwd wyg gpptip q< huwiwn 2100 14 29.4
22111200/535 nuwjuwgnuwd wy gppbip < hwwn 2820 60 169.2
22111200/536 nwwgpUuwd wj gppbip QL hwun 2388 180 429.8
22111200/537 nwwigpwd w)| gpptip < huwin 2388 120 286.6
22111200/538 nywgpdwd wy gppbip < huwn 2388 120 286.6
22111200/539 nwugpduwd wyj| appbp L huwn 2100 40 84.0
22112007540 wnwwgpwd wj gppbip < hwin 2100 35 73.5
22111200/541 wnugugpud w gppbip G4 hwin 2100 20 42.0
nuyugnwé wy gpptin G< hwin 2388 150 358.2
22 nujugpuusd wy gpptip aL huin 2100 40 84.0
22111200/54 nuyugpywd wy| gppbn L hwiwn 2500 15 37.5
22111200/545 unwugnyus wy) gppkip 9L huwin 2500 10 25.0
22111200/546 unwgpyuwsd wy gppbip QL hwn 2500 g 225
22111200/547 nwwgnywd wyj gpphp < hwin 2500 10 25.0
30197236/501 ppWwwlwy' wwindnghp 9L hwn 320 2000 640.0
22451240/570 plututin hwdwédwiiwghp G hiutn 328.8 2000 657.6
22451240/571 plublubp nbnwwnndu 9L hiutn 94.8 5000 474.0
Wohuwinwuptbp

45461100/501 2huptiph, shuniayniutbinh pupwghy Unpnguwt woluwwwuplbn 4L npwd 12873000 1 12873.0
45331111 onwithnfudwl uwppbph nbnunplwl wotuwnwlptbn uu rppuud 950000 1 980.0
45461100/503 ghiuptiph, ghunipiniutph pupwaghy unpnguwl woluwwnwuplbn PU i 1 0.0
4526111911 opwidbiynuwgdwt wetuwnwupubn uu npud 504000 1 504.0
45221142/501 punhwnip shtwpwpwiwt woluwnwtplbn 4L nnwid 3540000 1 3540.0
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